You deserve better -
you deserve Samchully !

Global Work-holding Brand

Samchully Machinery Co., Ltd.
Creating value through innovation.

Combination Chuck

Samchul Iy Machi nery CO., Ltd ., offers 30 years of experience in providing a wide range of premium

quality work-holding products such as application, hydraulic, and manual chucks, milling vises, and rotary tables.

In keeping with our tradition of providing quality products, we perennially hold 1SO:9001 and TUV certifications. Samchully Machinery
Co,, Ltd. also received Single Part Per Million certification [Single PPM] in 2007. The Single PPM quality assurance program is specifically
adapted to North-East Asian manufacturing which relies heavily on outsourcings to leverage economies of scale. The Single PPM
program emphasizes close collaboration with employees and vendors to reduce incoming component defects to a single digit (less
than 10) for every million parts received. Samchully is one of the first certified organizations in South Korea.

We proudly supply some of the world’s leading machine tool makers, including Doosan (Daewoo), Hyundai-Kia (Wia) and Haas
Automation, and provide after-market sales support through an extensive global network of distributors.

At Samchully, we are committed to you, our customer. We pride ourselves in providing the best value product in the world by
combining premium quality, affordable pricing, and reliable service. We believe that you deserve better workholding options- you
deserve Samchully.

Gl

Rotary Cylinder

=

Replacement
NC Rotary Table Steady Rest e e

www.samchully.com

Table of Contents

@

72
D



| APPLICATION STEADY
CHUCKS RESTS
Nl 5 79
Application Chuck Steady Rest
POWER NC-ROTARY
CHUCKS TABLES
33 85
NC Rotary Table
MANUAL VISES
CHUCKS 115
55
Manual Chuck
ROTARY REPLACEMENT

CYLINDERS ACCESSORIES
67 125

Rotary Gylinder




ZIN

APPLICATION
CHUCKS e

PBL (Universal Ball-Lock Power Chuck) 6. FD (Finger Chuck) 20.
PIL (Inside Pin Arbor Chuck) 8. PHD (Outside Pull-Down Chuck) 21.
POL (Outside Pin Arbor Chuck) 9. PHDN (Inside Pull-Down Chuck) 22.
DDL (Draw-Down Chuck) 10. RS (Retractable Jaw Chuck) 23.
DDO (Draw-Down Chuck) 11. IAN (Auto-Indexing Chuck : 90°or 120')  24.
DDT (2-JAW Draw-Down Chuck) 12. IAH (Auto-Indexing Chuck : 45 or 90) 26.
CIR (Inside-Clamping Mandrel) 13. |AHT (Auto-Indexing Chuck : 60°or 120)  28.
CDI (Inside-Clamping Mandrel) 14. CSF (Compensating Chuck) 29.
COR (Outside-Collet Chuck) 15. FWC (Aluminum Wheel Chuck) 30.
CDO (Outside-Collet Chuck) 16.
DP (Diaphragm Chuck) 17.
GDP (Gear Chuck) 18.
BDG (Bevel-Gear Chuck) 19.

Table of Contents @

2
D

@




PBL

Universal Ball-Lock Power Chuck

B Castings or forgings can be O.D. or I.D. clamped
B Grips on taper up to 10°

B Jaws pivot up to 5° to grip on uneven surfaces
B |deal for shaft machining
B Active pull-down for high precision

@ In
@ 77% B I 4
OREIEGE)
k] gee ]
@ N 0 \
PPN € ~—
& ©
(2-Jaw) (3-Jaw) D;
Dimensions
---n-----nn-----

PBL-06 411 3016 82 592 193 ®30.170 106 7315 222 173 249

PBL-08 200 45 3175 100 70 233 M16 931760 12 4.0 53 8895 2635 221 922 294
PBL-10 254 58 4127 118 866 291 M18 41285 135 4.0 80 127 303 30 1127 365
PBL-12 300 58 4127 118 866 291 MI18 ®41285 135 40 80 13327 508 506 133 365
PBL-15 381 83 5716 131 961 324 M24 957160 247 127 103 17145 698 658 176 419
PBL-18 457 1207 8890 131 961 324 M24 88900 247 127 103 20955 1079 1039 2136 419
PBL-21 533 1207 8890 131 9.1 324 M24 988900 247 127 103 24765 1460 142 252 419

Specifications
CIIa:Z]rré?g Max. Drawbar Pull Jaw Str_oke Plunger Stroke w Max. Speed
(ah (kgf) mm(dia) (mm) OUT(Sn'?n‘z)D'a Ins(lr(rj\%'))la (tpm,)

PBL-06 6600 2200 79 1.3 12.7~120  70~152 4000 18 0.15
PBL-08 8700 2900 95 143 16~152  76~203 3500 27 0.48
PBL-10 10800 3600 12.7 175 50~203  85~235 2500 45 123
PBL-12 10800 3600 12.7 175 63~241 127~305 2000 67.5 242
PBL-15 16500 5500 158 22.3 76~317 165~381 1800 84.5 8.49
PBL-18 16500 5500 158 22.3 89~394  241~457 1500 120 15.17
PBL-21 16500 5500 158 22.3 162~470 317~533 1000 180 25.00

(3l Application Chuck
8- Table of Contents 8-

72
2D




Centralizing

PBL Components

BODY

BACK PLATE PLUNGER
I

SLIDING BALL—

CAP — J.
JAW ACTUATOR

KEY ANGLEPIN

2
L

SPRING

PRESS SPRING

Table of Contents

Inserts
Angle Lot Style ]
o g a
SOD 5
) PC127-10SC  PC127-4SC  PC130-4SC QE
&tCOVER ‘u c . ? -
00—RING 3 w
10
PC132-4SC PC145-55C = i '
1l =5 0
" ¥ )
- - 3 u
\ T-NUT: 1 '
BEARING PC127-4SC-S PC130-25C-S
RACE Round Style [
DUST SEAL " :
i wlwy = 1127 -
s ¥ B
PC070-125C PC070-45C .

Application
Chuck

™
e

N

)

@

@

72
2D



PIL

Inside Pin Arbor Chuck

B |deal for second operation I.D. gripping
W Active pull-down for high precision

m Counter-centrifugal gripping reduces distortion

H F
H‘ F
KJ —
B2 —
<ol | R R
s|s|s It - > i =
3/
G E
PIL-25,35 PIL-55,75,100
Dimensions
[ afBm]c ) 0o [ E | F [ G [ Hma Hm| J | kK |
PIL-25 135 60 20 85 60 80 7 12 8 M12 3-M10 PCD118
PIL-35 135 60 25 100 63 88.5 7 12 8 M16 3-M10 PCD118
PIL-55 190 80 32 190 93 120 7 18 8 M16 3-M16 PCD150
PIL-75 225 80 50 225 115 145 7 18 8 M24 6-M16 PCD180
PIL-100 270 120 50 270 130 170 7 23 13 M24 6-M16 PCD180
Specifications
Clir;;;igg Max. Drawbar Pull Jaw Strpke Plunger Stroke W
KNG (kgf) mm(dia) (mm) (Inmn%w ?r%n%w

PIL-25 2250 1200 1.7 4 17~25 5000 35 0.013
PIL-35 3380 1800 1.7 4 25~40  48~60 4500 43 0.026
PIL-55 5640 3000 42 10 35~55  62~90 3500 184 0.33
PIL-75 7150 3800 42 10 55~76  85~130 2500 & 0.88
PIL-100 7150 3800 42 10 80~110 120~180 2000 55 2.0

ISJl  Application Chuck

Table of Contents

72
2D

@



POL

Outside Pin Arbor Chuck

Application
Chuck

B |deal for second operation O.D. gripping
B Active pull-down for high precision

N

-}
72

B Counter centrifugal gripping reduces distortion

Dimensions
" T A [em ] c | 0 | E | F | G | e hm | 0| K |
POL-80 130 60 24 72 103 5 20 18 10 M12 3-M8 PCD100
POL-100 162 80 30 90 130 7 30 22.5 125 M16 3-M12 PCD130
POL-140 210 80 40 100 155 7 30 25 15 M16 3-M16 PCD170
POL-180 250 80 45 110 165 7 30 25 15 M18 3-M16 PCD210
POL-230 320 120 50 130 200 7 40 30 20 M20 6-M16 PCD270
Specifications

Cla;g]r;gg Max. Drawbar pull Jaw Stroke Plunger Stroke W Max. Speed

KN (kgf) mm(dia) (mm) P&nm ﬂ%w T%E] rJT%W (rpm)
POL-80 2250 1200 34 8 65~80 15~60 5000 8 0.067
POL-100 3760 2000 42 10 86~100  20~80 4500 16 0.2
POL-140 4700 2500 4.2 10 120~140 60~110 3000 27 0.54
POL-180 5640 3000 42 10 150~180 100~145 2000 46 143
POL-230 7520 4000 42 10 - 120~200 2000 70 35

9
@ Table of Contents @

72
2D




DDL

Outside Draw-Down Chuck

B Workpiece pulled down to location for
superior accuracy

B Very accurate for parallel and perpendicular
surfaces

B Interchangeable top jaws facilitate work on
multiple workpieces

W Sealed to ﬁrevent chips and coolant from
entering the chuck body

6-Z 6-G B
Dimensions
--IEIIEII--IIIIHII-
DDL-05 100 3-M8 415 105 35 - 3M6

DDL-0O6 165 85 140 35 5 1048 M10 58 544 31 3% 14 4 3% - M6 33 23 35 20 M6
DDL-08 210 95 190 42 5 1334 M12 71 674 41 40 14 4 36 26 M20 38 28 45 25 M8
DDL-10 254 110 230 52 5 1714 M16 85 796 46 50 19 4 46 32 M24 47 32 55 30 M8
DDL-12 304 125 230 55 5 1714 M16 102 966 51 60 19 4 50 36 M27 47 32 70 35 MI10
DDL-15 381 140 300 90 8 230 M20 1335 1265 60 70 26 6 50 40 M30 71 51 95 45 M12
Specifications
ClaFg]r’;igg Max. Drawbar Pul Jaw Stroke Plunger Stroke Chucking Diameter (mm) Max. Speed Weight GD?
o () mm(ia) (mm) Sendard TopJawType | (M) (9 (kghm?)
DDL-05 73 0.07
DDL-06 2500 1500 7.2 10 35~85 35~80 3500 14 0.18
DDL-08 4500 2500 7.2 10 40~200  40~150 3000 27 0.66
DDL-10 6000 3500 10.8 15 50~250  50~200 2500 46 1.50
DDL-12 7500 4500 10.8 15 50~300  50~250 2000 68 3.20
DDL-15 9000 5500 145 20 60~380 60~320 1500 110 9.00
a[0] Application Chuck
@ Table of Contents @

72
2D



DDO

Inside Draw-Down Chuck

Chuck

®m Workpiece pulled down to location for
superior accuracy

Application

\-N
74

B Very accurate for parallel and perpendicular
surfaces

D

B Interchangeable top jaws facilitate work on
multiple workpieces

W Sealed to Erevent chlps and coolant from
entering the chuck body

Dimensions
--ﬂ-ﬂ.--.-n---
DDO-06 104.8 37.9
DDO-08 210 95 190 42 5 1334 M12 466 43 41 40 14 4 36 26 M20 38 28 50 25 M8
DDO-10 254 110 230 52 5 1714 M16 579 525 46 50 19 4 46 32 M24 47 32 60 30 M8
DDO-12 304 125 230 80 5 1714 M16 654 60 51 60 19 4 50 36 M27 47 32 70 40 M10
Specifications
Climping Max. Drawbar Pull Jaw Strokre Chucking Diameter (mm) Max. Speed Weight GD?

orce ; _— ]

) (kgf) mm(cia) Standard Top Jaw Type (rpm.) (ko) (kgf-m?)
DDO-06 . 70~140 13 0.18
DDO-08 4500 2500 7.2 40~180 90~180 4500 26 0.66
DDO-10 6000 3500 10.8 50~220 100~220 4000 44 1.50
DDO-12 7500 4500 10.8 60~270 110~220 3500 68 2.90

=A'VICI—|ULL-|-' 1 1

@ Table of Contents [N @

72
2D




DDT

2-Jaw Draw-Down Chuck

B Workpiece pulled down to location for
superior accuracy

B |deal for machning square, rectangular and
irregulary-shaped components

W Very accurate for parallel and perpendicular surfaces

Dimensions
--IEI-EI--IIIIEII-
DDT-06 160 85 140 5 1048 M10 544 31 3 18

DDT-08 210 9 190 42 5 1334 MI12 71 675 41 40 15 8 38 26 M20 39 28 45 25 M8
DDT-10 254 110 230 52 5 1714 M16 8 799 46 50 23 9 46 32 M24 48 32 5 30 M8

Specifications
Climping Max. Drawbar Pull Jaw Stroke Plunger Stroke Chucking Diameter (mm) Max. Speed
orce (ka) mm(dia) (mm) (tpm)
(k) Standard  Top Jaw Type pm.
DDT-06 1600 1000 7.2 1 35~85 35~80 2500 14 0.19
DDT-08 2800 1700 72 il 40~200 40~150 2200 26 0.57
DDT-10 4000 2500 10.2 16 50~250  50~200 1800 42 1.50

Application Chuck

Table of Contents @

72
2D




CIR

Inside-Clamping Mandrel

Chuck

B Pulled down to location for accuracy

=
S
2
I
=
=
=
<t

W |deal for fragile or easily deformed workpieces

\-N

6\\
7

7)

B Can be used to turn, grind and mill gears

Dimensions
--ﬂﬂ------ﬂ
CIR-00 755 19.7 14.7
CIR-01 100 835 5 23 9 75 M10 40 80 24.7 19.7 30 M16 23 17
CIR-02 100 93 55 23 9 75 M10 46 86.5 29.7 24.7 30 M16 23 17
CIR-03 100 100.5 55 23 9 75 M10 50 92 34.7 29.7 30 M16 23 17
CIR-04 100 105 55 23 9 75 M10 60 102 39.7 34.7 30 M16 23 17
CIR-05 130 1085 59 23 9 105  M10 60 102 447 39.7 30 M16 23 17
Specifications
R
(kgf) (mm) (mm) ()}
CIR-00 1 6
CIR-01 900 1 6 25 20 17
CIR-02 1200 1 6 30 25 18
CIR-03 1200 1 6 85 30 2.0
CIR-04 1500 1 6 40 35 22
CIR-05 1500 1 6 45 40 2.3

SAMCHUL LY 1 3

@ Table of Contents [ @

@ 2
ZID




CDiI

Inside-Clamping Mandrel

B Pulled down to location for accuracy

B Collet changes quickly for machining a variety of
work pieces

B Air sensing can be added for automatic loading

L=
QLo — e — ¢
o /H =
I 0 J
A H
G B
Dimensions
I N T N R e S A N
CDI-06 104.8 L+25
CDI-08 200 135 170 42 6 1334 M12 20 L+35 90 40 45 M20 33 29
CDI-10 250 180 230 52 6 1714 M16 35 L+40 130 90 55 M24 36 32
CDI-12 300 220 230 52 6 1714 M16 40 L+50 180 130 55 M24 37 32
Specifications
Climping Max. Drawbar Pull | Collet Expan5|on PIunger Stroke Chucklng Diameter (mm) Max. Speed Weight GD?

orce o

(<o) (] (mm) (mm) (rpm) (ka) (kgf-m?)
CDI-06 4000 1500 3 4500 0.06
CDI-08 7000 2500 1.0 4 90 40 4000 14 0.19
CDI-10 12000 4000 1.0 4 130 90 3300 34 0.71
CDI-12 15000 4800 14 5 180 130 2500 55 20

Application Chuck
Table of Contents @

72
2D



COR

Outside-Collet Chuck

Application
Chuck

B Quick change rubber -steel segment collet
B |deal for bar and shaft clamping

W
7)

<>

B Round, square and hexagonal collets available

[0}

oA
9C
2D

I
(=={En
Bar Work Chucking work

Dimensions

--ﬂ-ﬂ------“
COR-32 20.5 M60X2.0 16.5 135
COR-50 165 150 150 87 45 130 M0 M24 103 50 12 27.5 M74X1.5 23 20
COR-65 180 170 170 103 49 150 M12  M30 19 65 16 25 M90X2.0 255 225
COR-90 210 190 170 103 55 150 M12  M30 133 90 30 25 M90X2.0 285 22.5
Specifications

- Clzr;;;i:g Plunger Stroke Chucking Diameter (mm)

(ah (kaf) (mm) (mm) BarWork  Chuck Work (tpm) )

COR-32 6400 3200 1 3 5~32 7~32 4500
COR-50 8200 4100 1 3 12~50 12~50 4500 25
COR-65 9200 4600 1 3 16~65 16~65 4000 32
COR-90 13300 6500 2 6 30~90 30~90 3500 38

SAMCIHUL LY 1 5

@ Table of Contents | @

72
D




CDO

Outside-Collet Chuck

B Interchangeable top jaws grip the workpiece O.D.
m Workpiece is pulled down to location for high accuracy machining

B Air sensing available

B Air / Coolant through the spindle available

Dimensions

T4 [ 6 om0 | E| F |G| A | ma| tun | W | O | Prex | Pmn |
CDO-06 165 115 150 35 5 130 M12 30 50 15 36 M16 26 23
CDO-08 210 125 200 42 5 180 M12 35 90 80 36 M20 32 29
CDO-10 250 145 230 52 5 210 M16 45 130 80 46 M24 35 32
CDO-12 300 170 230 52 5 270 M16 50 180 100 50 M24 36 32
Specifications

HE RS

() (k) (mm) (mm) Max Min (tpm) (o) (kgtm?)

CDO-06 2800 1500 16 3 50 15 4500 1 0.1
CDO-08 4600 2500 16 3 80 40 4000 23 0.44
CDO-10 6500 3500 16 3 130 80 3300 49 1.76
CDO-12 7500 4000 20 4 180 100 2500 67 3.10

Application Chuck

Table of Contents @

72
2D




Diaphragm Chuck

B Accuracy to 0.002mm ideal for hard turning gears

B Counter-centrifugal design

B Sealed body eliminates maintenance

B Jaw can be easily changed
B Self-contained cylinder

2B
oA

P/
J
= .
Dimensions
I Y T N T A I N
DP-06 1714 208 92 72.9 19.1 65 1/4
DP-08 2129 246 96.8 1.7 19.1 70 1/4
DP-10 251.0 284 96.8 7.7 19.1 85 1/4
DP-13 3272 360 108 88.9 19.1 85 1/4
DP-17 428.9 476 109.5 90.4 19.1 85 1/4
Specifications
- Clamping Force (kgf) - Jaw Stroke Chucking Diameter Max rpm Pressure
P=3.5Kg/cm? ’ (mm) (mm) (r.p.m.) (kgf/cm?)
DP-06 450 3(6 JAW) 0.23 44~107 4500 45 1
DP-08 720 3 (6 JAW) 0.25 76~143 4000 45 20
DP-10 1150 3(6 JAW) 0.25 114~181 3500 45 26.5
DP-13 2000 3 (6 JAW) 0.35 150~248 3000 45 43
DP-17 3600 3(6 JAW) 0.40 203~349 2000 45 89

Table of Contents

17

Chuck

Application

A

@

72
2D



GDP

Gear Chuck

B Diaphragm chuck for hard turning/ grinding gears 4;
B Jaws can be easily changed

2B

,,,,,,, )
7E F
Dimensions
-_-__-___-
GDP-08 212.9 96.8 7.7 19.1
GDP-10 251.0 284 96.8 71.7 19.1 85 1/4
GDP-13 327.2 360 108 88.9 19.1 85 1/4
GOP-17 428.9 476 109.5 90.4 19.1 85 1/4
Specifications
R
P=3.5Kg/cm? (mm) (mm) (rpm) (kgflem?) (kg)
GDP-08 3 0.25 40~70 4000
GDP-10 1150 3 0.25 70~100 3500 45 26.5
GDP-13 2000 3 0.35 100~160 3000 45 43
GOP-17 3600 3 0.40 160~250 2000 45 89

Application Chuck

Table of Contents @

72
2D




BDG

Bevel-Gear Chuck

Application
Chuck

B Finger chuck for high accuracy clamping
of bevel gears

\-N

6\\
7

B Floating action ensures equal clamping force
on all 3fingers

7)

B Available with hydraulic and pneumatic actuation

Dimensions

Al e om0 e F G | H | U | M | 0| Prac Prin|
80 30 7 160 M12 27 M16 45 30

BDG-07 215 98 185 126.5
BDG-10 285 98 95 40 7 230 M12 254 126.5 35 M20 45 30
Specifications
Max. Drawbar Pull Plunger Stroke — Max. Speed Weight
-
BDG-07 1500 15 22.2~1475 2000 30
BDG-10 1500 15 88.9~203.2 1500 45

SAMCIHUL LY 1 9

Table of Contents @

@

72
2D



FD

Finger Chuck

B |deal for clamping thin-wall and fragile
workpieces without distortion

B Floating clamping fingers adjust to
workpiece shape

B Available in 2-jaw, 3-jaw, and 4-jaw models

oA
oF
8C
oD

E B
Dimensions
EENT DA T
FD-06 165 75 60 35 7 1048  M10 55 54 30 36 40 M16 44 30
FD-08 210 85 80 42 7 1334  M12 75 59 35 36 45 M20 50 85
FD-10 254 95 120 52 7 1714 M16 95 72 40 46 55 M24 60 40
FD-12 304 110 120 52 7 1714  M16 120 72 45 46 55 M24 60 40
FD-15 381 125 150 55 7 230 M20 155 84 50 50 60 M27 75 50
FD-18 457 140 150 55 7 230 M20 192 84 50 50 60 M27 15 50
Specifications
- Clla:rgr;é?g Max. Drawbar Pull | Jaw Compensating | Plunger Stroke | Chucking Diameter (mm) Weight GD*
) (kg) mm (dia) ) Max Min (ka) (kgf-m?)
FD-06 1400 1800 2 14 75 30 3500 9 0.12
FD-08 2100 2700 2 15 110 50 2800 18 041
FD-10 2800 3600 2 20 145 60 2400 30 1.05
FD-12 2800 3600 2 20 195 110 2100 41 2.17
FD-15 3600 4500 2 20 260 180 1800 73 5.65
FD-18 3600 4500 2 25 330 215 1500 102 11.6

208 Application Chuck

Table of Contents @

72
2D




PHD

Outside Pull-Down Chuck

Chuck

W Ideal for clamping workpieces with small
gripping surfaces.

Application

\-N
2

B Sliding jaws clamp the component; then, the
entire chuck bod%/_ pulls down to location
for accurate machining.

N
7

6

[
:
\

oA
oE
#C
oF
9D

Dimensions
T [ B [cit)[D | E| F | G |mac tnin| 3 |k |umax|imin | 1 | N | O |Praslomn | x| ¥ | Z ]
PHD-200 200 105 170 40 5 1334 M12 715 673 107 1 34 10 52 445 M20 25 1 0 42 24
PHD-250 250 115 220 40 5
PHD-300 300 123 220 50 5
PHD-380 380 135 300 50 5

1714 M16 87 817 117 1 34 4 60 54 M2 31 1 87 50 30
1714 M16 105 9 125 1 39 5 60 635 M24 30 -4 108 68 40
235 M20 1335 1275 137 1 50 16 60 762 M24 19 -15 130 80 54

Specifications

(kgh (kg mm(dia) (mm) (karf) (tpm) (ko)
PHD-200 8100 3000 24 200 3500 21
PHD-250 11000 4000 10.5 30 300 3000 37
PHD-300 13500 5000 12.0 34 300 2500 54
PHD-380 16500 6000 12.0 34 450 2000 95

SAMCHUL LY 21

mAcHNERY ca. LTO.

Table of Contents

@

@

72
2D



PHDN

Inside Pull-Down Chuck

B Ideal for clamping workpieces with
small gripping surfaces.

m Sliding jaws clamp the component; then, the
entire chuck bod%/ pulls down to location
for accurate machining.

M P J
z / %% T
. CRES % %}F x
RS —
— g\ e Tyese| 1 }LTL“
) ¢ @? ¢ L ] =
R @ / 9 o \_F
e = o=
Z K
E B i
Dimensions
I 8 T R S B Y S S N Y S
PHDN-200 1334 715 673
PHDN-250 250 115 220 40 5 1714 M16 87 8L7 17 1 34 4 60 54 M20 24 -6 87 50 30
PHDN-300 300 123 220 50 5 1714 M16 105 9 125 1 39 5 60 635 M24 23 11 108 68 40
PHDN-380 380 135 300 50 5 235 M20 1335 1275 137 1 50 16 60 762 M24 19 15 130 80 54
Specifications
Clamping Force Max. Drawbar Pull Jaw Strokre PIunger Stroke Stop Traction Max. Speed Weight
(kaf) (kaf) mm(dia) (mm) (kaff) (rp.m.) ()]
PHDN-200 8100 3000 8.5 3500
PHDN-250 11000 4000 10.5 30 300 3000 37
PHDN-300 13500 5000 12.0 34 300 2500 54
PHDN-380 16500 6000 12.0 34 450 2000 95

228 Application Chuck

Table of Contents @

72
2D




RS

Retractable-Jaw Shaft Chuck

Application
Chuck

B Machines shafts in one single clamping operation

W Change jaws and face driver to machine
different sizes of shafts

=
)

)

N

Dimensions
[~ T ommdonn) C lomadonn] € | G | 4 |3 Knax nin] L | P rn | Q| R Ismax/Srin TLu| v [w]
RS-200 200 164 139 192 205 180 106375 1334 3XM12 50 %5 585 MI16 30 415 35 M34X05 30 R 82 12510 M12 0
RS-250 250 205 1735 240 2525 221 139719 1714 3XM16 60 1095 625 M20 45 495 25 MAOX05 35 105 9% 16510 MI6 37
RS-300 300 205 1735 240 2525 221 139719 1714 3XM16 80 1145 675 M4 50 495 25 MS0X05 40 110 100 16510 Mi6 37

Specifications
(kg (kaf Chuck  Face Driver (rp.m) (ko) (kgf-m2)
RS-200 4000 3800 18~80 12~70 4000 35 0.19
RS-250 6500 6000 25~110 12~100 3500 60 0.79
RS-300 10000 8000 40~140 30~130 2500 100 1.35
23
@ Table of Contents @

72
2D




IAN

Auto-Indexing Chuck

B Machine multiple surfaces in a single clamping
m On -the-fly indexing

W Accurate, durable indexing system
B |ndex positions 3x120°or 4x90°

Dimensions

IAN-230 2- 425 54.5 15 1334

IAN-254 254 198 220 112 16 M16 42 228 214 45 57 17 1714

IAN-280 280 211 220 125 16 M16 42 250 227 58 70 17 1714

Specifications

T = O T

Area (cm?) kgf cm?) rm p) ()] (kgf-m2)

IAN-230 3000 0.27

IAN-254 43 45 2500 45 047

IAN-280 43 45 2300 55 0.88

2248 Application Chuck

Table of Contents

@

72
2D



| Indexing Position

Application
Chuck

£

\N
74

)

: e
e e e — | 57 - a1 fffzszﬁfffffffiiﬁﬁz
O | u:u g L [ u:UJi I [ | :
ol A

md 1 N

[ = I :

L — I

_Tlru 0]
4
45° INDEX

| work Pieces




IAH

Auto-Indexing Chuck

B Machine multiple surfaces in a single clamping
® On-the-fly indexing

W Accurate, durable indexing system
B Index positions 4x90° or 8x45°

PIPE BUNDLE ASSY

H ‘ H i — \
é ; Frr=r ! ‘? 1
e WRRY
| g e = | «
|
AN SPINDLE BORES > =
= bracketed dimensions refer to models IAH-400 and larger.
Dimensions
I T 0 T T TR
IAH-225 225 133.4
IAH-250 250 185 210 13 25 M12 40 106 190 46 55 20 1334
IAH-280 280 208 210 125 25 M16 48 125 213 57 67 20.5 1714
IAH-315 Bil6 227 235 136 25 M16 50 136 232 70 85 22 1714
IAH-350 350 235 290 148 30 M20 50 145 240 84 102 23 235
IAH-400 400 253 290 160 30 M20 60 165 259 100 14 30 235
IAH-500 500 301 380 200 35 M20,M24 68 205 308 133 157 35 235
IAH-670 670 465 380 286 40 M24 90 275 470 176 214 40 330.2
Specifications

(kgf) (mm) rp m.) (kg) (kgf-m2) dS(mm)  T(mm)

1AH-225 1270 2800 60 100

IAH-250 1730 OVER45 2400 44 1.7 65 160

IAH-280 2550 2000 56 28 80 220

IAH-315 2550 1800 75 5.0 100 230

IAH-350 2550 1800 100 8.0 135 240

IAH-400 3530 OVER 55 1200 145 15.0 170 260

IAH-500 4670 900 230 254 220 310

IAH-670 5890 600 540 32.5 300 400

p2lsl Application Chuck
@ Table of Contents @

72
2D



ROTARY DISTRIBUTOR

PIPE BUNDLE CHUCK BODY

ELECTRICAL ENCLOSURE

HYDRAULIC TANK ASSY’

ANGLE SHAFT

| Work Pieces

Table of Contents

Application
Chuck

élllg

i

6\\
7

27

@

@

72
2D



IAHT

Auto-Indexing Chuck

B Machine multiple surfaces in a single clamping
B On-the-fly indexing
B Index positions 3 x 120 0r 6 x 60°

B Accurate, durable indexing system

A

#Tr X

///‘ ‘/‘*' | Work Piece

60° INDEXING

-

120° INDEXING

Dimensions

B 0 A 0 O R
IAHT-230 145 104.8
IAHT-280 280 1935 170 1435 1n M16 50 82.5 56 71 21 295 130
IAHT-300 300 200 170 1435 11 M16 56.5 825 56 65 25 295 130
Specifications

T O ™

Area (cm?) (mm) rp m.) ()] (kgf-m2)

IAHT-230 1270 2400
IAHT-280 2170 OVER 45 2000 65 36
IAHT-300 3500 1800 83 42

223 Application Chuck

Table of Contents @

72
2D




CSF

Compensating Chuck

Chuck

W Jaws float on spherical bearing to determined clamping points
B Spring or fixed center available

=
=
2
©
19
=
=
<

\-N

6\\
7

B All three jaws apply constant gripping force

W,

L P
oy (s
‘ I ‘
‘ );[ i i [ L‘? Hig xi
iE=d T
HEHEEE @ ''''''''' s> EIE 449
\\\\\ P \. O
\\\\\\8‘\\\\\\\\\\\ //{/////// L :
\\\\\\\\\ e //'  — N
\
E 1N
B
Dimensions
--B-ﬂ---I-I---n---
CSF-07 170 140 4 1048 3-M10 M34XPL5 28.2.
CSF-08 215 1262 190 57 42 1334 6-M12 15 575 13 20 82 1121 M50XPL5 34 9 20 14 35
CSF-12 280 1547 255 72 57 1714 6M16 20 72 17 26 110 1422 M6EOXPL5 44 14 26 20 45
Specifications
Static Clamping | Max. Drawbar | Jaw Strokre | Plunger Stroke | Min Chucking Max. Runout | Max. Speed Spring Force | Weight GD?
Force (kgf) Pull (kaf) mm(dia) (mm) Diameter (mm) | Diameter (mm) (rp.m.) (k) (@)} (kgf-m?)
CSF-07 2600 1500 20 20 4000 0.25
CSF-08 3200 2100 20 25 25 4 3200 52 28 0.8
CSF-12 4400 2700 25 30 30 6 2000 106 58 313
@ Table of Contents @

®

N



FWC

Aluminum Wheel Chuck

B |deal for machining aluminum wheels

B Accommodates a variety of wheels by changing
jaws and arms

B Lower weight increases efficiency and
reduces down time

N

[ Bl
il

S\

T
At s

1

=

- :

(OP#10) (OP#20)

{0l Application Chuck

Table of Contents @

72
2D




1] L 5 2
S | ) g o
) 2| s
<| s o 3l 3
Q| Ol - 90
£ K {: w2
N $
i}
1
=

|

\

|

G B

Cam Arm Dimensions

FWC-300 FWC-310 FWC-320

JAW JAW JAW
--- --- ---

A A A

B 13 14 15 16 B 14 15 16 17 18 B 18 19 20

C 14 15 16 17 C 15 16 17 18 19 C 19 20 215

D 15 16 17 18 D 16 17 18 19 20 D 20 215 225
Dimensions

--n“------
FWC-300 495 139.7 139.719 171.45
FWC-310 550 145 196.87 235 Flexible 35 M20 M42 M24
FWC-320 660 199.5 196.87 235 35 M20 M42 M24
Specifications
(kaf) (kgf) mm(dia) (mm) (inch) rp m,) (ka) (kgf-m?)

FWC-300 3000 27 12~18 2800 24
FWC-310 970 3000 27 35 13~20 2200 160 Gi5)
FWC-320 970 3000 27 35 175~245 1800 240 75
FWC-300 0 0 0] 0] 0 0 0
FWC-310 (0] 0] 0] 0]
FWC-320 0 0 0 0] 0] 0

SAMCHUL LY

Table of Contents

31

Application
Chuck

\-N
22

N
7

6

@

@

72
D



N2

POWER I
CHUCKS (e

Open-Center Chucks

HS (Standard 3-Jaw High-Speed Open-Center Chuck) 34.
HS-A (3-Jaw High-Speed Open-Center Chuck with Adaptor) 35.
HST / HSF (2-Jaw, 4-Jaw High-Speed Open-Center Chuck) 36.
HSL (3-Jaw High-Speed Open-Center Long-Stroke Chuck) 37.
MH (Standard Mega Bore 3-Jaw High-Speed Open-Center Chuck) 38.
MHT / MHF (Mega Bore 2-Jaw, 4-Jaw High-Speed Open-Center Chuck) 39.
HCH (Standard 3-Jaw Open-Center Chuck) 40.
HCH-A (3-Jaw Open-Center Chuck With Adaptor) 42.
HCHT / HCHF (2-Jaw,4-Jaw Open-Center Chuck) 44,
Closed-Center Chucks
HC (Standard 3-Jaw Closed-Center Chuck) 45.
HC-A (3-Jaw Closed-Center Chuck with Adaptor) 48.
HCT (2-Jaw Closed-Center Chuck) 50.
HCF (4-Jaw Closed-Center Chuck) 51.
HCL (3-Jaw Closed-Center Long-Stroke Chuck) 52.
HCLT / HCLF (2-Jaw,4-Jaw Closed-Center Long-Stroke Chuck) 53.
Pneumatic Chuck
MCA (Stationary Pneumatic Chuck) 54.

@ @

® L >

N




HS

Standard 3-Jdaw High-Speed Open-Center Chuck

B Standard high-speed 3-jaw wedge-style

open-center power chuck

SERRATION PITCH 1.5

$A
$C
$W
$J
O
‘ I‘li
4¢F4
Q

%
éD

== 3
)
|
= L/ e fle
o - B
Grease 2R HS-06~12
Itis recommended to grease chucks at least twice a day in order to maximize longevity.
Dimensions
-IIEIIEIII-IIEIIII
HS-05 135 60 110 826 4 33 9 20 12 M42x15 3MI10x60 26 54 265 238 1975 775 23 10
HS-06 169 81 140 1048 5 46 11 -1 19 20 MS5x20 6M10x9%5 29 72 20 32 2925 2275 925 31 12 2 60
HS-08 210 91 170 1334 5 52 145 -15 205 30 M60x20 6M12x105 39 95 25 387 35 2975 1475 35 14 2 66
HS-10 254 100 220 1714 5 77 85 -105 25 45 MB5x20 6M16x120 43 110 30 51 466 3375 1425 40 16 2 9%
HS-12 304 110 220 1714 6 91 8 -15 28 50 MI100x20 6M16x130 505 111 30 613 56 4575 1575 49 21 2 108
3 Blank and machined draw-nuts are available.
# K" is Max. Draw nut size.
Specifications
Thiu Hole PDia | JawSTROKE | PLUNGER | Pemissble | Max. Staic - , g | Max Hycauic i ®
Diameter Diameter. Gripping Force Mﬁ’f(rrpm) Wi'ght N'm?D - Opeﬂagng Pressure H?ARpegajﬂ\% ngé\\?’A
(mm) v | ) KNG pm) |k (gm) | Cfinder | \poicne) AL

HS-05 2 54 175(1784)  36(3670) 67 069(007) SYH1036 343(350) HBMNI B205
HS-06 46 169 15 55 L 2Ee) SED 6000 19 22602 R 2808 HeeAL B26
HS08 5 210 13 74 16 348(349) 86769 5000 23 667(06) nams 205@7) HBOBAL B8
HS10 77 254 31 88 19 43(43) IM(U319) 400 M5 236(120) yaary 27275 HBIOAL B210
HS-12 91 34 3 106 23 55(5608) 144(14686) 3300 553 2893(295) SYH2001 27(275 HBINL B212

3 Maximum turning speed is based on actual measurements.
3 Specifications are subject to change without notice.
s Samcully Machinery Co., Ltd. is no longer an OEM manufacturer for Kitagawa® Iron Works Co., Ltd.

)CY<8 Power Chuck
@ Table of Contents @

72
2D




HS-A

3-Jaw High-Speed Open-Center Chuck with Adaptor

B Standard high-speed 3-jaw wedge-style W 4 ;V'

open-center power chuck with adaptor

Power
Chuck

SERRATION PITCH 1.5

)

N
&g

~ X
Tl er
2319 > i=1-T]
~ it 2 o T J ‘
30° x T i o I MRS
== |
. LA = - _T”_L -
<|o|al 2| Y - e e
. [ 15° == &| o PI=IS <5 —
..
I\ I
Bl ey E
30° >
: Hi L B
Fig-2
_k /| bHer
E ;
L B 'y
HS-05 HS-06~12 Fig-1 Grease
) . Itis recommended to grease chucks at least twice a day in order to maximize longevity.
Dimensions

-IEI!III-I-II---EEII--IIII

HS-05A05 135 72 8256 16 4 1047810478 33 3MiOx60L 13 14 265 238 1975 775 17 2310 20 2 MAOx15P 3xM6 47 - 26 54

HS-06A05 169 91 140 82563 15 5 116 1048 46 6MI10 16 20 32 2925 2275 925 26 14 31 12 19 2 MS5x2 3xM6 60 20 29 72

HS-08A06 210 103
HS-10A06 254 120
HS-10A08 254 113
HS-12A06 304 129
HS-12A08 304 122

170
220
220
220
220

106.375 17
106.375 25
139719 18
106.375 25
139719 18

5 150 1334
51714 1334
5190 1714
61714 1334
6 190 1714

52
7
7
91
91

6-M12
6-M16
6-M16
6-M16
6-M16

18 25
185 30
2430
185 30
25 30

387
51
51

613

613

B 2075
466 3375
466 3375

5% 4575

5 4575

315 155
1425 335 145
1425 265 75
1575 33 10
575 %6 3

1475

35 14 205
40 16 25
40 16 25
49 21 28
92128

2 M60x2 6xM6 66 30 39 9%
2 M75x2 6xM12 94 45 43 110
2 M8x2 6xM8 94 45 43 110
2 M30x2 6xM12 108 50 505 111
2 M100x2 6xM8 108 50 505 111

# Blank and machined draw-nuts are available.

#“U"is Max. Draw nut size.
3 Refer to Fig-2 for HS-10A06, HS12A06.

Specifications

Thru Hole

Jaw STROKE

PLUNGER | Permissible Ma)g.Stau'c

Max. Hydravlic

HS-05A05  A25 2 54 67 -  SYH1036 343(350) HBOANIL B205
HS-06A05 A25 46 169 15 55 2 2 SIE81) 6000 137 2450025 Tunige 28(286) HBOGAL B-206A5
HS-08A06 A26 52 210 13 74 16 BEA) B6E769) 5000 236 69071 Tonine 265(27) HBOBAL B-208A6
HS-10A06 A26 77 254 31 88 19 43435 10(1319) 4200 415 1275(L3) Tanrdy  27(275) HBIOAL B210A6
HS-10A08 A28 77 254 3% 88 19 43435 1U0(11319) 4200 400 1265(129) Yanraoy 27(275) HBIOAL B210A8
HS-12A06 A26 91 304 42 106 23 SOE09 14414684 B0 670 306(312) Tmaeg 27(275) HBINL B212A6
HS-12408 A28 91 304 50 106 23 SHE08) 144(14684) 3300 640 300(306) SYH2091 27(275) HBINL B212A8
3% Maximum tuming speed is based on actual measurements.

» Specifications are subject to change without notice.

3% Samceully Machinery Co., Ltd. is no longer an OEM manufacturer for Kitagawa®Iron Works Co., Ltd.

@

Table of Contents

72
2D

@



HST / HSF

2-Jaw, 4-Jaw High-Speed Open-Center Chuck

B 2-jaw, 4-jaw high-speed wedge-style 1 j ! .

open-center power chuck

Q SERRATION PITCH 1.5 W
R T

9]

450

¢ A
4C
$Y

%\@& &

» 30° 75@@
i %\ ey L oo
W ®)(\/»/§/ N
‘ 30° %

L

=
3
RN

o

EERpE T

o el —t
)2 HSF(4-Jaw) Grease

HST(2-Jaw)

Itis recommended to grease chucks at least twice a day in order to maximize longevity.
Dimensions
S LoPLELH L LW i e onn i el L L [ unec v
HST-06 169 81 5 1048 6-M10x95 2025 275 925 -1 12 19 M55x20 20 29 66 60
HST-08 210 91 170 5 1334 52 6MI12x105 20 25 387 35 30 15 15 145 3H 14 205 2 Me0x20 30 39 95 66
HST-10 254 100 220 5 1714 77 6M16x100 22 30 51 466 34 145 -105 85 40 16 25 2 M8x20 45 43 110 %A
HST-12 304 110 220 6 1714 91 6MI6x110 23 30 613 5 4575 1575 -15 8 49 21 28 2 MI100x20 50 505 111 108
HSF-08 210 91 170 5 1334 52 4MI0Ox105 - 25 387 3B 2975 1475 -15 145 3B 14 205 2 Me0x20 30 39 95 66
HSF-10 254 100 220 5 1714 77 4MI12x120 - 30 51 466 3375 1425 -11 85 40 16 25 2 MB85x20 45 43 110 %
HSF-12 304 110 220 5 1714 91 4M16x130 - 30 613 5 4575 1575 -15 8 50 21 28 2 MI100x20 50 51 111 108

% Blank and machined draw-nuts are available.
#“U”is Max. Draw nut size.

Specifications
ET;IIJTE%;? pDi JaWVSTROT(E PLUNGER | Pemissbe Gl?]{;)aghgtgg(rzce M . » | operang Maé.rgisysdur?eulic e
) | M M KNigy | M eRm) (g Oyinder | \pageiomy | MO
HST-06 46 169 15 55 12 14501479 3B(3675) 6000 115 221025 oy 1850189  BT206
HST-08 52 210 14 74 16 232(866) 573(843) 5000 213 647(066) iy 180(84) BT
HST-10 o’ 3l 88 19 2850000 T74(54) 4200 B5 1206123 e  180(184)  BT210
HST-12 91 34 34 106 B BIEM4Y) O /O 52 274628 ey 181(185)  BT2L2
HSF08 52 210 13 74 16 23223%6) 5736843 5000 25 667068 (s  18(184)
HSF10 77 254 31 88 19 285000 TA7TS6) 4200 M5 123013) e 18184) -

HSF-12 91 K 106 23 36.7(3742)  96(9789) 3300 52 274728)  SYH2091  28(285)

3 Maximum turning speed is based upon actual measurment.
% Specifications are subject to change without notice.
3% Sameully Machinery Co., Ltd. is no longer an OEM manufacturer for Kitagawa®Iron Works Co., Ltd.

36 BNELETEN
@ Table of Contents @

72
2D




HSL

3-Jaw High-Speed Open-Center Long-Stroke Chuck

W Long-stroke high-speed 3-jaw wedge-style

open-center power chuck

Dimensions

$H

Power
Chuck

Q SERRATION PITCH 1.5 Y B
’ : @
U _\ ——-r—
\ i
B |
IR =
0 T N
_-'r-1|-LIl_ o
EEE"T R
—= [T T =z
<l o XI B S 5
| o S

K/ =
B ¢
Grease

Itis recommended to grease chucks at least twice a day in order to maximize longevity.

--EI-I-I---EIEII-IIII

HSL-06 169 &7 5 1048 33 3MI0 20 3925 2025 1675 925 M3Bx15 45 20 29
HSL-08 215 99 170 5 1334 46 3MI0 25 523 396 705 115 155 65 35 14 25 2 M55x20 66 375 39 %5
HSL-10 254 110 220 5 1714 53 6M16 30 62 469 235 12 145 -105 40 16 25 2 M0 80 45 43 110
HSL-12 304 130 220 6 1714 63 6MI6 30 724 544 36 14 15 -5 49 21 28 3 M50 8 50 515 11
# BIar_1k and machined d_ravv—nuts are available.
3%“U" is Max. Draw nut size.
Specifications
Do | e | S0 | rpatce | e Mo O | e | Oy O
() ) KN(kgf) MPa(kgfl cm?)
HSL-06 33 169 28 20 15 279845 312(318) 4500 14 167017) S 340(347) HBOGAL  BL206
HSL-08 46 215 32 25 2 41497 4900970 B0 5 775079 FFHRE 299305 HBOBAL  BL20B
HSL-10 53 254 4 30 %5 53(e0) 630(427) 00 45 12012 L0 3026 HBIOAL BL2I0
HSL-12 63 34 43 35 0 693(7067) 804(8199) 2200 78  36(367) SYH2091 322(328) HBINL BL212

% Maximum turning speed is based upon actual measurment.
% Specifications are subject to change without notice.
3% Samcully Machinery Co., Ltd. is no longer an OEM manufacturer for Kitagawa® Iron Works Co., Ltd.

SAMCIHUL LY

mAcHINERY co. LTO

37

@

Table of Contents

72
2D

@



Standard Mega Bore 3-Jaw High-Speed Open-Center Chuck

open-center power chuck

T SERRATION PITCH 1.5 M
(MH-218~224 SERRATION PITCH 3.0)
u v
K —
£ -I-—
T 45° N
e — N
B e ]
@ [T (S e
oL p =z
300 =r
B @ o - o
N T " <|O| Z|—> G H
=
@ @ 1501 [s| % |

i
Jm &F

D@ |
1;MH—221, 0 L/ el . ]

2240
2)MH-221,224 : 60° Grease

Itis recommended to grease chucks at least twice a day in order to maximize longevity.

Dimensions
-IIEIIEIIIII-IIIIII
MH-206 104.8 175 20 M60x20 3-M10x95 33 38 348 2175 105

MH-208 210 91 170 1334
MH-210 254 100 220 1714
MH-212 315 110 300 235

MH-218 457 135 380 3002
MH-221 530 140 380 3302
MH-224 610 149 380 3302

66 75 <10 27 30 M75x20 6M12x115 39 95 25 457 42 2375 175 3H 14 2

82 85 11 25 52 MIOx20 6MI16x120 43 110 30 545 501 3225 1425 40 16 2 101

103 8 15 28 66 MI2x20 6M20x130 51 111 30 673 62 4575 1575 49 21 2 124
107 M175x30 6-M20x130 69 165 50 102 9625 5825 2025 69 22 5 186

1665 1 -2 39 80 M180x30 6M22x140 73 180 60 111.75 1065 725 215 65 25 5 197

190 20 3 35 80 M200x30 6M22x150 73 180 60 1195 1142 1055 215 65 25 5 210

o o o o o O
=
S
o
©
KN
]
3

# Blank and machined draw-nuts are available.
#“K"is Max. Draw nut size.

Specifications

GripDia. | Jaw STROKE | PLUNGER | Pemissble | Max. Static
(mm) Diameter. | STROKE Gripping Force

Max. Hydraiic

T Operrating | KITAGAWA™

Thiu Hole Max. rpm i GD? Operating

Diameter.(mm) Yee—™ (mm) (mm) KN(kg) min-'(rp.m) N-me(kgfm?) | Cylinder MPalgl o) HARD JAW
MH-206 52 175 165 64 15 247051 S73E81) 6000 19 22602) rirees 178181) HBOGAL
MH-208 6 210 23 74 175 A0 6787 SO0 23 56057 008 234239) HBOBAL -
MH-210 & 254 30 88 19 494OTe) 1266(12848) 4500 R 126013) hiaes 27428  HBIOAL
MH212 103 315 5 106 23 S5(5608) 144(14686) 3000 553 2893(295) SH2501 185(190) HBINL -
MH-218 1665 457 73 115 25 TI7240) 180(18355) 2000 170 1746(178) SYHL2816 23(24)  HBISA2
MH-221 1665 530 105 106 23 OL77) 22022460) 1700 28 3421(347) SYHL2816 286(201) HBISB2 -
MH-224 19 610 120 106 23 00177) 234(23861) 1400 203 651(664) SHL324 157(161) HBISB2 -

»# Maximum tumning speed is based on actual measurements.
3 Specifications are subject to change without notice.
3% Sameully Machinery Co., Ltd. is no longer an OEM manufacturer for Kitagawa® Iron Works Co., Ltd.

3P Power Chuck
@ Table of Contents @

72
2D




MHT / MHF

Mega Bore 2, 4-Jaw High-Speed Open-Center Chuck

B Mega Bore 2-jaw, 4-jaw high-speed wedge-style

open-center power chuck

SERRATION PITCH 1.5
K

c |H

450

OO

2A

g
)

109
30° k?ﬁﬁ

@@%

[ L E»-q— .-_E
MHT(2-Jaw) MHF(4-Jaw) 3 Grease

Itis recommended to grease chucks at least twice a day in order to maximize longevity.

Dimensions
| [AlBlcHe)| D [E[F|Gmax/emin| H | J [Kmax | L | M[N|Plomax/Qmin|Rmax|Rmin T U]V W |
MHT-206 175 81 40 1048 5 52 14 -1 175 20 ME0x20 6M10x 95 32 72 20 3B 48 2175 1025 31 12 2 65

MHT-208 210 91 170 1334 5 66 75 10 27 30 M75x20 6MI2x115 39 95 25 457 42 2375 175 3B 14 2 80
MHF-208 210 91 170 1334 5 66 75 -10 27 30 M75x20 4MI2x115 39 95 25 457 42 2375 175 35 14 2 &0

# Blank and machined draw-nuts are available.
#“K"is Max. Draw nut size.

Specifications
PDia. | JawSTROKE |PLUNGER | Pemissble | Max. Stafic : : Max. Hydraulc :
Diaanlg:el;l?rll?m) Bz LR || (EL e Mﬁx:&‘ﬁ‘% Wﬁgfh[ Nk m7) ng/;;]adug? Pessre | FPCN KRG
: C Min. | (mm) KN(kgf) KN(kgf) s MPa(kgfl cm?)
MHT-206 52 175 165 65 15 166(1700) 3EE75) 6000 115 22025 e 11812) . -
MHT-208 66 210 23 74 175 2356014) 855014) 5000 217 647066 ey  159(163) - -
MHF-208 66 210 23 74 175 235(307) 579(94) 5000 235 55057 fiide 16064  HBOBAL -

3 Maximum turning speed is based on actual measurements.
% Specifications are subject to change without notice.
3 Samcully Machinery Co., Ltd. is no longer an OEM manufacturer for Kitagawa® Iron Works Co., Ltd.

Table of Contents

Power
Chuck

%]

<D’

72
2D



HCH

Standard 3-Jaw Open-Center Chuck (110mm - 304mm)

SERRATION PITCH 1.5

u

4
Sl

ey
|

BE F

[0 E{M}C

i

2
£
ZH
E‘[
¢H

]

jl HCH-6~12 B

HCH-04 {: ! I
B A

Itis recommended to grease chucks at least twice a day in order to maximize longevity.

Dimensions

[~ T8 [clF| A | 3 | K | LI ]tro i ones omn. o P [ Q [ R 15 7 | Umac | v [w [ X Y]
HCH-04 110 54 8 4 706 21 3MI10 155 15 200 179 1425 675 35 3 19 8 15 2 M8x15 13 24 48 A4
HCH-06 165 83 140 5 1048 33 6MI0 14 20 275 2475 2575 1075 10 2 31 12 24 4 M2x15 16 35 72 438
HCH-08 210 91 170 5 1334 46 6M12 20 25 357 32 3125 1325 3 13 3% 14 30 5 MHx20 30 42 9% 61
HCH-10 254 100 220 5 1714 65 6M16 23 30 50 456 3225 1275 25 6 40 16 35 5 Mmx20 45 46 10 845
HCH-12 304 110 220 6 1714 78 6M16 23 30 58 527 4875 1275 8 15 49 18 38 5 M88x20 50 535129 9%

% Blank and machined draw-nuts are available.
#“U"is Max. Draw nut size.

Specifications

Thru Hole Jaw STROKE PLUNGER | Permissible Max. Static Max. rpm . GD? Operating Max. Hydraulic Operating KH'AGAWAp

Input Force | Gripping Force
KN(kgf) KN(kgf)

Diameter,(mm) Pressure
MPa(kgf/ cm?)

min-(rp.m) Nm#kgfm?) | Cylinder HARDJAW | Model

HCHO4 21 10 5 42 65  8800) 1313%0) 5500 37 02(0024) HYH0S33 22(224) HBMAL BM
HCHO6 33 165 12 55 12 20003) 5152000 5000 14 200(020) SHI3046 22(224) HBOGAL  BO6
HCH-08 46 210 13 74 16 31316) 787954 400 25 550(057) iiieg 22(24) HBOBAL  BOB
HCH10 6 254 25 88 19 3BE7 990095 300 3B 1204(13) S 23(85) HBIOAL B0
HCH12 78 34 19 106 23 494997) 129(13150) 3000 63 2971(303) SHIN8 23(235 HBIBL B2

3 Maximum turning speed is based on actual measurements.
¥ Specifications are subject to change without notice.
3% Samcully Machinery Co., Ltd. is no longer an OEM manufacturer for Kitagawa® Iron Works Co., Ltd.

VaZNel Power Chuck
@ Table of Contents @

72
2D




HCH

Standard 3-Jaw Open-Center Chuck (381mm-800mm)

Power
Chuck

Q SERRATION PITCH 1.5

;i (HCH 21-32 SzRRATlON PITCH 3.0) ] -l\—N %
i
o IRy
30° = >
2 2w \\ e
@ G ek T2 =

r—
@I
¢H

30° s

@ m f
K7 *&
W= HCH-15-24  {)HCH2124:0 2

Grease 2)HCH-21,24: 60

il
LY
B

2-M20 TAP DP'32

It is recommended to grease chucks at least twice a day in order to maximize longevity.

Dimensions

| [AlBlCHOIF] H 9| K | LM [Nmax] N |Omax Onn P Prin | Q RS [T Umax |V [W X [ Y]
38l 133 300 6 0 B & n 12 62 2 39 5 60 70 165 139

HCH-15 2350 1175 6M20 767 4375 1825 M130x2.0

HCH-18 450 133 380 6 2350 1175 6M20 30 43 8 767 7825 1825 11 12 62 22 39 5 MI30x20 60 70 165 139
HCH-21 530 140 380 6 3302 140 6M22 31 60 985 932 875 215 11 12 65 25 39 5 MI55x30 80 72 180 170
HCH-2IN 530 140 380 6 3302 140 6M24 31 60 985 932 875 215 1 12 65 25 39 5 MI5x30 8 72 180 170
HCH-24 610 149 380 6 3302 165 6M22 32 60 108 1027 1175 215 20 3 65 25 40 5 MI7530 80 72 180 187
HCH-24N 610 149 380 6 3302 165 6M24 32 60 108 1027 1175 215 20 3 65 25 40 5 MI75x30 80 72 180 187
HCH-32 800 150 520 6 4636 240 6M24 31 38 1626 1536 182 20 29 5 75 255345 10 M250x30 80 83 160 260
#Blank and machined draw-nuts are available. #U"is Max. Draw nut size.

Specifications

Thru Hole JawSTROKE | PLUNGER | Permissile | Max Static

Mex. Hydrauic | i |KITAGAWA?

Pressure M
MPakg o) | HARDIAW lode!

Max.rpm | weight GD* Operrating

Diameter,(mm) Dameter. | STROKE | - InputForce. | Giping Force min-(pm) | kot | Neme(kgfm?) | Cyiinder

(mm) (mm) KN(kgf) KN(kg)

HCH-15 381 2B 71(7240) 180(18355) 120 8914(009) SH25011 23(285) HBISAL  B15
HCH-18 175 450 30 106 23 71(7240) 180(18355) 2000 164 1746(178) SH25011 23(5 HBISAL B8
HCH21 140 530 8 106 2B 0O177) 234(23861) 1700 235 3511(358) SH25011  30(06) HBISB2  B2L
HCH-2IN 140 530 87 106 2B 0O177) 23423861) 1700 235 3511(358) SH25011  30(306) HBISB2 B2l
HCH-24 165 610 110 106 2B 900177) 23423861) 1400 293 6512(664) SYHL-2816 30(306) HBISB2 B4
HCH-24N 165 610 110 106 23 0(I77) 234(23861) 1400 293 6512(664) SYHL-2816 30(306) HBISB2 B4
HCH-32 240 800 240 18 34 100(10193) 240(24464) 1200 530 5984(61) SYHL-2816 32(336) HB32B2 -

% Maximum turning speed is based on actual measurments. 3 Specifications are subject to change without notice.
3% Sameully Machinery Co., Ltd. is no longer an OEM manufacturer for Kitagawa® Iron Works Co., Ltd.

41
@ Table of Contents @

72
2D




HCH-A

3-Jaw Open-Center Chuck with adaptor (165mm - 304mm)

e
B 3-jaw wedge-style power chuck
with adaptor plate
< Q > SERRATION PITCH 1.5
R X
ey
: =
S _of ¥ = ]
© S S ==EN
-
gl g3 H<t= =l
ag
Py g et
| i
E=——*0 S
— : E F E -
L B Fig-1 L [ B Fig-2
Grease
Itis recommended to grease chucks at least twice a day in order to maximize longevity.
Dimensions
-IE-I!III-IIEIEIIIIIII
HCH-06A05 165 93 140 82563 15 5 116 1048 6M10 14 20 275 2475 2575 10.75 31 12 24 4 M42x15 3M6 16 35 72 488

HCH-08A06 210 103 170 106375 17 5 150 1334 46 6M12 18 25 357 32 31251325 20 4 35 14 30 5 MS5x20 6-M6 30 42 95 61
HCH-10A06 254 120 220 106375 25 5 1714 1334 65 6MI16 18530 50 456 32751275 19 0 40 16 35 5 M75x20 6:M12 45 46 110 845
HCH-10A08 254 113 220 139719 18 5 190 1714 65 6M16 25 30 50 456 32751275 12 -7 40 16 35 5 M75x20 3-M8 45 46 110 845
HCH-12A06 304 129 220 106375 25 6 1714 1334 78 6M16 185 30 58 527 4875 1275 33 10 49 18 38 5 M8Bx20 6:M12 50 535129 %
HCH-12A08 304 122 220 139719 18 6 190 1714 78 6MI16 25 30 58 527 48751275 26 3 49 18 38 5 M88x20 3-M8 50 535129 %

3 Blank and machined draw-nuts are available.
%“U"is Max. Draw nut size.
3% Refer to Fig-2 for HCH-12A06

Specifications

Jaw STROKE |PLUNGER | Permissible [ Max. Static
i r Gripping Force

KN(kgh

Max.rpm | weight GD? Operrating
min-(cpm) | kgf | N-m3(kgfm?) Cylinder

Spindle
Nose No. | Diameter.(mm)

HCHOBAOS A25 33 165 12 55 12 200039 515200 5000 15 216(022) SH-13046
HCHOBAOG A26 46 210 13 74 16 31316 7BEBA 4000 27 59061 3y
HCHI0AO6 A26 65 254 25 88 19 33375 W05 3500 44 I4TILS0) ooy 23235 HBLOAL B-10A6
HCH10A08 A28 6 254 25 88 19 36675 V(10095 3500 4L 1402143 Rddrh 230235) HBIOAL B-10A8
HCHI2A06 A26 78 304 19 106 23 49(4997) 129(13150) 3000 69 3133320) SYH2001 23235 HBI2BL B-1246
HCHI2A08 A28 78 304 19 106 23  49(4997) 129(13150) 3000 66 3079(314) SYH209L 23235 HBI2BL B-12A8

3 Maximum turning speed is based on actual measurements.
3% Specifications are subject to change without notice.
3% Sameully Machinery Co., Ltd. is no longer an OEM manufacturer for Kitagawa® Iron Works Co., Ltd.

42 BETE Ao

Table of Contents

72
2D



HCH-A

3-Jaw Open-Center Chuck with adaptor (381mm - 610mm)

& "':IF.-‘;
B 3-jaw wedge-style power chuck
with adaptor plate
£g
[= K —
oo
N . 6
. N e
iy
%
e
@% 30° S ﬂ X u i z 7
&) . FeanE S i ? 2 =
@@%@1 - .1 [
¥ Ty 4 Pl [
30° Fﬂ xj:* L ,}
@ N
— .n° x B E :
1)HCH2124:0” S o e e
Grease 2) HCH-21-24: 60
Itis recommended to grease chucks at least twice a day in order to maximize longevity.
Dimensions
-IE-I!III-IIHEII-IIII
HCH-15A08 381 160 300 139719 33 6 2350 1714 1175 6M20 24 43 82 767 4375 1825 2 22 39 5 M130x20 6M16 60 70 165 139

HCH-15A11 381 149 300 196869 22 6 260 2350 1175 6M20 28 43 82 767 43751825 33 10 62 22 39 5 M130x20 3:M10 60 70 165 139
HCH-18A11 450 149 380 196869 22 6 320 2350 1175 6M20 28 43 82 767 78251825 33 10 62 22 39 5 M130x20 3:M10 60 70 165 139
HCH-21A15 530 161 380 285775 27 6 3302 3302 140 6M22 34 60 985 932 875 215 38 15 65 25 39 5 M155x30 3-M12 80 72 180 170
HCH-24A15 610 170 380 285775 27 6 3302 3302 165 6M22 35 60 108 1027 1175 215 47 24 65 25 40 5 M175x30 3M12 80 72 180 187

3 Blank and machined draw-nuts are available.

%“U"is Max. Draw nut size.

% Refer to Fig-2 for HCH-15A8.

% HCH-21A15 and HCH-24A15 are available with M22 or M24 mounting bolts.

Specifications

Jav[\)/iigngE PLUNGER | Permissible Gw;;natgglcoe Mac rpm ] oD Openating Maér:sfljr?;llc Operating KITAGAWA&‘
' min-'(rpm) N-me(kgf-m?) | Cylinder MPalkgil cm?) HARD JAW|  Model

Spindle | ThruHole
Nose No. | Diameter.(mm)

(mm) KN(kgf)

HCHI5A08 A28 1175 381 30 106 23 71(7240) 180I835%) 2500 134 9689(988) SH25011 23(235) HBISAL B-I5A8
HCHISAL A1 1175 381 30 106 23 717240) 180(18%5) 2500 127 9355Q54) SH25011 23235 HBISAL B-15AlL
HCHISALL A2l 175 450 30 106 23 71(7240) 180(18%5) 2000 178 18730(19) SH-25011 23235 HBISAL B-18AlL
HCH2IAI5 A215 140 530 87 106 23 900177) 234(23861) 1700 246 36283(370) SH2501L 30(306) HBISB2 B-21AI5
HCH24A15 A215 165 610 110 106 23 900177) 23423861 1400 304 660.94(674) SYHL-2816 30(306) HBISB2 B-24A15

3 Maximum tuming speed is based on actual measurements.
¥ Specifications are subject to change without notice.
3 Sameully Machinery Co., Ltd. is no longer an OEM manufacturer for Kitagawa® Iron Works Co., Ltd.

SAMCHULLY 43

@ Table of Contents [ @

72
2D




HCHT / HCHF

2-Jaw,4-Jaw Open-Center Chuck

B 2-jaw wedge-style open-center power chuck W

B 4-jaw wedge-style open-center power chuck e

o SERRATION PITCH 1.5
U U I (HCH 21-32 SERRATION PITCH 3.0)
K
W 60° W R &
@% @g’( =3 ® ity
N ©
D <l 9z 'gI Gl o T
QO — J
(- =
® Ol i T
o . YO —
HCHT-15 HCHF-15,18 HCHF-21,24 & 0G ence
Itis recommended to grease chucks at least twice a day in order to maximize longevity.
Dimensions
-IE-IEIIIIIII-IIHII
HCHT-15 381 133 300 235 6 1175 39 30 60 MI130x20  6M20 0 165 767 4375 1825 6 139
HCHF-15 381 133 300 235 6 118 11 12 39 - 60 MI30x20 4-M20x150 70 165 43 82 767 4375 1825 62 2 5 139
HCHF-18 450 133 380 23 6 118 1 1239 60 M130x20 4M20x130 70 165 43 8 767 7825 1825 62 2 5 136
HCHF-21 530 140 380 3302 6 140 11 12 39 - 80 MIS5x30 8M22x140 72 180 60 985 932 875 215 65 25 5 170
HCHF-2IN 530 140 380 3302 6 140 1 1239 80 M155x30 8M24x140 72 180 60 985 932 875 215 65 25 5 170
HCHF-24 610 149 380 3302 6 165 20 3 40 - 80 MI/5x30 8M22x150 72 180 60 1027 108 1175 215 65 25 5 187
HCHF-24N 610 149 380 3302 6 165 20 3 40 80 M175x30 8M24x150 72 180 60 1027 108 175 215 65 25 5 187
HCHF-32 800 150 520 4636 6 240 34 0 345 - 80 M250x30 8M24x130 83 160 38 1626 1536 182 20 75 255 35 260
3 Blank and machined draw-nuts are available. 3# K" is Max. Draw nut size.
Specifications
(mm) (mm) KN(kgf) KN(kgf) MPakgfl cm?)
HCHT-15 u75 47(4793)  120(12236) 2500 87.28890) SH-25011  15(15.3) - BT-15
HCHF-15 n75 3B 3D 106 23 47(4793)  120(12236) 2500 115 87.3890) SH25011 15(153) HB15A1
HCHF-18 u75 40 30 106 23 47(4793)  120(12236) 2000 159 1658(169) SH-25011  15(153) HBI5AL
HCHF-21 140 530 &7 106 23 60(6117)  156(15907) 1700 235 3H12(358) SH-25011 197(20.1) HB18B2
HCHF-21N 140 530 &7 106 23 60(6117)  156(15907) 1700 235 3H123H8) SH-25011  197(20.1) HB18B2
HCHF-24 165 610 110 106 23 60(6117)  156(15907) 1400 203 6514(664) SH-25011 197(20.1) HB18B2
HCHF-24N 165 610 110 106 23 60(6117)  156(15907) 1400 293 6514(664) SH-25011 197(201) HB18B2
HCHF-32 240 800 160 18 K7 60(6795) 156(15821) 11200 530 601(6l) SYHL-2816 22(224) HB32B2
3¢ Maximum Turning Speed is based on actual measurments. 3¢ Specifications are subject to change without notice.

3% Sameully Machinery Co., Ltd. is no longer an OEM manufacturer for Kitagawa® Iron Works Co., Ltd.

44 WL TS
@ Table of Contents @

72
2D




Standard 3-Jaw Closed-Center Chuck (110mm - 304mm)

B Standard 3-jaw wedge-style

closed-center power chuck

= g
=T
==
o=
a0

R
g SERRATION PITCH 1.5 @
SERRATION PITCH 1.5 W
U—f S)
i - IE @) &
b }_i—_, o X [ ’ = |
z = P4
<O> I 2 _llj E:/ i ff
e A 4 & 1 B
e '
/
K F—~
K B
L B -
HC-04,05 HC-06~12 ]
Grease
It is recommended to grease chucks at least twice a day in order to maximize longevity.
Dimensions
-IEI-I-IIEIHI-II
HC-04 - 3MBX55 12 233 201 125 825 25 MI10x15 3
HC-05 135 5 80 7 100 - 3-M8X60 14 19 304 272 1125 675 6 -8 23 10 35 MI2x175 3 28 29 62

HC-06 165 74 140 5 1048 21 6MI10X%0 14 20 378 335 1375 775 100 8l5 31 12 36 MI6x20 4 34 3B 72

HC-08 210 8 170 5 1334 25 6MI12X100 20 25 463 419 2225 1175 125(109) 106(90) 35 14 36 M20x25 5 38 42 95

HC-10 254 89 220 5 1714 34 6MI6X105 18 30 511 467 3075 1125 1583(119) 133(94) 40 16 36 M20x25 5 45 46 110
50

HC-12 304 106 220 6 1714 34 6MI6X120 18 30 61 5575 4875 1275 1630142 133(112) 49 18 36 (ooss 5 535 129

3% The numbers in parentheses in columns P and T are also available upon request.

Specifications
Jaw STROKE | PLUNGER pDi Permissble | Max. Static . Overrating Cylinder | Max Hydrauiic . ®
Diameter. | STROKE Input Force | Gripping Force r:\w/:sx‘(rrpm) ; ' & Pressure I-CI)Aplggaan\?\/ KlT,GS&\?/A
(mm) (mm) M. KN(kgf) KN(kgf) o Hydraulic ~ Pneumatic | npaggf/cm?)

HC-04 64 28(2325) 6000 41 029003 YO7ISRRE) AV-1315R HBO4NL
HC-05 64 1“1 2%2(510) 5500 62 059006 Y-O7I5R(RE) AY-1315R HBO4N1

HC-06 85 185 165 5250353 5210 13 177048 Y-I020R(RE) AY-L720R HBOGAL N6
HC-08 88 19 210 T5(648) 4760 25 53905) Y-I25RRE) AY-2225R HBOBAL N8
HC-10 88 % B4 24 29(97) 108(11013) 4010 37 UTI120) Y-I25RRE) AV225R  28(286) HBIOAL N0
HC-12 105 0 304 26 41(4181) 156(15907) 3380 573 28440%0) Y-IS3RRE) AY2730R 27(275) HBIZBL N2

3 Specifications are subject to change without notice.
3% Maximum turning speed is based upon actual measurements.
3 Samcully Machinery Co., Ltd. is no longer an OEM manufacturer for Kitagawa® Iron Works Co., Ltd.

SAMCIHUL LY 45

@ Table of Contents | @

72
2D




HC

Standard 3-Jaw Closed-Center Chuck (381mm - 1000mm)

| Sandard 3w edge sy e | HYDRAULIC CHUCK

closed-center power chuck

SERRATION PITCH 1.5

Q (HC 21-24, 32, 40 SERRATION PITCH 3.0)
R w
| | _S P U
—S (P)
@ ]
© =D =
N—t—— 150 b- z
! 7 < %
INE=
ﬁ B L)
30° S j s F 7 4 =
é@} e — |
b2
— K F
15“}\;@ B l--.
*HC-15,18 *HC-21.24 wﬁ@ *HC-32S,408 .
A 2 Grease
Dimensions Itis recommended to grease chucks at least twice a day in order to maximize longevity.
| A lBlcHe) FlH I K [LIMINmaxNmin OmaxJOmin) Pmax. | Pmin |Q[RIS] T [uvIw|X]
HC-15 381114 300 6 230 - 6M20X130 30 43 775 695 4875 2325 104 69 50 255 55 M30x35 2 60 61 135
HC-18 450 114 300 6 2350 - 6-M20X130 30 43 108 100 4875 2325 92 57 50 255 55 MB30x35 60 61 135
HC-21 530125 380 6 3302 - 6M22X140 31 60 86 78 935 275 97 62 65 25 55 M30x35 3 60 70 180
HC-2IN 530125 380 6 3302 - 6-M24X140 31 60 86 7 935 2715 97 62 65 25 55 M30x35 3 60 70 180
HC-24 610125 380 6 3302 - 6M22X140 31 60 125 17 935 275 97 62 65 25 55 M30x35 3 60 70 180
HC-24N 610 125 380 6 3302 - 6-M24X140 31 60 125 117 935 275 97 62 65 25 55 M30x35 3 60 70 180
HC-32S 800150 380 6 3302 65 6M24 39 762 1173 1023 1969 -24 3 35 75 127 70 M30x35 8 70 83 165
HC-40S 1000180 520 8 4636 50 6M24 32 762 2128 1878 1698 174 30 27 110 30 65 M36x40 -4 70 106 270
3% HC-32 and HC-40 are groove-type chucks with 19.025mm keys.
Specifications
JawSTROKE| PLUNGER | GfipDia. | Pemissible | Max. Statc . , Onerrating Cvlinder | Max. Hydraulc . 0
Diameter. | STROKE | (™M) | jnoutForce | Gripping Force Ma)f tpm Wﬁlght " ?D' , & Pressure H(i\psgznﬂgv KlTO&fe\?/A
(mm) mm) | Max  Mn | KNGkg) KNggh) | ™ (tpm) | kof | NmGtM) | Hygradic  Pneumatic MPagigi cme)
HC-15 16 35 3Bl 71 82(8362) 249(2539)) 3040 96 7061(72)  Y-2035R(RE) - 32(326) HBI15SNL N-15
HC-18 16 35 450 133 82(8362) 249(25391) 2710 124 22094) Y-2035R(RE) - 32(326) HBISN1  N-18
HC-21 16 35 530 62 82(8362) 273(27838) 1940 180 1833(192) Y-2035R(RE) - 32(326) HB18B2  N21
HC-2IN 16 35 530 62 828362 273(27838) 1940 180 1883(192 Y-2035R(RE) - 32(326) HBI8B2  N21
HC-24 16 35 610 152 82(8362) 273(27838) 1760 223 2116(21.7)  Y-2035R(RE) - 32(326) HB18B2 N-24
HC-24N 16 35 610 152 82(8362) 273(27838) 1760 223 2716(27.7) Y-2035R(RE) - 32(326) HB18B2  N-24
HC-32S 15 38 800 200 120(12170) 215(21805) 800 350  6091(61) Y-2050R(RE) - 408 HB32SB2
HC-40S 15 23 1000 330 180(18256) 320(32454) 630 600 17218(1745) Y-2560RE - 408  HB4OSB2
3 Specifications are subject to change without notice. 3 Maximum tuming speed is based upon actual measurements.

3 Samcully Machinery Co., Ltd. is no longer an OEM manufacturer for Kitagawa®Iron Works Co., Ltd.

46 RS
@ Table of Contents @

@ e
N




V2

\

I

2N

HC (groove type)

3-Jaw Hydraulic / 4-Jaw Independent Chuck (800mm -1600mm)

HYDRAULIC / INDEPENDENT CHUCK

B 3-Jaw hydraulic / 4-jaw independent
closed-center power chuck

=l é%;
[O]
(o]
g
=
7] 3
! S SiH z
il H
TELT
i 3
K * HC-32,40 : 3Jaw
HC-50G,55G,63G : 3 Hydraulic Jaw
+ 4 Manual Jaw
(optional)
B -
5 L]

Grease

It is recommended to grease chucks at least twice a day in order to maximize longevity.

Dimensions

|| ABlCHgFL G [ H | K JLIMNmaxNmin omax OminPra P QS IS T 1V WX lai la2la3lat
380 45 3B 0

HC-32G 800 150 6 4425 3302M4X120L 39 762 1176 1027 1969
HC-40G 1000 180 520 8 509.6 4636 M24X140L 32 762 2173 1943 911 149 60 3 110 65 35 M36x130L 70 106 270 30 -4 4 85
HC-50G 1250 180 520 8 6239 4636M24X140L 32 762 2173 1943 2054 149 60 3 110 65 35 M36x130L 70 106 270 30 -4 4 &
HC-55G 1400 220 720 8 7106 GA76M24XI60L 36 762 250 226 2594 308 82 22 110 65 35 M36xI30L 70 104 270 30 -6 4 110
HC-63G 1600 220 720 8 7868 GA76M2XI60L 36 762 250 226 3356 308 13 22 110 65 35 M36xI30L 70 104 270 30 -6 4 110

75 70 35 M30x125L 55 83 165127 8 3 75

Specifications

PLUNGER Permissible Max. Static

Max. Hydraulic Openatig

Diameter. STROKE Input Force | Gripping Force min-(tpm) Nk m?) Cylinder Pressure HARD JAW

(mm) (RELIED) (mm)  Min. KN(kgf) KN(kgf)

MPa(kgf/ cm?)

HC-326 3 80 200 120(12170) 215(21805) 800 350  60L96L)  Y-2560 HB32GB
HC-406 23 0 23 1000 330 180(18256) 320(32454) 630 600  17218(1745)  Y-2560 408  HBAOGB
HC-50G 23 30 57 1250 330 180(18256) 320(32454) 500 800  2169(220)  Y-2560 408  HBAOGB
HC-55G 24 40 60 1400 460 200(20304) 360(36710) 450 1350  2760(80)  Y-2560 4 HB40GB
HC-63G 24 4 60 1600 460 200(203%4) 360(36710) 400 1850  4930(00)  Y-2560 46 HB40GB

» Maximum turning speed is based on actual measurements.
¥ Specifications are subject to change without notice.

Table of Contents

47

= g
Do
==
o=
oo

=
-4

)

@

@

72
2D



@

-

3-Jaw Closed-Center Chuck with Adaptor (165mm - 304mm)

B 3-jaw wedge-type closed-center power chuck
with adaptor

0 Q
g 5 R SERRATION PITCH 1.5 <X
] ] Bl s “
45 450 —
| I
\ ! = LN
| = = i
@, r:u:% ez
i 3 @ ol s
@ - ¢ [OR © e S
| | ¢ || _ == E
! ) ! 1> = o= L
J, = o [ A~ o] L s~ Hit[ =5
St o St e e {
! AN ! N e | QAN <| =g —
| N NS NS NhET= ) 2
| T T8 /| g Fig-2
‘ L B
HC-06 HC-08 HC-10,12 . =
' Fig-1 ¢
Grease
It is recommended to grease chucks at least twice a day in order to maximize longevity.
Dimensions

-Iﬂ-ﬂll--l-ll Pa. | P Eﬂl-ll-l

HC06A05 165 84 140 82563 15 5 116 1048 21 6M10 14 20 378 335 1375
HC08A06 210 97 170 106375 17 5 150 1334 25 6:MI12 18 25 463 419 2225
HC-10A06 254 109 220 106375 25 5 1714 1334 34 6MI1218530 511 467 30.75
HC-10A08 254 102 220 139.719 18 5 190 1714 34 6M16 25 30 511 467 30.75
HC-12A06 304 125 220 106375 25 6 1714 1334 34 6MI12 18 30 61 5575 4875
HC-12A08 304 118 220 139719 18 6 190 1714 34 6M16 25 30 61 5575 4875

775 31
175 208 7369 35
125 84(128) 74(89) 40
125 101(140) 76(115) 40
1275 117(138) 87(108) 49
1275 124(145) 94(U15) 49

12 36 M16x20 4
14 36 M20x25 5
16 36 M20x25

16 36 M20x25
M24x3.0
18 36 (M20x25)

18 3 N2E30

o1 o1 o1 o

34 3M6 35
38 3M6 42
45 6-M16 46
45 3M8 46
50 6-M16 535
50 3M8 535

#The numbers in parentheses in columns P and T are also available upon request.
Specifications

Max.rpm
min-'(rp.m)

Spindle

Nose No.

GD?

NmekgFm?) | Hydrauiic

Operrating Cylinder
Pneumatic

Max. Hydraulic
Pressure
MPa(kgfl cm?)

Operating
HARDJAW| Model

KITAGAWA®

HC06A05
HC-08A06
HC-10A06
HC-10A08
HC-12A06
HC-12A08

A2-5
A2-6
A2-6
A2-8
A2-6
A2-8

88
105
105

18(1835)
25(2549)
29(2957)
29(29%57)
41(4181)
41(4181)

525(5353)
75 (7646)
108(11013)
108(11013)
156 (15907)
156 (15907)

5270

4760 27
4010 40
4010 40
3380 67
3380 66

YA020RRE) AY1720R
YA225R(RE) AY:2225R
YA225R(RE) AV:2225R
YA225R(RE) AY:2225R
Y:A530R(RE) AY:2730R
Y-I530R(RE) AV:2730R

26(265)
25(255)
28(286)
28(286)
27(275)
27(275)

HBOGAL
HBOBAL
HB10AL
HB10AL
HB12A1
HB12A1

N-10A06

N-10A08
N-12A06
N-12A08

3% Refer to Fig-2 for HC-10A06, HC-12A06.

3 Specifications are subject to change without notice.

3% Maximum turning speed is based upon actual measurements.
3 Sameully Machinery Co., Ltd. is no longer an OEM manufacturer for Kitagawa® Iron Works Co., Ltd.

Va¥eq Power Chuck

Table of Contents

@

72
2D



HC-A

3-Jaw Closed-Center Chuck with Adaptor (381mm - 610mm)

B 3-jaw wedge-type closed-center power chuck
with adaptor

Power
Chuck

SERRATION PITCH 1.5

—Q
R
m— 450 R P o (HCH 21-24 SERRATION PITCH 3.0)

o
-4

)

4'77
,7&\ RN
\ N &
. NN
\\\
¥ heas

Grease

Itis recommended to grease chucks at least twice a day in order to maximize longevity.

Dimensions
(416 cti] D [[F| G | H 3] K |1 | as NnlOradom pnac | P [Q[R 1S] T Julv] wIx]
HC15A08 381 141 300 139719 33 6 2350 1714  6M16 24 43 775 695 4875 2325 71 36 50 25555 M30x35 2 60 6M20 61
HC-I5A11 381 130 300 196869 22 6 260 2350 - 6M20 33 43 775 695 4875 2325 &2 47 50 255 55 M30x35 2 60 3M10 61
HC18A08 450 141 300 139719 33 6 2350 1714 - 6M16 24 43 108 100 4875 2325 59 2 50 255 55 M30x35 2 60 6M20 61
HC-I8AIL 450 130 300 196869 22 6 260 2350 - 6M20 33 43 108 100 4875 2325 10 35 50 25555 M30x35 2 60 3MI10 61
HC21A1l 530 161 380 196869 42 6 3302 2350 - 6M20 29 60 8 78 935 275 55 20 65 25 55 M30x35 3 60 6M22 70
HC21A15 530 146 380 28577527 6 33023302 - 6M2 34 60 8 78 95 275 10 35 65 25 55 M30x35 3 60 3M12 70
HC24A1l 610 161 380 196869 42 6 3302 2350 - 6M20 29 60 125 117 935 275 55 20 65 25 55 M30x35 3 60 6M2 70
HC24A15 610 146 380 28577527 6 3302 3302 - 6M2 34 60 125 U7 95 275 10 35 65 25 55 M30x35 3 60 6M12 70
Specifications

Jaw STROKE | PLUNGER Max. Static GD? Operrating Cylinder | Max. Hydrawlic

Sprde Diameter. | STROKE Gripping Force b2l Pressure

Nose No.

Operating

(mm) (mm) NN, KNG min-'(tpm) NmAkgH) | Hydrauic  Pneumatc | ypagfime) | HARDIAW

HC15A08 A2-8 16 35 3/ 71 828362 249(25391) 3040 105 7649(78 Y20BRRE) - 32(326) HBISN1 N-15A08
HCI5AL  A2-11 16 35 381 71 82(8362 249(25391) 3040 103 7355(75) Y208RRE) - 32(326) HBISNL N-15A08
HC18A08 A28 16 35 450 133 82(8362) 249(25391) 2710 134 970899 Y205RRE) - 32(326) HBISNL N-18A11
HCI8AIL  A2-11 16 35 450 133 82(8362) 249(25291) 2710 131 9512(97) Y203RRE) - 32(326) HBISN1 N-18A11
HC21AL  A2-11 16 35 530 62 82(8362 273(27833) 1940 198 2010305 Y2085RRE) - 32(326) HBISE2 N-21AIL
HC21AI5  A2-15 16 35 530 62 828362 273(27838) 10 190 19415(199) Y-208RRE) - 32(326) HBISB2 N-21AI5
HC24A1  A2-11 16 35 610 152 82(8362) 273(27838) 1760 241 28028(295) Y2085R(RE) - 32(326) HBISE2 N-24A1L
HC24A15  A2-15 16 B 610 152 82(8362) 273(27838) 1760 234 27654(82) Y20BRRE) - 32(326) HBISB2 N-24A15

3 Maximum turning speed is based on actual measurements.

% Specifications are subject to change without notice.

% Refer to Fig-2 for HC-15A08, HC-18A08, HC-21A08, HC-21A11, and HC-2411.

3 Samcully Machinery Co., Ltd. is no longer an OEM manufacturer for Kitagawa®Iron Works Co., Ltd.

49
@ Table of Contents @

72
2D




HCT

2-Jaw Closed-Center Chuck

W 2-jaw wedge-style power chuck

SERRATION PITCH 1.5 W SERRATION PITCH 1.5 w
60 LU 8 P (o
T E-H
() "" = :,T‘T
® ﬁ[ﬁ; : oY=
n——‘#hmﬁﬁj;\ﬂ\\—ﬂ =
-
) 15 ]
©) |
K E__Li .
.-—ll:l HCT-04,05 HCT-06~12
Grease
Itis recommended to grease chucks at least twice a day in order to maximize longevity.
Dimensions
--IEII--IIEIIEII-II
HCT-04 110 4-M8x55 233 125 875 17 M10x15 27 55

HCT-05 135 55 80
HCT-06 165 74 140
HCT-08 210 8 170
HCT-10 254 89 220
HCT-12 304 106 220

100 4M8x60 14 19 304 272 125 675 6 8 22 10 3B MI2xL75 3 28 29 62
1048 6M10x70 14 20 378 335 1375 775 100 815 31 12 36 MI6x20 4 34 3H 72
1334 6MI2x85 20 25 463 419 225 175 125 106 35 14 3B M0x25 5 38 42 %
1714 6MI16x85 18 30 511 467 3075 1125 158 133 40 16 36 M20x25 5 45 46 110
1714 6MI16x100 18 30 61 5575 4875 1275 163 133 49 18 36 M24x30 5 50 535 129

o o1 o o

Specifications
Jaw STROKE | PLUNGER | GripDia. | permissible | Max. Static , .| Max. Hydraulic ®
! . Max. r.p.m GD? Operrating KITAGAWA
mm
Diameter. (mm) Input Force | Gripping Force KN(kgf) N-me(kgtm?) | Cylinder Pressure Model

(mm) Max. Min. | KN(kaf) KN(kgf)

MPa(kgfl cm?)

HCT-04 64 53(40) 152(15508) 6000 38 026(0027) YO7TISR  168(17.) NT-04
HCT-05 64 14 135 16  53(40) 169(1713) 5500 58 059006 YO7ISR  168(17.) NT-05
HCT-06 85 185 165 14  12(1224) 35(569) 5000 114 167017 YA00R  17(173 NT-06
HCT-08 88 19 210 17 165(1683) 50(099) 4000 2 52005) YI25R  16(163) NT-08
HCT-10 88 % 234 2 1951988 72(7342) 3500 316 15(117)  YA25R  19(194) NT-10
HCT-12 105 0 310 2 275(804) 104(10605) 3000 55 278(283)  Y:530R  18(184) NT-12

3 Maximum turning speed is based on actual measurements.
# Specifications are subject to change without notice.
3 Sameully Machinery Co., Ltd. is no longer an OEM manufacturer for Kitagawa ®iron Works Co., Ltd.

50 BEELeIS
@ Table of Contents @

72
2D




HCF

4-Jaw Closed-Center Chuck

B 4-jaw wedge-style closed-center power chuck

Q SERRATION PITCH 1.5 w N
R (HCF-21,24 : 3.0P) \?*U ‘-'l;-" [}
=]
- o=
© = i2Ei 5 i
I — =y | X
=) Sy P = i e gﬁg
5 3 =3
- . =
zZ|
—QO e = —
I
— T, j 5|
. = T
& i 5|
¥ Y Q =
& ® /
o p—
8 |
HCF-08~18 )
Grease
Itis recommended to grease chucks at least twice a day in order to maximize longevity.
Dimensions

.| Omin. | Pmax. | Pmin.

L U
HCF-08 210 8% 170 5 150 25 6M12 30 25 463 419 225 175 125 106 3H 14 36 M20x25 5 3B 42 %5
HCF-12 304 106 220 6 1714 34 4MI6 38 30 61 557 4875 1275 163 133 49 18 3B M20x25 5 50 535 129
HCF-15 381 114 300 6 235 27 4M20 65 43 78 70 487 2325 104 69 50 26 55 M30x35 2 60 61 135
HCF-18 450 114 300 6 235 27 4M20 30 43 108 100 4875 2325 R 57 50 26 55 M30x35 2 60 60 135
HCF21 530 125 380 6 3302 27 8M2 61 60 8 B 935 215 97 62 65 25 55 M30x35 3 60 70 180
HCF-24 610 125 380 6 3302 27 8M2 31 60 125 17 9B5 215 97 62 65 25 55 M30x35 3 60 70 180
HCF-32G 800 150 380 6 3302 65 8M24x160L 41 381 994 894 2125 325 3H 3 75 255 73 M36x40 5 102 82 185

4

HCF-40G 1000180 520 8 4636 32 &M24x140L 32 60 1873 1643 172 237 256 32 110 30 65 M36x40 52 106 270

3% Blank and machined draw-nuts are available,
3% HCF-21 and HCF-24 are available with M22 or M24 mounting bolts,
3% Groove type is standard model on HCF-32G and HCF-40G,

Specifications

JawSTROKE | PLUNGER Permissible Max. Static M it o Oeri Onerri
Diameter, STROKE IputForce | GrippingForce | @XTPM | Welg S LEIEY Pressure i
(mm) i) T KN(h KNG min-'(rp.m) kgf N-m3(kgfm?) Cylinder MPafkg cm?) HARD JAW

Max. Hydraulic

HCF-08 88 19 210 17 16.5(1638) 50(5099) 4000

22 520053 Y:A225RRE) 16(163)  HBOSBAL
HCF-12 105 0 304 26  275(2804) 10410605 3000 55  277(283) YAS30RRE) 18(184)  HBI2BL
HCF-15 16 3 38 71 5460575 1658(16927) 3040 98 726(4) Y2035R(RE) 213(217)  HBISNI
HCF-18 16 % 450 133 5A6(575)  1658(16927) 2710 124 92294) Y-203RRE) 213(2L7)  HBISNL
HCF-21 16 3 50 62  546(575  183(18550) 1700 180 1883(192) Y-2085RRE) 213(2L7)  HBISB2
HCF-24 16 3% 610 152  5A6(575)  183(18550) 1500 223 2717(277) Y-2085RRE) 213(2L7)  HBISB2
HCF-32 20 3 80 8  8889%/)  156(15821) 800 350  601(61) Y:2050 3(306)  HB32SB2
HCF-40 46 57 1000 150  120(12245)  21321769) 630 620 17201745) Y2560  27(272)  HBAOSB2

% Maximum turning speed is based on actual measurements.
% Specifications are subject to change without notice.
% HCF-12 is also available with long stroke.

51
@ Table of Contents @

72
2D




HCL

3-Jaw Closed-Center Long-Stroke Chuck

B 3-jaw wedge-style power chuck

o

W HE

SERRATION PITCH 1.5
P u

SERRATION PITCH 1.5

ARt

1l

1
ﬁ'—H/

$A

$C

NTE
i K

¢H

K/ |<tJE K Fl
HCL-04 _—B,I HCL-06~12

e

Grease

Itis recommended to grease chucks at least twice a day in order to maximize longevity.

Dimensions

I I A S D Y ) e Y N IS A
HCL-04 6 8 3M8 265 2045 975 675 M10x15

HCL-06 165 74 140 5 1048 6M10 14 20 405 34 1375 925 1015 815 31 12 36 Mx20 4 34 H 72
HCL-08 210 8 170 5 1334 6M12 20 25 481 40 2075 UnB 131 106 3B 14 3FH M0x25 5 38 42 B
HCL-10 254 8 220 5 1714 6M16 18 30 544 4335 295 115 161 133 40 16 36 M20x25 5 45 46 110
HCL-12 304 106 220 6 1714 6M16 18 30 657 56 4275 1275 163 133 50 18 46 M24x30 5 50 54 129

Specifications

Ja\E)viSTROKE PLUNGER : Termlsgble Max. Static Max.rpm | weight oD Operrating Max. Hydrauiic Operating KITAGAWA®
jameter. STROKE Input Force | Gripping Force KN(kg) Kt | Nmeighm?) Cyjinder Pressure HARD JAW Model
(mm) (mm) ~ Min. KN(kaf) MPa(kgfl cm?)

HCL-04 121 15 110 12 10(1020) 144(1468) 5000 41 Y715R(RE) HBOANL  NLO4
HCL-06 13 20 165 2 21(141) 39@3977) 4300 12 176(018) YI00RRE) 30(306)  HBOGAL  NT-06
HCL-08 162 % 210 23 30(3059 60(6LS) 3600 229 539(055 YA25RRE) 29(296)  HBOBAL  NT-08
HCL-10 181 28 B4 27 40@079) 81(860) 3100 346 118(120) YA530RRE) 28(286)  HBIOAL  NT-10
HCL-12 194 30 304 33 54(506) U1(11319) 2500 60 284(2%0) Y-A530RRE) 36(367)  HBI2Bl  NT-12

# Specifications are subject to change without notice.  *¢ Maximum turning speed is based upon actual measurements.
3 Samcully Machinery Co., Ltd. is no longer an OEM manufacturer for Kitagawa® Iron Works Co., Ltd.

52 BN ELETEN
@ Table of Contents @

@ e
N




2
N

> © @

HCLT / HCLF

2-Jaw,4Jaw Closed-Center Long-Stroke Chuck

B 2-jaw wedge-style power chuck

B 4-jaw wedge-style power chuck

Power
Chuck

Q
Q SERRATION PITCH 1.5 E
R
60 o
g e
=) |
2 \:‘:
30 ? v r% z
T
_— oot Lo 2
I
T <| O L N
30 A e |'_7 [11
¥
+1 'g; K = .
B .-—.I-I
HCLT(2-JAW) HCLF(4-JAW) Grease

It is recommended to grease chucks at least twice a day in order to maximize longevity.

Dimensions
-IIEII--IIEEI-II
HCLT-06 165 1048 6-M10x70 1375 925 1015 815 M16x2.0
HCLT-08 210 8 170 5 1334 6M12x85 20 25 481 40 21 12 131 106 3H 14 36 M220x25 3B 42 %
HCLT-10 253 89 220 5 1714 MI16x105L 38 30 544 4535 295 115 161 133 40 16 36 M20x25 5 45 46 110
HCLT-12 304 106 220 6 1714 MI6x120L 38 30 657 5 4275 1225 163 133 50 18 3B M220x25 5 50 54 129
HCLF08 210 8 170 5 1334 6MI2x85 20 25 481 40 21 12 131 106 3H 14 36 M20x25 5 38 42 %5
HCLF-12 304 106 220 6 17145 M16x120L 38 30 657 5% 4275 1225 163 133 50 18 3B M220x25 5 50 54 129
#Blank and machined draw-nuts are available,
Specifications

e ST | | T | o, | v || | o | RS | o

(mm) (mm) Max.  Min. MPa(kgf/ cm?)

HCTL-06 13 20 165 2 125 YA020R  206(210)  NLT06
HCTL08 162 % 20 24 3600 24 YA225R  203(07)  NLT08
HCLT-10 181 28 54 27 3100 355 YA530R  193(197)  NLRO
HCLT-12 194 30 M B 2500 605 YA530R 250255  NLT12
HCLF08 162 2 210 24 3600 24 YA225R  203(20.7) NLT-08
HCLF-12 194 30 04 33 2500 605 YA530R 250255  NLT12

3 Maximum turning speed is based on actual measurements.
% Specifications are subject to change without notice.
3 Samceully Machinery Co., Ltd. is no longer an OEM manufacturer for Kitagawa® Iron Works Co., Ltd.

SAMCHULL Y 53

@ Table of Contents | @

72
2D




Power Chuck

Components

Set Screw

Coil Spring
\jel Bal /) >
| 7/

@y

1 BODY 1
2 WEDGE PLUNGER 1
3 MASTER JAW 3
4 SOFT JAW 3
5 T-NUT 3
6 COVER 1
7 DRAW NUT 1
7-1 DRAW TUBE 1
8 PLUNGER NUT 1
9 HANDLE 1
9-1 HANDLE 1
10 COVER PLUG 1

72
2D




N2

2N

MANUAL [E5;
CHUCKS et

Solid Jaw
- SC (Standard Scroll Chuck [Hard-Jaws]) 56.
I FSC (Front-Mounting Scroll Chuck [Hard-Jaws]) 58.
SF (4-Jaw Scroll Chuck [Hard-Jaws]) 59.
2-Piece Jaw
= TC (Standard Scroll Chuck [Soft and Hard top Jaws)) 60.
I FTC (Front-Mounting Scroll Chuck [Soft and Hard top Jaws)) 61.
ST (2-Jaw Scroll Chuck [Soft top Jaws]) 62.
SL (Standard Slotter Chuck [Hard Jaws]) 63.
IC (Independent Chuck (Hard-Jaws)) 64.

Table of Contents @

@ | &%

D




Standard Scroll Chuck (Hard-Jaws) (85mm -192mm)

B Standard solid jaw scroll chuck

(incl. internal and external hard jaws)

Dimensions

a5 [co| o
85 45 60 73

SCRROLL CHUCK

80 95
100 15
130 147
155 172

1

24
34
45
57

45 3-M8 44
45 3M8 50

5 3M10 65
5 3-M10 5

14
16
19
22

200
201
2507
30.06

8
8
10
u

245
225
24
215

I [ N T N B S 0
6 35 3-M6 35 n 155 7 17 271 13

3235 16
37 16
41 20

475 20

SC-85(3")
SC-1104") 110 58
SC-130(5") 130 60
SC-165(6") 167 65
SC-190(7") 192 16
Specifications
Max. Static
Gripping dia.
KN(kgf)
SC-85(3") 9(918)
SC-110(4") 12(1224)
SC-130(5") 15(1530)
SC-165(6") 31(3161)
SC-190(7") 31(3161)

Max.rpm
min-'(rp.m)

kof

weight GD?

N-m2(kgf-m?)

Handle Torque
N-m(kgf-m)

2500
2500
2500

15
31
44
n4
122

0.05(0.005)
0.17(0.017)
0.35(0.036)
118(0.12)
2.35(0.24)

(Gripping diameter)
(External) (Internal)
omm dmm
2~70 24~64
S5 29~84
3~110 33~100
3~160 48~150
4~180 56~170

294(30)
441(45)
637(65)
833(9.0)
107.9(110)

3 Specifications are subject to change without notice,

56 BYELIENe TS

@

-

Table of Contents

72
2D



Standard Scroll Chuck (Hard-Jaws) (232mm - 405mm)

Application
Chuck

B Standard solid jaw scroll chuck SCROLL CHUCK

(incl. internal and external hard jaws)

NN
72

D

Power
Chuck

=
/4

)

[

T 11

$E

&

N Manual
s Chuck

Z

wh
Vi

— e
|

il
ll Cy?i:t:gr

Dimensions
. |als8lcw| D] EJF[GlH][I]K]L[M][N]P]
84 190 210 75 6 3-M12 87 24 35.04 12 295 545 25

SC-230(9) 232

SC-273(10") 273 86 230 250 89 6 3M12 98 28 40.02 12 315 545 25
SC-310(12") 310 96 260 285 100 7 3M12 110 30 45,08 14 315 645 25
SC-355(14") 355 110 300 328 105 8 6-M12 133 35 62.98 14 424 67.6 36
SC-405(16") 405 1145 345 375 130 8 6-M12 133 35 63 15 43 715 36
Specifications

gln ?)Bﬁgtadncla Max r‘.p.m weight GD? w Handle Torque

KN(k) min-'(cp.m) kgf N-mz(kgf-m2) (Eétr‘;?]al) ('rgﬁg::?') N-m(kgf-m)

SC-230(9") 37(3713) 2900 212 6.27(0.64) 5~220 62~210 147 (15.0)
SC-273(10") 46 (4691) 2500 28 9.90(1.01) 5~260 70~250 1765 (18.0)
SC-310(12") 55 (5608) 2200 41 230(2.35) 10~300 86~290 206 (21.0)
SC-355(14") 405 (4130) 1500 4 372(39) 25315 107~290 2256(230)
SC-405(16") 45 (4589) 1500 74 67.6(6.9) 25~346 113~324 245(25.0)

3 Specifications are subject to change without notice,

Replacement

7]
=
b
=]
7]
7]
@
(X}
Q
<<

@ Table of Contents @

72
2D




@

-

Standard Front-Mounting Scroll Chuck (Hard-Jaws)

B Front-mounting solid jaw scroll chuck

(incl.internal and external hard jaws)

Dimensions
e lolermiofelelo fn L [l e g e
Bolt
FSC-165(6") 3M10 2507 3-M10
FSC-190(7") 192 75 185 172 57 5 3MI0 75 2 3006 U 275 475 20 175 11 105 3-M10
FSC-23009) 232 8 190 210 75 6 3MI2 8 24 3504 12 205 55 25 20 14 125 3-MI2
FSC-273(10") 273 8 230 250 89 6 3M12 98 28 4002 12 315 545 25 20 14 125 3-MI2
FSC-310(12") 310 9% 260 285 100 7 3M12 110 30 4508 14 315 645 25 20 14 125 3-MI12
Specifications
Gl\/ll ;Xpﬁgtag; _ weight E3D2 (G-ripping darmeter) Handle Torque
mi-'(tpm) kgf N-me(kgf-m?) (E?étrilrgal) ('”gﬁ:&a') N-m(kgf-m)
FSC-165(6") 14 118(0.12) 3~160 48~150 833(9.0)
FSC-190(7") 122 235(0.24) 4~180 56~170 107.9(11.0)
FSC-230(9) 212 6.27(0.64) 5~220 62~210 147 (15.0)
FSC-273(10") 46 (4691) 2500 28 9.90(1.01) 5~260 70~250 1765(18.0)
FSC-310(12") 55 (5608) 2200 41 230(2.35) 10~300 86~290 206(21.0)

s Specffications are subject to change without notice,

I5Y=3] Manual Chuck

Table of Contents

@

72
2D



SF

4-Jaw Scroll Chuck (Hard-Jaws)

Application
Chuck

B Four-jaw scroll chuck with solid jaws SCROLL CHUCK

(incl. internal and external hard jaws)

\
2

D

Power
Chuck

N
/.4

3

F

%ﬁ

£

RN K
.z’

$A
¢C
¢E
J

Rot
IICyﬂéggr

=N
Dimensions
| | alBlcww| Do E[F[ 6 [H]J] K [L[M[N]P]
SF-190(7") 192 75 155 172 57 5 3-M10 75 22 30.06 1 275 475 20

SF-230(9") 232 84 190 210 75 6 3-M12 85 24 35.04 12 29.5 54.5 25
SF-273(10") 273 86 230 250 89 6 3-M12 98 28 40.02 12 315 545 25
7

SF-310(12") 310 96 260 285 100 3-M12 110 30 45.08 14 315 64.5 25

Specifications
Gl\/lla)lsglaglca Maxtpm ?Dz 2 (Gﬁpping diamete’r) Handle Torque
KN(kgf) min-'(rpm) N-m2(kgf-m?) (Ea()tne;I gal) (Irgﬁ; Ir%al) N-m(kgf-m)
SF-190(7") 31 (3161) 3500 125 2.45 (0.25) 4~180 56~170 107.9 (11.0)
SF-230(9") 37 (3773) 2900 215 6.37 (0.65) 5~220 62~210 147 (15.0)
SF-273(10") 46 (4691) 2500 28 9.90 (1.01) 5~260 70~250 176.5 (18.0)
SF-310(12") 55 (5608) 2200 41 23.0 (2.35) 10~300 86~290 206 (21.0)

3 Specifications are subject to change without notice,

i
= v
[oR-

D
ES
QM
“m
_g
fg=
<<

@ Table of Contents @

72
2D




TC

Standard Scroll Chuck (Soft and Hard top Jaws)

W Standard 2-piece jaw scroll chuck SCIROLL CHUCK

(incl. soft and hard top jaws)

Dimensions

I 0 N N S R
TC-190(7" 192 787 3-M10 428 2715 512 3-M10
TC-230(9" ) 232 837 190 210 5 6 3-M12 905 32 538 12 295 542 25 3-M12
TC-273(10") 273 88 230 250 89 6 3M12 1035 3H 57182 12 315 565 25 3-M12
TC-310(12") 310 9% 260 285 100 7 3M12 1155 40 5608 14 315 645 25 3-M12

Specifications
(g/lnz;;r(J| :;adhcla Max r pm 3 GD? : CIRETYETE), Handle Torque
KN(kh min-*(spm) N-mz(kgf-m2) (E?éﬁ?]d) ("gﬁ%m) N-m(kgf-m)
TC-190(7") 31(3161) 3500 122 2.35(0.24) 4~180 56~170 107.9(11.0)
TC-230(9") 37(3773) 2900 212 6.27 (0.64) 5~220 62~210 147 (15.0)
TC-273(10") 46 (4691) 2500 28 990(1.01) 5~260 70~250 1765(18.0)
TC-310(12") 55 (5608) 2200 41 230(2.35) 10~300 86~290 206 (21.0)

3 Specfications are subject to change without notice,

60 WYENTERe
@ Table of Contents @

72
2D




Front-Mounting Scroll Chuck (Soft and Hard top Jaws)

B Front-mounting 2-piece jaw scroll chuck

(incl. soft and hard top jaws)

Py
Y N
11-&:?@\
H

C

]

s Chuck

g
’

9
S

)
‘~
&

Dimensions
Mounting Bolt

FTC-190(7) 192 787 155 172 57 5 3MI0O 85 28 428 11 275 512 20 165 105 105 MI10
FTC-230(9") 232 837 190 210 75 6 3MI2 905 32 538 12 205 52 25 20 13 125 Mi12
FTC-273(10") 273 8 230 250 8 6 3M12 1035 35 5782 12 315 55 25 20 13 125 M12
FTC-310(12") 310 9% 260 285 100 7 3M12 1155 40 5608 14 315 645 25 20 13 125 M12
FTC-460(18") 460 114 400 425 190 8 140(130) 50 80 17 382 76 - 26 18 18 6-M16X125
FTC-535(21") 535 143 270 235 1% 12 - 150(130) 50 82 2 575 85 - 32 22 22 6M20X140
FTC-610B(24") 610 143 380 315 216 14 - 150(130) 50 82 2 575 85 - 32 21 22 6M20X140
FTC-610HA(24") 610 143 380 315 275 14 - 130 50 8 22 | BB | B9 | - 32 22 21 6M20X140
Specifications

g}m:;adn; Max r‘.p.m GD? (Gripping diameter) Handle Torque

min-(rpm) N-m2(kgf-m2) (Eéﬁmaj) ('fgﬁ%&ﬂ) N-m(kgf-m)
FTC-190(7") 31(3161) 3500 122 2.35(0.24) 4~180 56~170 107.9(11.0)
FTC-230(9") 37(3773) 2900 212 6.27 (0.64) 5~220 62~210 147 (15.0)
FTC-273(10") 46 (4691) 2500 28 9.90(1.01) 5~260 70~250 1765(18.0)
FTC-310(12") 55 (5608) 2200 41 230(2.35) 10~300 86~290 206 (21.0)
FTC-460(18") 65 (6650) 870 106 124(12.6) 40~410 152~436 255.0(26)
FTC-535(21") 73 (7400) 950 182 287(29.3) 45~481 155~499 3139(32)
FTC-610B(24") 80(8200) 850 238 488(49.8) 50~576 160~592 372.7(38)
FTC-610HA(24") 80(8200) 850 238 488(49.8) 130~-576 235~592 372.7(38)
s Specifications are subject to change without notice,
61
@ Table of Contents @

72
2D



2-Jaw Scroll Chuck (Soft top Jaws)

B Two-jaw scroll chuck with 2-piece jaw
(incl. soft top jaws)

Dimensions
A B C(H6) D = F G H J K L M N P
ST-190(7") 192 78.7 155 172 57 5 3-M10 88 32 44.8 11 275 51.2 20
ST-230(9") 232 83.7 190 210 75 6 3-M12 100 32 49.8 12 29.5 54.2 25
ST-273(10") 273 88 230 250 89 6 3-M12 110 35 54.32 12 315 56.5 25
ST-310(12") 310 96 260 285 100 7 3-M12 125 40 50.58 14 315 64.5 25
Specifications
g%); Ir?gtagl(; Max o §D2 7 (Gripping diamete‘r) Handle Torque
KN(k) min-*(rp.m) N-me(kgf-m?) (Eét;mal) ("gﬁggfl) N-m(kgf-m)
ST-190(7") 20.7 (2110) 3500 126 2.55 (0.26) 4~180 62~170 735 (7.5)
ST-230(9") 24.7 (2518) 2900 21.4 6.27 (0.64) 5~220 70~210 98 (10.0)
ST-273(10" 46 (4691) 2500 28 9.90 (1.01) 5~260 70~250 176.5 (18.0)
ST-310(12") 55 (5608) 2200 41 23.0 (2.35) 10~300 86~290 206 (21.0)

3 Specifications are subject to change without notice,

(o248 Manual Chuck
@ Table of Contents @

72
2D




SL

Standard Slotter Chuck (Hard Jaws)

B Standard slotter chuck with solid jaw
(incl. internal and external hard jaws)

[

1f

o
T
T

]
|

90°

Dimensions

| alee9lc ] Vv ]E] F ]G
110 60

1905 240

SL-08 215

SL-10 255 125 76 230 286

SL-12 305 160 100 280 340

.
et
)
s
0%

SLOTTER CHUCK

30°

40.02 72 98 28 45
45.08 76 110 30 5

N

c | H ]l | ]k] L] m]N]oO]
35.04 64 80 25 4 11 M10 266 17 13

M12 Sils 20 15
M12 370 22 17

Specifications
Max. Static
Giripping dia.
KN(kgf)
SL-08 37 (3,800)
SL-10 46 (4,700)
SL-12 55 (5,620)

17.6
21.7
40.0

(Gripping diameter)

(External)
omm

58~174
68~212
80~263

(Internal)
omm

4~182
4~220
5~266

Handle Torque
N-m(kgf-m)
117.7 (13)
176.5 (18)
196.2 (20)

3 Specifications are subject to change without notice,

Table of Contents

SAMCIHUL LY

63

Application
Chuck

AN

Power
Chuck

¥
/-4

3

A Manual

Z
‘4
S

A
§

Rot
II Cy?i:(;gr

v
D

S
§2
s38
[=N =]
22

@

@

72
2D



IC

Independent Chuck (Hard-Jaws) (200mm - 400mm)

W 4-jaw Independent chuck INDEPENDENT CHUCK -

(incl. reversible hard jaws)

(> l::llllll\

¢ A
¢Ct
¢ C2
¢D
$E |

B K
Dimensions
I T N = = S T O S
IC-8 200 75 200 175 155 50 6 M12 75 30 30 10
IC-10 250 80 165 150 125 55) 6 M12 90 30 35 10
IC-12 300 90 186 170 140 65 6 M12 100 35 40 12
IC-14 350 90 210 190 160 75 8 M12 110 85 45 12
IC-16 400 100 130 210 180 90 8 M16 120 40 50 14
Specifications
Max. Static Max.rom - (Gripping diameter)
Gripping die. min-'(r: E:m) N-m2(kgf-m?) (External)  (Internal)
KN(kgf) omm omm
IC-8 1000 1600 14.8 0.3 75 185
IC-10 1400 1600 21 0.6 95 220
IC-12 1600 1400 29.5 14 125 265
IC-14 1700 1400 40 2.9 155 310
IC-16 2000 1200 56.5 45 190 360

3Specifications are subject to change without notice,

64 WY ELNERe T
@ Table of Contents @

72
2D




IC

Independent Chuck (Hard-Jaws) (450mm - 813mm)

Chuck

Application

B 4-jaw Independent chuck INDEPENDENT CHUCK

(incl. reversible hard jaws)

\-Y
72

D

Power
Chuck

A
™
74

(3

Ar¢ WA

$A
¢C1
$C2
¢D
$E |
@

[

IR N W)
g% ],

Rot
IICyﬂéggr

B K
=N
Dimensions
| A8 lalcel o | e[ F]l e | H I [ K[

IC-18 450 105 230 230 200 100 8 M16 130 40 55 14

IC-20 500 110 272 250 220 110 8 M16 140 45 60 14

IC-24 600 120 330 300 260 120 10 M20 160 50 70 14

IC-28 710 120 382 350 300 130 12 M20 190 55 85 14

IC-32 813 120 440 400 350 140 12 M20 190 55 85 19
Specifications

Max. Static Max pm - (Gripping diameter)

G:E)Npi(r‘g(f:i)ia min-'(rp.m) N-m?(kgf-m?) M
IC-18 2000 1200 70 7.0 220 405
1C-20 2200 900 90 11.8 250 450
IC-24 2300 900 150 25.3 320 550
1C-28 2396 900 247 58 385 650
1C-32 2447 600 357 103 485 750

3 Specffications are subject to change without notice,

i
[— ]
[N
S
ES
(7]
=7
So
(X}
=
<<

@ Table of Contents @

72
2D




ZIN

ROTARY
CYLINDERS et

Open-Center Cylinders

SH (Standard Short-Body Open-Center Hydraulic Cylinder) 68.

SHL (Short-Body Long-Stroke Open-Center Hydraulic Cylinder) 69.

SYH (Standard Open-Center Hydraulic Cylinder) 70.

SYHL (Open-Center Long-Stroke Hydraulic Cylinder) 71.
Closed-Center Cylinders

Y-R (Standard Closed-Center Hydraulic Cylinder) 72.

Y-RE (Closed-Center Hydraulic Cylinder with Proximity Switch) 73.

YS-RE (Ultra-Compact Closed-Center Hydraulic Cylinder) 75.

DY (Double-Piston Hydraulic Cylinder) 76.
Pneumatic Cylinder

AY-R (Closed-Center Pneumatic Cylinder) 77.

| Table of Contents @

I

- o



SH

Standard Short-Body Open-Center Hydraulic Cylinder

b
B Short-body high-speed 4D o YLIND P -;

open-centered hydraulic cylinder

with built-in lock and relief valves

J1 Ji w u v
R1 _AlL B1
2X2-S1
== ]
{ / i\ = lﬁ*
\ g i C1 5§
w|o|Z| X Olw| wl ol
s|ls|s| © i& sl g g| 8
[ "
\
4-Q1
— 6-E1
‘ N
w 12-F1
y
PT1_/|
K1 Sz
Dimensions
--Iﬂ------ﬂ----
SH-13046 M52x2.0
SH-15052 190 170 130 8 70 MeE0x20 52 40 73 9 135 130 138 22 0 a7 25 5 90 975
SH-17068 210 190 160 120 85 M75x20 68 48 8 111 154 150 155 25 0 50 25 5 10 108
SH-18077 218 190 160 120 95 M85x20 77 48 108 121 164 165 167 25 0 50 25 5 10 1195
SH-19082 223 190 160 120 100 M90x20 82 58 103 126 175 166 174 25 0 44 19 5 15 12
SH-25011 310 275 166 140 M130x20 1175 46 138 170 230 1075 231 5 48 6
- FLOP
SH-13046 30 M6 M10x20 M5x6 PT12 M52x1.5
SH-15052 30 M6 M10x20 101 110 92 a7 15 53 85 4 M6x7 7 PT12 5 M58x15 56 20
SH-17068 35 M6 M10x20 113 145 97 47 15 70 100 4 M6x10 7 PT12 5 M74x15 715 26
SH-18077 35 M6 M10x20 125 155 102 47 15 80 108 4 MEx10 7 PT12 5 M84x20 81 26
SH-19082 35 M6 MI10x20 1295 160 105 47 15 85 ik 4 M6x10 7 PT12 6 M8x20 86 26
SH-25011 45 M6 M16x32 1635 206 140 55 20 123 150 55 Mex12 75 PT12 6 Ml124x20 122 29
Specifications
Available Cyinder PISTON Piston force Max. Operating Max. rpm GD? weight Total Leakage
1D. Diameter(mm) | STROKE(mM) | push KN(kgf) pull KN(kgf) Pressure MPagkgficm?) | min-'(rp.m) N-mé(kgf-m?) kgf (min)
SH-13046 135 15 42.3(4285) 38.1(3865) 4.0(40.8) 7000 0.2(0.021) 10 30
SH-15052 52 156 22 60(6118) 56(5710) 4,0(40.8) 6200 0.44(0.045) 14 39
SH-17068 68 170 25 63(6531) 59.8(6060) 4.0(40.8) 5600 0.65(0.067) 165 40
SH-18077 7 185 25 75.3(7632) 69.6(7087) 4.0(40.8) 5000 0.83(0.084) 18 42
SH-19082 82 190 25 1781(7924)  72.5(7350) 4.0(40.8) 4800 0.95(0.097) 25 45
SH-25011 175 255 23 132(13390)  121(12305) 4.0(40.8) 3000 1.9(0.193) 50 70

3 Specifications are subject to change without notice,

(33} Rotary Cylinder
@ Table of Contents @

@ 2
ZID




SHL

Short-Body Long-Stroke Open-Center Hydraulic Cylinder

| 7 £
W Long-stroke short-body high-speed VT ] \/ N DD ~ .

open-centered hydraulic cylinder

with built-in lock and relief valves

J1 J1 W U '
R1 Al B1
X281
s et
\ \ s NS e I L1 :1 -
n|a|Zz| x £ A _|x olu| g &l o
— - —
‘ Wi1 2
4-Q1 EEEEEE——— ]
— 6-E1
8| il T;—W o J2F1 =3
233 K1 ALz o 5
—
=N
Dimensions
--Iﬂ--I-I-ﬂI-I
SHL-17068 210 190 8 M75%x20 68 48 88 154 150 175

SHL-18077 218 190 160 120 95 M85x20 77 48 108 121 164 165 182 3b 5 65 2B 5 10 1345
SHL-25011 310 275 230 166 140 M130x20 1175 46 138 170 230 1075 258 46 4 87 37 6 19 1765

SHL-39024 450 420 320 280 265 M250x30 240 30 268 310 370 340 3025 50 -1 76 6
-
SHL-17068 M6 M10x20 71 4 M6x10 7  PTIR M74x15 715

SHL-18077 35 M6 M10x20 140 155 102 47 15 80 108 4 Mex10 7 PT12 5 MB4x20 81 26

SHL-25011 45 M6 MI16x32 1905 206 140 55 120 123 150 55 M6x12 75 PT1R2 6 M124x20 12 29
SHL-39024 45 M6 MI16x40 215 350 215 75 20 243 284 55 M6 75 PT1R2 6 M2530 249 3B
Specifications
. PISTON Piston force Max. Operating :
e SROE | o i | e | RGRR | SO | V| TR
= (mm) KN(kgf) KN(kgf) MPakgt/ cn) i
SHL-17068 68 63(6531) 59.8(6060) 4.0(408) 0.69(0.070) 178
SHL-18077 T 185 40 75.3(7632) 69.6(7087) 40(408) 5000 0.86(0.083) 185 42
SHL-25011 175 255 50 32(13390) 121(12305) 4.0(408) 3000 19(0.193) 54 70
SHL-30024 240 390 51 1525(15570)  1387(14152) 25(25) 1500 3064402 140 2

Specifications are subject to change without notice,

=A'VI=I—|L.ILL-|-' 69

@ Table of Contents | @

72
D




Standard Open-Center Hydraulic Cylinder

B High-speed open-centered 4 D (] \V/ ND ¢ E
hydraulic cylinder with
built in lock and relief valves
4-Q1 w u \
Ri1 A1 B1 V4 T1
$du 5 SThoke Vi L
P1
/]
I =
_§===£E
)| |2 so s = = of u| & o of 5
z| z| X F— R Y | = = = =|
ol a | = =] 9.]14 ' _-
k | 1
Wi
6-E1 1 H
P WY 12-F1
o1t = J
¢ 33
Dimensions
--Iﬂ--I----ﬂﬂI-I
SYH-1036 M42x15 104 115
SYH-1246 155 130 100 80 65 M52x20 46 36 529 64 8 515 118 15 184 15 0 40 25 | B | il
SYH-1552 190 170 130 8 70 M60x20 52 36 596 73 9% 57 137 130 191 22 0 47 B 5 12
SYH-1877 215 190 160 120 95 M85x20 77 36 846 9B 121 70 166 160 230 25 0 50 2 | B | i
SYH-2091 M100x2.0 182 185 5
-----
SYH-1036 1025 25 M5x11 6M10x17 M5x10 PT38 M44x15
SYH-1246 1265 30 M6X9 12M10x20 135 98 76 47 15 50 76 4 M5x10 6 PT12 6 200 46 M52x15 50
SYH-1552 136 30 M6X9 12M10x20 145 110 8 47 15 55 8 4 M6x12 7 PT12 6 220 51 MS58x15 56
SYH-1877 1535 35 M6X9 12M10x20 1665 155 101 47 15 80 108 4 M6x12 7 PT12 6 242 58 M84x20 81
SYH-2091 168 35 M6Xx14 12M12x24 183 165 110 47 15 95 120 4 M6x12 7 PT12 6 267 66 M9I9x20 96
Specifications
Mvlae | Oinder | PISTON | PonSufaceAea | Psionfoce | MaxOperaing | oo o | goe | weight | ToalLeakage | KITAGAWA
Diameter | STROKE | ~ push push pul Pressure g ek m2 -
1D. (mm) () : " KN KNG MPafigflcm?) min-'(rpm) | Nmkgim?) | kof 4(min) Model
SYH-1036 36 86 S-1036
SyH1246  Xede 20 30  S1

SYH-1552 465260 168 39 S1552
SYH-1877 68697577 %60 42 51875
SYH2001 7891 205 30 22 234 049585 88(8973)  40408) 3800 598061 330 45 S-2001

A0 Rotary Cylinder

Table of Contents

@

72
D



SYHL

Open-Center Long-Stroke Hydraulic Cylinder

B Long-stroke high-speed 4 D [] \/ N D E
open-centered hydraulic cylinder
with built in lock and relief valves
4-Q1 W U vV
R1 At B1 Z Ti
4w BisTRoke 1 Vi L
P1
/]
I_ L -,
E \5 50 5’{’;} x é o w E al o] 5
Z| z| < 1 LS 1 ] = o = 5 =
Olvﬁsgmlw,, _Allic
— 0 v
Wi Y
6-E1 H
~
= ::: ? & . E-E
= l i
PT-1 o=
433 n:g
—
=N
Dimensions
--B-I--l--ﬂﬂ-I-l
SYHL-1246 M55x2.0 529 515 18 5 15

SYHL-1552 190 170 130 8 70 MeOx20 52 36 596 73 96 57 137 130 208 29 £ 59 25 5 12
SYHL-1877 215 190 160 120 9% M820 77 36 846 98 121 70 166 160 246 b 5 65 25 5 175
SYHL-2091 240 215 180 140 110 M100x20 91 34 996 108 138 79 182 18 273 0 0 75 25 5 2

SYHL-2816 290 M180x30 1665 30 1746 222 120 282 76
-II
SYHL-1246 1475 M6x9 M10X0 156 98 76 M5x10 PT12 M52x1.5
SYHL-1552 153 30 M6x9 MIOx20 162 110 8 47 15 55 85 4 Mex12 7 PT1R2 12 220 68 MS8x15 56
SYHL-1877 1695 35 M6x9 MIOx0 1825 155 101 47 15 80 108 4 Mexl2 7 PTIR 12 242 74 M0 g
SYHL-2001 188 35 M6xi4 M12x24 203 165 110 47 15 95 120 4 Mex12 7 PT12 12 267 8 M0 95
SYHL-2816 259 45 Méx12 MI16x32 276 256 162 47 20 170 200 4 Mex12 7 PT12 7 32 123 MI7320 1705
Specifications

ID.  [Diameter(mm) | STROKE(mm) push cm? pull om? push KNGkgf)  pull KN(kgf) Pr@sune'MPa(kgf/cm2 min-pm) | N'm?(kgfm?) kgf m|n Model
SYHL-1246 46 125 32 100 89 38(3875) 40(408) 7000 0.86(0.088) S1246L
SYHL-1552 52 155 A 161 150  60(6118) 56(5710) 4.0(403) 6200 226(023) 17 39 S-15521
SYHL-1877 687577 180 €0 198 183 7A(7546)  69(7036) 40(408) 4700 392(040) 268 42 S4875L
SYHL2091 91 205 50 252 234 94(9585)  88(8973) 4.0(4038) 3800 628(064) 41 45 S-2091L
SYHL-2816 1665 280 51 377 33 13(152) 100(10196)  33(336) 2000 325(331) 101 84  S2816L

s Certain models have several thru-hole sizes available, 3% Specifications are subject to change without notice,
3 The bore threading varies by model, H max represents the largest possible threading.

SAMCHULLY 71

@ Table of Contents | @

72
D




Y-R

Standard Closed-Center Hydraulic Cylinder

/ 4
U
- P ¥
m Closed-centered hydraulic cylinder W \_‘
T

with built in lock and relief valves

2M540 T N

/- PR A CYLINDER DIA.

B : STROKE

S 8
N8 T2
2-M5x10
R Na
Dimensions
16l clo el F]G a3 KL M N Praclomn] O R
YO715R 75 15 104 90 65 30 21 M20x25 35 172 106 66 127 46 31 6-M6x20 133
Y1020R 105 20 135 100 80 30 21 M20x25 35 197 108 89 152 45 25  6M10x20 158
Y1225R 125 25 160 130 110 35 25 M24x30 M4 205 108 97 160 51 26  6MI12x24 166
Y1530R 150 30 190 130 110 45 31 M30x35 45 214 108 106 169 56 26 12-M12x24 175
Y203BR 200 3B 245 145 120 55 37 M3Bx40 60 228 106 122 183 69 34 12-M16x30 189
Specifications
Piston Surface Area Piston Force i
YO715R 15 4 37 166(1693)  139(1417) 40(408) 08 . 01180012)  YAO715R
Y-1020R 20 86 79 20(3264)  29(2957) 4.0(408) 08 6000 71 049(0.05) Y-1020R
Y-1225R 2 12 13 4604692  42(4289) 40(408) 08 6000 10 088(0.09) Y-1225R
Y-1530R 30 176 160 66.0(6732)  60(6118) 4.0(408) 08 5500 135 186(0.19) Y-1530R
Y-2035R 35 314 200 1170(11934) 108(11013) 40(408) 08 5500 2 382(039) Y-2035R

s Total leakage pressure: 3.0 Mpa (30,6 kgf/cm2) at 50° C, 3« Specifications are subject to change without notice,

Rotary Cylinder

Table of Contents @

72
D




Y-RE

Closed-Center Hydraulic Cylinder with Proximity Switch (75mm-125mm)

B Closed-centered hydraulic cylinder VT (] v Nip -
with builtin lock and relief valves

and proximity switch

K P
H L M bl
— MIN.1 11 N
Vi — :
C B — E m‘ 2-PT% A: CYLINDER DIA.
- = i B: STROKE
% A== m R

=73 |\ Zo }_/ \

430 T g*

40 40 § ) ,{

& Mol 3|
PTYA
e
R >0
E'U
==
z >
IU
E—
=N
Dimensions

ST Te e T o e [P Lol w3kt [ wl nlpnalomn] o IR |S|T]
Y-0715RE 75 15 104 90 65 30 21 M20x25 32 227 161 66 127 46 31 6-M6x20 133 23 41
Y-1020RE 105 20 135 100 80 30 21 M20x25 35 252 163 89 152 45 25 6-M10x20 158 23 41
Y-1025RE 105 25 135 100 80 30 21 M20x25 35 257 163 94 157 45 20 6-M10x20 163 23 41
Y-1225RE 125 25 160 130 110 35 25 M24x3.0 44 260 163 97 160 51 26 6-M12x24 166 23 41
Y-1240RE 125 40 160 130 110 35 25 M24x3.0 44 306 194 112 175 65 25 6-M12x24 181 - -

Specifications
R ETERINED M Max. r.p.m weight GD? KITAGAWA
push  pul push pul min-i(rpm) | kof N-me(kgfm?) Model
om om? KN(kaf) KN(kgf)
Y-0715RE 15 44 37 16.6(1693) 13.9(1417) 4.0(40.8) 0.8 6000 45  0118(0.012) Y-0715RE
Y-1020RE 20 84 79 32.0(3264)  29(2957) 4.0(40.8) 0.8 6000 7.6 0.49(0.05) Y-1020RE
Y-1025RE 25 84 79 32.0(3264) 29(2957) 4.0(40.8) 08 6000 77 0.49(0.05)  Y-1025RE
Y-1225RE 25 120 113 46.0(4692) 42(4283) 4.0(40.8) 0.8 6000 105 0.88(0.09) Y-1225RE
Y-1240RE 40 120 13 46.0(4692)  42(4283) 4.0(40.8) 08 6000 1 0.88(0.09)  Y-1240RE

s Total leakage pressure: 3.0 Mpa (30,6 kgf/cm?2) at 50° C, 3« Specifications are subject to change without notice,

73
@ Table of Contents @

72
D




Y-RE

Closed-Center Hydraulic Cylinder with Proximity Switch (150mm-250mm)

B Closed-centerd hydraulic cylinder VD [] \V N[ =
with built in lock and relief valves
and and proximity bracket

[an

/'_' MIN.15 11 N

—PT?3 A: CYLINDER DIA.
2-PT% B : STROKE

T
|
==

MAX
S 11
'Y
o
5g:\ln ||“
45
M )
f

43 -
40 40
R
Dimensions
--B-E-II------EHII
Y-1530RE 150 M30x3.5 26 12-M12x24

Y-1550RE 150 50 190 130 110 45 31 M30x35 55 320 194 126 189 80 30 12-M12x24 195 -
Y-2035RE 200 35 245 145 120 55 37 M36x40 60 288 166 122 183 69 34 12-M16x30 189 28 46
Y-2050RE 200 50 245 145 120 55 37 M36x40 60 333 192 141 202 80 30 12-M16x30 208 -
Y-2560RE 250 60 305 220 160 65 44 M42x30 65 379 207 172 227 85 25 12-M20x35 233 -

Specifications

SP1I'SREDK,\||E F;zt:: s ShPiston e pul Maéreospsirraeﬁng Max‘. rp.m | weight ‘ ?Dz. . KITAGAWA

mm) p KN (k 9 KNG MPalkgfl ce) ; min-'(r.p.m) kgf N-mé(kgf-m2) Model

Y-1530RE 30 174 160 66.0(6732) 60(6118) 4.0(40.8) 08 5500 14 1.86(0.19)  Y-1530RE
Y-1550RE 50 174 160 66.0(6732)  60(6118) 4.0(40.8) 038 5500 14.8 1.96(0.20)  Y-1550RE
Y-2035RE 35 312 290  117.0(11934) 108(11013) 4.0(40.8) 0.8 5500 225 3.82(0.39)  Y-2035RE
Y-2050RE 50 312 200 117.0(11934) 108(11013)  4.0(40.8) 0.8 5500 235  412(0.42)  Y-2050RE
Y-2560RE 60 515 482 193(19541) 180(18289) 4.0(40.8) 0.8 2000 -

s Total leakage pressure: 3.0 Mpa (30.6 kgf/cm2) at 50°C. ¢ Specifications are subject to change without notice,

Rotary Cylinder

Table of Contents @

72
D




YS-RE

Ultra-Compact Closed-Center Hydraulic Cylinder

o -

W Built-in rotary union saves space and allows air-sensing capabilities

B Includes proximity brackets

- 30»

A : CYLINDER INSIDE DIA. i |

B : PISTON STROKE : ~
Y =
Tuwo
- - ocs8e8sg -
8
'

(Pull)
s

|

|

e
=3
=
e=
(&)
—

E

(Rotation Prevention TAP)

Dimensions
-IIEI-I!III-III-IEI-I
YS-11020RE 110 20 145 128 42 30 22 M20x25 30 15 135 125 20 169 M8x80 20

YS-12031RE 120 21 168 145 42 30 22 M20x25 30 15 135 125 17 60 39 78 57 20 192 M8x80 20

Specifications
PISTON Piston Surface Area Piston Force Max. Operating Pressure o Weight GD? KITAGAWA®
Ty | = MPagia) : ™ o | Nmekgtme) | Model
YS-11020RE 20 87.6 84 28(2855)  27(2753) 3.5(35.7) 1.2 6000 8.2 0.016
YS-12031RE 21 1057 102 39(3977)  38(3875) 4.0(40.8) 12 6000 10.2 0.028 -

# Specifications are subject to change without notice.

3% Total leakage pressure: 3.0 Mpa (30.6 kgflcm2) at 50°C.

3 Samcully Machinery Co., Ltd. is no longer an OEM manufacturer
for Kitagawa®Iron Works Co., Ltd.

SAMCHULL Y 75

............

Table of Contents @

72
D




Double-Piston Hydraulic Cylinder

=
Al

B Double piston cylinder -

B Actuate chucks with face drivers or parts ejectors

L]
L et
YD o YLIND
S1
) ——t EEHER
i \\J S
il ’ = &
Dimensions
---ﬂ--__---
DY-12520 160 6-M12 M20°® 1.5P M42°® 1.5P 178
DY-16030 200 80/110 100 52 30 6-M10 M24°® 1.5P M42°d 1.5P 181 371 359
Specifications

Piston Dia. Piston Area Piston Stroke Max. Opeating Max. Speed Weight GD?
(mm) (cm?) S1(Max/Min) S2(Max/Min) Pressure (kgf2/cm) (rp.m.) (kg) (kgf-m?)
DY-12520 125/85 102/46 56/41 36/11

40.8 5000 16.5 0.045
DY-16030 160/85 164/46 40/28 30/-5 40.8 3000 245 0.30

Rotary Cylinder

Table of Contents

72
D



AY-R

Closed-Center Pneumatic Cylinder

B Closed-Centered Pneumatic Cylinder NEUIN \ N D :.‘1;‘:/, ;
L G Max
0 2 K J H G Min
13 M
¢ ﬂ A:CYLINDER DIA. l
P FRLIE el
g el e
N - Oy =¢
il | P
= > o
\\‘ 6-Q _E =
o=
3-NxPO38 o« 3
—
=N
Dimensions
L [ AlBlCc D EMIFl gt (M) [ K LM N o | P
AY-1005R 100 5 128 0 65 20 30 5 5 53 70 123 79 M5 M6x11 M12x22

AY-1I315R 130 15 156 0 65 20 3B 20
AY-1I720R 170 20 200 100 80 25 65 45
AY-2225R 220 25 255 130 110 0 71 46
AY-2730R 270 30 305 130 10 3B 76 46

63 70 133 89 M5 M6x11 M12x22
82 70 152 108 M5 MIOx16 ~ MI16x30
93 70 163 119 M5 MI2x20  M20x35
103 745 1775 1335 M5 MI2x20  M24x40

o o1 o1 Ol

Specifications

PISTON

Max. Operating

Piston force

S i 2
STROKE Pressure Max. rp.m weight e

(mm) (5kgf/ cm2) MPa(kgfl cm?) min-'(r.p.m) kaf N-m?(kgf-m2)
AY-1005R 5 5152 41 0.07
AY-1315R 15 770 52 0.07
AY-1720R 20 2250 2201 1320 8 5000 83 011
AY-2225R 25 3780 3711 2230 8 4000 133 0.25
AY-2730R 30 5704 560.8 3370 8 3000 187 0.75

s« Total leakage pressure: 3.0 Mpa (30.6 kgf/cm2) at 50° C, ¢ Specifications are subject to change without notice,

SAMCIHUL LY 77

@ Table of Contents | @

72
D




N2

.
o

STEADY
RESTS e

STA (Self-Centering Steady Rest) 80.
STRA (Wide-Opening Self-Centering Steady Rest) 82.

72
D




STA

Self-Centering Steady Rest

B Improves machining accuracy by supporting
unstable, heavy or long workpieces

B The arms and center rollers are interconnected and
designed to self-adjust to various size workpieces

B The mechanical design improves durability
by eliminating the need for springs

LUBRICATION PT1/8 o
0 PT1/4 @ ’
o © o €
‘ S B A—
p /[j‘x @ s /’/\\\
/ ‘ \
@ \ @ /’/ ‘ /// ‘\\ =
i |/ L2
A R G = w|g|of e ——— I S — \ — I
\ \ —rS /
B | @ = 5 \ )y /
& N e —— ® v
HE===EH—— S < __ —
@ n w
i &
— T
D ®
B

STROKE CONTROL SENSOR

| o

e
Dimensions
--IEI-IEI--I-II-II-IHII--
STA-0464-1 207 137 132 50.5

STA-0810-2 2795 195 70 8 170 19 70 70 33 42 35 19 35 21 845 102 72 75 74 14 B2
STA-1215-3 431 312 115 135 262 290 85 100 37 52 45 25 47 25 120 137 90 100 119 18 85
STA-2016-3.1 440 320 123 135 262 290 85 100 37 52 45 25 47 25 120 137 90 100 124 18 93
STA-5020-3.2 455 335 138 135 262 290 85 100 37 52 45 25 47 25 120 137 90 100 139 18 103
STA-3024-4 608 448 146 240 365 400 110 144 37 67 60 25 52 32 160 165 102 110 172 23 128
STA-4531-5 6975 510 178 270 400 440 145 144 37 83 75 29 62 36 1875 165 102 110 209 23 160
STA-8535-5.1 7175 530 198 270 400 440 145 144 37 83 75 29 62 36 1875 165 102 110 229 23 180
STA-2546-6 9445 709 215 330 640 680 145 158 37 83 75 29 80 42 2355 190 115 130 290 27 175

80 BEEELAESS
@ Table of Contents @

72
D




Fixed or Travelling Applications

Fixed Tandem Steady Rest

Travelling Steady Rest Fixed Steady Rest For End Machining B

Specifications
- Max. Clamp Force Max. Roller Sulrface Centering Repeatability
(cm?) / Roller (kgf) Max/Min (bar) Min Max Speed (m/min) Accuracy (mm) | Accuracy (mm) ()
STA-0464-1 7 100 6/50 4 64 800 0.02 0.005 6
STA-0810-2 19.6 450 8/70 8 101 800 0.02 0.005 14
STA-1215-3 50 1000 8/60 12 152 725 0.04 0.007 39
STA-2016-3.1 50 1000 8/60 20 165 725 0.04 0.007 40
STA-5020-3.2 50 1000 8/60 50 200 725 0.04 0.007 43
STA-3024-4 78 1500 8/60 30 245 715 0.05 0.007 92
STA-4531-5 78 2000 8/80 45 310 700 0.06 0.01 152
STA-8535-5.1 78 2000 8/80 85 350 700 0.06 0.01 155
STA-2546-6 132 3000 8/70 125 460 700 0.06 0.01 420

SAMCIHUL LY 81

@ Table of Contents @

72
D




B Improves machining accuracy by supporting
unstable, heavy or long workpieces

B The arms and center rollers are interconnected and
designed to self adjust to various size workpieces

B Improves durability by eliminating the need for springs

B The wide opening arm of the STRA series facilitates the loading and
unloading of components and makes automation possible

LUBRICATION PT1/8 0
@*'”* I PT1/4 10~ ’*
o © ¢ | *
- i
@ @ L@‘J —
o w|glo
lle | ® o ’
& @ T == ]
‘@ [ & gy \
- —
‘ I T
G D G
H B
A
STROKE CONTROL SENSOR
N
= 0
—rﬂm ( [ jx i
=3 . E
o
Dimensions
[ AfBlclolElFlGIHlI[ulKILIMINIO P PlP3lRIS]T]Z]
STRA-0452 207 137 51 64 118 132 5 70 33 24 20 12 19 6 70 8 66 66 505 11 37 265

STRA-0880 2795 19 70 85 170 190 70 70 33 42 35 19 35 21 845 102 72 75 74 14 52 4
STRA-1213 431 312 115 135 262 290 85 100 37 52 45 25 47 25 120 137 90 100 119 18 85 66
STRA-2215 440 320 123 135 262 290 85 100 37 52 45 25 47 25 120 137 90 100 124 18 93 76
STRA-3022 608 448 146 240 365 400 110 144 37 67 60 25 52 32 160 165 102 110 172 23 128 111
STRA-5026 6885 510 178 270 400 440 145 144 37 83 75 29 62 36 1875 165 102 110 209 23 160 135
STRA-6046 9445 709 215 330 640 680 145 158 37 83 75 29 80 42 2355 190 115 130 290 27 175 230

82 BECAESS
@ Table of Contents @

72
D




Specifications

Piston Area
(cm?)
7

STRA-0452
STRA-0880
STRA-1213
STRA-2215
STRA-3022
STRA-5026
STRA-6046

19.6
50
50
78
78
132

Max. Clamp Force
/ Roller (kgf)

450

1000
1000
1500
2000
3000

I STA

Conventional model

I STRA

The wide opening arm of
the STRA steady rest
makes vertical loading and
automation convenient

Operation Pressure | _Centering Range (mm)
Max/Min (bar) Min Max
4 64

6/50

8/70 8 101
8/60 12 152
8/60 20 165
8/60 30 245
8/80 45 310
8/70 125 460

Max. Roller Roller surface
Speed (m/min)

800
725
725
715
700
700

Centering

Accuracy (mm)

0.02
0.02
0.04
0.04
0.05
0.06
0.06

Repeatability

Accuracy (mm)

0.005
0.005
0.007
0.007
0.007

0.01

0.01

(kg)
6
14
39
40
92

152
420

Table of Contents

SAMCIHUL LY

cccccccccc

83

72

I



/\‘

NC ROTARY
TABLES @

4th Axis Type 5th Axis Type
S-120F2 86. TR-120FF (Tilting NC Rotary Table)  98.
S-170F2 87. TR-200FF (Tilting NC Rotary Table)  99.
S-200F4 88. TR-250FF (Tilting NC Rotary Table) ~ 100.
Controller Type
S-250F4 89. TR-120 (Tilting NC Rotary Table) 101.
S-250F8 90. i Type
S-320F8 o1. MS2-170 (Multi NC Rotary Table) 102.
S-430F22 O2. Direct Drive Motor Type
S-515F22 o3. DM-260 (Direct Drive Motor) 103.
S-650F22 94 NeoCon Controller
c NeoCon 104.
ontroller Type
$-120 o5 Accessories
) TS (Tail Stock / Manual Type) 108.
S-170 95. TS-A (Tail Stock / Air Type) 109.
S-200 96. SP-C (Tail Spindle / A Clamp Type) ~ 110.
S-250 96.
$-320 97 Accuracy 111.
Technical Information 112.
Installation 113.

Table of Contents @

® R

N




S-120F2

4th axis NC Rotary Table

B High Clamping power W

B High Precision, High Speed Systems
W Vertical & Horizontal available

B Compact Design

B Extremely Rigid Body

Model No.  S-120 F2
; Servo Motor
Servo Motor Maker

Table Diameter
TYPE : Single Spindle NC Rotary Table(Standard)

Table diameter | Center height Resister diameter Spindle through a hod Allowable work | Clamp torque
(mm) (mm) on face plate hole diameter (mm) B EENS inertia (kgm?) (N.m)

* Servo Motor Brand (Table :option)
@124

120 @60H7 @30H8 Pneumatic 0.22
AC Servo Motor is ABSOLUTE Type

F : FANUC Max.spindle . Repeatability Indexing accuracy o Servo motor
M : MITSUBISHI )
P : PANASONIC 50 1/60 4 20 30 @i F2/5000
Y : YASKAWA .
L : LS MECAPION i
3SY: SANYO Horizontal Vertical F(kN) F x L(N.m) F x L(N.m)
FA : FAGOR I L L
0 : OKUMA t_EEI = -

!

120 60 8 350 150 180

196 135 TAIL SF;LINI%)/LAE

=5~
A e 52
l o I I - o n H
5|88 25 Sl 1S3
sy s — =

B i
4-M10 80 |, 70

2m8 | 70 70

Table of Contents @

72
D




S-170F2

4th axis NC Rotary Table

B High Clamping power W ~ |

B High Precision, High Speed Systems

B Vertical & Horizontal available
B Compact Design
B Extremely Rigid Body

Model No. S-170 F2
T ; Servo Motor

Servo Motor Maker

Table Diameter
TYPE : Single Spindle NC Rotary Table(Standard)

Table diameter | Center height Resister diameter Spindle through | hod Allowable work | Clamp torque
(mm) (mm) on face plate hole diameter (mm) Slampimetio inertia (kgm?) (N.m)
*Servo Motor Brand
@175 140 @60H7 @40H8 Pneumatic
AC Servo Motor is ABSOLUTE Type
Max.spindle . Repeatability Indexing accuracy . Servo motor
S : SIEMENS .
M : MITSUBISHI 416 /72 4 el 40 Gl Ly
P : PANASONIC "
Y : YASKAWA Allowable load (kg) Alla)\lxr/;tl:'lae(’c\‘urtél)ng
H : HEIDENHAIN .
L: LS MECAPION Horizontal Vertical F(kN) F x L(N.m) F x L(N.m)
SY: SANYO § L . K j
FA : FAGOR t_[-ﬂ] = gﬂ ©)
0 : OKUMA w
160 80 10 600 310 220
S-170F2
157 TAIL SP\PI\RL/E
=i
=
ol F| 2| 21 e I
- slglel 180 — —_[ofe

alg /

4—M10J = ‘ -

956
—
e | @
i ’,:1‘:’,* a
'

145
110

15

3Q | 30
6-M10 55 55
90 60

SAMCHUL LY 87

@ Table of Contents @

72
D




S-200F4

4th axis NC Rotary Table

m High Clamping power W R | — iy —:...---*"

B High Precision, High Speed Systems 1 g—— .
W Vertical & Horizontal available L] ‘

B Compact Design

B Extremely Rigid Body

Model No. S-200 F4
1T ; Servo Motor

Servo Motor Maker

Table Diameter
TYPE : Single Spindle NC Rotary Table(Standard)

Table diameter | Center height Resister diameter Spindle through a hod Allowable work | Clamp torque
(mm) (mm) on face plate hole diameter (mm) EID e inertia (kgm?) (N.m)

* Servo Motor Brand
2210 170 @75H7 @45H8 Pneumatic 0.8 350
AC Servo Motor is ABSOLUTE Type

Max.spindle . Repeatability Indexing accuracy . Servo motor
S : SIEMENS X
M : MITSUBISHI 333 1/90 4 20 60 @i F4/4000
: PANASONIC
P . Allowable cutting
Y : YASKAWA Allowable load (kg) torque (N.m)
H : HEIDENHAIN :
L: LS MECAPION Horizontal Vertical F(kN) F x L(N.m) F x L(N.m)
SY: SANYO I L L ‘
FA: FAGOR t_fﬂ] = : I@l
QO : OKUMA M
200 100 17 1100 350 270
S-200F4
4631 i e TAL SPINDLE
-

45 H8

.,.
2210
975 HY,

A i 105 | 95

96,2

88 B EAE
@ Table of Contents @

72
D




S-250F4 e

n

4th axis NC Rotary Table

m High Clamping power W '. e - = " —

B High Precision, High Speed Systems = T
W Vertical & Horizontal available L

B Compact Design

B Extremely Rigid Body

OF4

; Servo Motor
Servo Motor Maker

Model No.

Table Diameter

TYPE : Single Spindle NC Rotary Table(Standard)

Table diameter | Center height | Resister diameter Spindle through a hod Allowable work | Clamp torque
(mm) (mm) on face plate hole diameter (mm) SIRIIELC inertia (kgm?) (N.m)
185 600

@240

* Servo Motor Brand
@105H7 @70H8 Pneumatic 1.95
AC Servo Motor is ABSOLUTE Type

Max.spindle . Repeatability Indexing accuracy . Servo motor
S : SIEMENS ;
M : MITSUBISHI 333 1/90 4 20 90 @i F4/4000
P : PANASONIC n
Y : YASKAWA Allowable load (kg) All&‘";’gEI:fNur::')ng
H : HEIDENHAIN :
L: LS MECAPION Horizontal Vertical F(kN) F x L(N.m) F x L(N.m)
SY: SANYO I g}él L
FA : FAGOR e t_l;ﬂ : % j §|
0': OKUMA : =
250 125 21 1600 600 480
TAIL SPINDLE
<—j180 PT 1/4

24] 35 | [30

¢ 240
2105 H7
0 /0Hg
h I h
|
[ —i

970 H8

4,M12J 120 | 100
972
\
o o Us
)
29 )8 | &)
e BE—
o & | (119 i
/ 110 _od] 105 ]
6-M127| g9 |3pla0]. 100

@ Table of Contents @

72
D




S-250F8

4th axis NC Rotary Table

B High Clamping power W

B High precision, High Speed Systems

W Vertical & Horizontal available
B Compact Design
B Extremely Rigid Body

Model No. S-250 F8
; Servo Motor
Servo Motor Maker

Table Diameter

TYPE : Single Spindle NC Rotary Table (Standard)

Table diameter | Center height Resister diameter Spindle through | hod Allowable work | Clamp torque
(mm) (mm) on face plate hole diameter (mm) Clamp metho inertia (kgm?) (N.m)
*Servo Motor Brand
2240 185 @105H7 @70H8 Pneumatic 12 600
AC Servo Motor is ABSOLUTE Type
Max.spindle . Repeatability Indexing accuracy . Servo motor
S : SIEMENS
M : MITSUBISHI 333 1/90 4 20 92 aiF8/3000
P : PANASONIC -
Y : YASKAWA Allowable load (kg) A”;)grvgs‘lee&urt;l)ng
H : HEIDENHAIN .
L: LS MECAPION Horizontal Vertical F(kN) F x L(N.m) F x L(N.m)
SY: SANYO [ . L ]
FA : FAGOR I;_[_ﬂ] = ; I@l E
0 OKUMA [ ] v
250 125 21 1600 800 600
S-250F8
543 1 TAIL SPINDLE
135 155 245 180 PT 1/4
1
= |

d ‘ =
@ 240
5105 H7
o P
B 4
|

4 70Hg

.

[

\

T

\

|

\

1

|
970 H8

24| 35 30

320

185

Ko

4-M12

‘ 972
E o Te
U2y

29 g | B © @
g8 o) g | &> /

e ~ 5 [T
19 ¢ & [#] 4

/] 110 ] __i2 105 |

-M12 80 307 3 100

90 B ERAEE
@ Table of Contents @

72
D




S-320F8

4th axis NC Rotary Table

m High Clamping power W

W High precision, High Speed Systems

B Vertical & Horizontal available
B Compact Design
B Extremely Rigid Body

Model No. S-320 F8
; Servo Motor
Servo Motor Maker

Table Diameter
TYPE : Single Spindle NC Rotary Table (Standard)

Table diameter | Center height | Resister diameter Spindle through a hod Allowable work | Clamp torque
(mm) (mm) on face plate hole diameter (mm) B[R (=D inertia (kgm?) (N.m)

@310 22

*Servo Motor Brand
@130H7 @105H8 Pneumatic 4.49 1200
AC Servo Motor is ABSOLUTE Type

5
Max.spindle . Repeatability Indexing accuracy A Servo motor
- FANUC speed (mm) CEpERE accuracy (sec) (sec) Net weight (ko) (FANUQ)
4 20 140

F
S : SIEMENS .
M : MITSUBISHI 25 1/120 ai F8/3000
P : PANASONIC nam—. :
Y : YASKAWA Allowable load (kg) owa ecNuttmg
H : HEIDENHAIN torque (N.m)
L: LS MECAPION Horizontal Vertical F(kN) F x L(N.m) F x L(N.m)
SY: SANYO I L L (“{
FA: FAGOR t_[_ﬂ] = g I@l @)
0 : OKUMA b
350 180 25 2400 1200 800
S-320F8
593.1
170 ‘ 180 110 | 125 210 TAIL SPF|#D1L/§
- g
3 E: E
o T2 o
o 88 ft—-T"—"—7TT|3
& Ssal 125 40 140 |3
<
Ry -M12 =i
=
8w [
2-M12)
96.2
Eag
&) /
D
B
145 I
120

SAMCHUL LY 91

@ Table of Contents [N @

72
D




S-430F22

4th axis NC Rotary Table (Big Bore Type)

&

a———

B High Clamping power (Hydraulic) S_SERIES I

B High Precision, High Speed Systems
B Vertical & Horizontal available

B Compact Design

B Extremely Rigid Body

B Large Through Hole Model No. S-430F22

L Servo Motor
Servo Motor Maker

Table Diameter

TYPE : Single Spindle NC Rotary Table (Large)

Table diameter | Center height Resister diameter Spindle through a hod Allowable work | Clamp torque
(mm) (mm) on face plate hole diameter (mm) dMpiMetio inertia (kgm?) (N.m)
@432 283 @220 2194 Hydraulic 10.67 2500
Max.spindle . Repeatability Indexing accuracy . Servo motor
25 1/120 4 20 340 aiF22/3000
Allowable cutting
Allowable load (kg) torque (N.m)
Horizontal Vertical F(kN) F x L(N.m) F x L(N.m)
F L
g &5 4 Q
f m
500 250 32 5000 2500 1700
S-430F22
266 1032 231
&
el )]
37 60 60
SRS
(v, <= T " 7 - 1S
- EEE
@
Ca )
— N
)
17 B
o 8 ose o 4
| V4
? Q{ - © g "
S b
i O ﬁt ( ) +
S I
E-M16 200 B 780
T ¢

O2 B ERAEE
@ Table of Contents @

72
D




S-515F22

4th axis NC Rotary Table (Big Bore Type)

B High Clamping power (Hydraulic)
B High Precision, High Speed Systems
B Vertical & Horizontal available

B Compact Design

B Extremely Solid Body

M Large Through Hole

S-515F22

S-SERIES Ik

Model No.

S-515F22
L Servo Motor

Servo Motor Maker

Table Diameter

TYPE : Single Spindle NC Rotary Table (Large)

Table diameter | Center helght Resister diameter Spindle through a thod Allowable work | Clamp torque
(mm) (mm) on face plate hole diameter (mm) cluRlul=) inertia (kgm?) (N.m)

@518

Max.spindle
speed (mm')

25

Horizontal

600

335

@290 2264 Hydraulic 19.97 3200

Repeatability Indexmg accuracy Servo motor
N ht (kg)
Gear ratio o 9 et weight (kg) (FANUC)

1/120

Vertical

5U

300

i F22/3000

Allowable load (kg) Allowable cutting

torque (N.m)
F(kN) F x L(N.m) Fx L(N
r =5 @ o)
50 8000 3200 2600

1016

9518
0290
9270

B N
W

Y

N
1 i
N té
b i
Eﬂ=‘ﬁl

Table of Contents [ @

72
D



S-650F22

4th axis for NC Rotary Table (Big Bore Type)

B High precision, High Speed Systems S SERI ES
B Vertical & Horizontal available R ,
B Compact Design
B Extremely Rigid Body
B | arge Through Hole
Model No. S-650F22
L Servo Motor
Servo Motor Maker

Table Diameter

TYPE : Single Spindle NC Rotary Table (Large)

Table diameter | Center height Resister diameter Spindle through a hod Allowable work | Clamp torque
(mm) (mm) on face plate hole diameter (mm) B M2 inertia (kgm?) (N.m)
2656 410 @400 @372 Hydraulic 33.07 4000
Max.spindle . Repeatability Indexing accuracy . Servo motor
25 1/120 4 20 800 i F22/3000
Allowable cutting
Allowable load (kg) torque (N.m)
Horizontal Vertical F(kN) F x L(N.m) F x L(N.m)
F L
]l 5 & &
f =
1000 400 70 10000 4000 5000
S-650F22
1051.6
355 350 245 ‘ 101.6 330
¥ o &
D 530" 7
== B r——— 15
s|al g 1=
/
1T LI I % I Il
100 ), 100 | 100 |, 100 |50 |
‘ 318 318 ‘ ®
17 * ?
HH 33

° Jﬁ& RN | |

o
®
—
|

T
( 7 JJ#[ )
oA o Me @ Afe o
2 le esle dl
* lows 25 8 260 |
Lo}
E!—Iﬂ

2V NC Rotary Table
@ Table of Contents @

72
D



S-120,170

Controller type for NC Rotary Table

B High precision, High Speed Systems S SER I ES {\ - =

W Vertical & Horizontal available
B Compact Design
B Extremely Rigid Body

Model No. S-120

Table Diameter
TYPE : Single Spindle NC Rotary Table (Standard)

146 52 135

23048
|
B
|
I
]
T
@30H8

2124
260H7
|

6-M10

w

2-M8 — 70 70

410
138 52 157
L
o 4 - K3 &
6-M5 &- °
. - 3
~| coi = L
B2 g 6 & PRI
sl8|e 30 30] N 9
Sle @A’I.E’ °
[5e)
t3-M10
+ o
a -
| TR |
el o [ ] 85 85
70 70 4-M10
2-M10

SAMCIHUL LY 95

@ Table of Contents | @

72
D




S-200,250

Controller type for NC Rotary Table

B High Precision, High Speed Systems S SERI ES

W Vertical & Horizontal available
B Compact Design
B Extremely Rigid Body

Model No.  S-200

Table Diameter
TYPE : Single Spindle NC Rotary Table (Standard)

120 125 140 52 173

0210
875 H7
[
.
"
(e |
@ 45|H8
£
RN
@
<
0
2
@
90

945 H8

] o
= 3-M10 @
R -+ o |
_ / ! i
&l f L H &l H |
=) J o [[]18h7 anio] 105 9%
2M10 — =0 -

168
135

120 52 180

115

9 240
2105 H7
970 H8
|
)
R
w
a
w
(=}
® 70 H8
t

320

1156

185

—3-M12

P
g | [} ‘
iz § avip— 120 100
730 155 p bl

i
B )8 @ B |
bl
© 5| [9) 4
emizdl_ 110 Jod] 105 ] E
80 30/ 30 100

(2]3¥ NC Rotary Table
@ Table of Contents @

72
D



S-320

Controller type for NC Rotary Table

B High Precision, High Speed Systems S SER I ES

B Vertical & Horizontal available
B Compact Design
B Extremely Rigid Body

Model No. 8-320
T 1

TYPE : Single Spindle NC Rotary Table (Standard)

Table Diameter

110 52 21

395
0310
9130 H7
0105 H8
¢ 105 H8

25 40 40

225

2-M12

S te}

2-M12 ~

200
165

¥ 130 145
L2 150 30) 120

SAMCHUL LY 97

@ Table of Contents | @

72
D



TR-120FF

5th Titing NC Rotary Table

m Compact Tilting Series m

m High Precision, High Speed Systems
B Convenient JIG Design

B Compact Design

B Extremely Rigid Body

Model No. TR-120FF
I

Servo Motor Maker
Table Diameter

TYPE : Tilting NC Rotary Table

Table diamet Center height Resister diameter Spindle through Allowable work .
e e(n:rann)\e < (mm) on face plate hole diameter (mm) Clamp method inertia (kgm?) Net weight (kg)
*Servo Motor Brand (Table : option)
@130 150 260 @32 Hydraulic 0.06 110
Max.spindle G i Repeatability Indexing Clamp Torque Servo motor
F: FANUC speed (mm) €arratio accuracy (sec) accuracy (sec) (N.m) (FANUC)
S : SIEMENS Rotating Axis 33.3 1/90 4 30 120 aiF2/5000
lh:ﬂj F’iﬂﬁ%@ﬁ% Tilting Axis 16.6 1/180 4 60 200 @i F2/5000
. Allowable cutting Moment of tilting
L :l LS MECAPION Horizontal Vertical F(kN) F x L(N.m) Fx L(N.m) W x L(kgf.m)
SY : SANYO I L - H:
FA : FAGOR t_fﬂ] ﬁ . E [
O : OKUMA w
35 20 4 200 120 190 10
* Tilting Range / -20° ~ 110°
TR-120FF
125 1032
6-M8 £
Eq. Sp. Apart 60"y _ 37T M5
o o s L ——TTmds
S %QBAIRFOSE 8 9I5| {rE =09
0| = g 8
| ~ 8-M6 e
- 3 o 3.1
@ Eq. Sp. Apart 45 6.5 6M5
0|3 = -
Y s i slo|S)
hd hd T T T/ T fl
= 845 82 Belached Table : Standard J
2 1:",01/-m ched Table : Pption) . ToTTmemmTmemTT T
< 0995
% ‘ 28 AIR HOSE
B | | I ‘
g [ 1 g A
T | &
8 & \
8 " e 4 &? 8 N
I i
<l T
— . 4):
&f . O} |
* o
@ 103 1
200 1407 163 172 2751 z
525 421

O8 B ERAE

@ of Contents @

72
D



TR-200FF

5th Tilting NC Rotary Table

® High Precision, High Speed Systems

B Convenient JIG Design
B Extremely Rigid Body

Model No.  TR-200FF
L

Servo Motor Maker

Table Diameter

TYPE : Tilting NC Rotary Table

Tabl d t Centerhelght Resister diameter Splndlethro h AIIowabIe work
*Servo Motor Brand (Table : option)
2200 @45 Hydraulic
Max.spindle G i Repeatability Indexing Clamp Torque Servo motor
F : FANUC speed (mm) €earratio accuracy (sec) accuracy (sec) (N.m) (FANUC)
S : SIEMENS Rotating Axis 333 1/90 4 30 ai F4/4000
M : MITSUBISHI - . .
Tilting Axis 16.6 1/180 4 60 800 aiF4/4000
P : PANASONIC
Y : YASKAWA All ble load (ki Allowable cutting Moment of tilting
H . HEIDENHAIN owable load (kg) torque (N.m) weight capacity
L: LS MECAPION Horizontal Vertical F(KN) F x L(N.m) F x L(N.m) W x L(kgf.m)
SY: SANYO IF L L
FA: FAGOR t_fﬂ:l = : E} r
O : OKUMA w
5 800 450 250 12

* Tilting Range / -20° ~ 110°

TR-200FF

152 1032 I
ols|T
Sal 29 ]
o siolSl's
3 i
- 2
&| [TILTING CLAMP PORT gI
PT 1/4 (HYD))
\ ROTATINIG| CLAMP PORT
\PTW/A(HY ) 1M2 -
Attached Table : Optlon !
Ol o\ v’: 1
. o gy TR e
~ < 20
@)
R 7
o
. PR N - =
3R — T g]%
g ‘g 1=y Sy S
- -PT 1/8
HYD, OUT PORT
4—M10/L_€10_“_30_J

e : Option)
135

122 110
» 200 (Attdched Table - Oftion)
g ) ég 5 i
o ml L
i \ \ \ o
g Il
o [ 1]
| ™ g
(&) ]
ol 1 m— 1 O r e
ol o= 2
& 4 | o
8 i =
af Nf
| 300
2655 Al1g 915 1215 =
6085

SAMCIHUL LY 99

@ Table of Contents | @

72
D




@

-

TR-250FF

5th Axis for Tilting NC Rotary Table

B Tilting Series

® High Precision, High Speed Systems
B Convenient JIG Design

B Extremely Rigid Body

Model No.

Table diameter Center height
(mm) (mm)
*Servo Motor Brand (Table :option)
@240 225
Max.spindle
F: FANUC speed (mm)
S : SIEMENS Rotating Axis 333
M : MITSUBISHI Tilting Axis 166
P : PANASONIC
Y : YASKAWA
H : HEIDENHAIN
L : LS MECAPION Horizontal Vertical
SY: SANYO “
FA : FAGOR t_l;ﬂ]
O : OKUMA w
100 60

TR-SERIES |

TR-250FF
I

Servo Motor Maker

Table Diameter

TYPE : Tilting NC Rotary Table

Allowable work
inertia (kgm?)

Resister diameter
on face plate

Spindle through
hole diameter (mm)

Clamp method

Net weight (kg)

@100 @70 Hydraulic 0.78 295
. Repeatability Indexing Clamp Torque Servo motor
1/90 4 900 a 4/4000/
1/180 A 60 1200 @ 4/4000;
Allowable cutting Moment of tilting
Allowable load (kg) torque (N.m)

F(kN) F x L(N.m) F x L(N.m)

I gk . @ wl IF
BN J [ ]

12 1200 900 600 26

* Tilting Range / -20° ~ 110°

TR-250FF

3-M12
156 1032 AR PURGE Eq. Sp. Apart 120
=
V) 9
@
/ S 4
S [~ 88 L1
& [TILTING CLAMP PORT S|El g
PT 1/4 (HYD)
\ ROTATING CLAMP PORT
\—PT444HYD ) ‘é?fﬂ;
o # @ o) 2
= E Q9 12 =
°lg 3 S (e Tan oo
ks @ g 5= ‘Atlache Table : Opnonw
ol o T
20 o
- — 75 .
8 i [te} 0} |
. N 3|9 R W 4-M10
= os \1 S|
T T T T T
= 1 Detached Table : Standard J
S T T T
a8
8 142
= % 240 (Attact]e Table : Option) M8 o ‘
< ’.7'5 40_5_.‘ 2 = HYD. INPUT PORT-
2 : ] I [ &
5
= & \
3|~ 3} BT # ‘
g o
,,,7($ | I — - RS S S Q —— PR
o ur\) #
O] = ~ i
(] | @
e 4 |
l i
8 ([ ) 3
g A ]
18 h7 o,
209 o hH8 255 1285 |2 1525 41305 ‘
6775

100 B EWAE

Table of Contents

@

72
D



TR-120

Controller type for Tilting NC Rotary Table

B Compact Tilting Series m

B High Precision, High Speed Systems
B Convenient JIG Design

B Compact Design

B Extremely Rigid Body

Model No. TR-120

Table Diameter

TYPE : Tilting NC Rotary Table

125 58
— 6-M8 3
Eq. Sp. Apart 60"\é 6-M5
o ==
8 28 AIR HOBE 9 B [ I — ’§1<f88
é ols| Jeslelis 4% 5|
o 17 a 4s
=)
a
O Ll
3 S \ !
1 S e e
2 & &
8-M6
Eq. Sp. Apart 45
I g S
(= (= 0
- A &l
S Q[
s|Q)
[a8
¥ Y
845 82
— )
@ 130 (Atfache Table : Option) | Detached Table : Standard J
9199 5 —
k)
o0 — |
&y — I
S | \
2 i
=R
©lo | —
S 3 M
N~ T T T B o)
8 o b O g
. E j !
('] T
—_— B o 8 AIR HOSE
&f s }
¥ o
e Lkmm 103 117
200 153 115 275
468 388

SAMCIHUL LY 1 01

@ Table of Contents | @

72
D




V2
|

2N

\

MS2-170

Multi Spindle NC Rotary Table

B Doubles production output
B |deal for balanced work-pieces

Model No.

— ¥

MS-SERIES il

MS2-170

——— Table Diameter
Axis
——— TYPE: Multi Spindle NC Rotary Table

Table diameter | Center height Resister diameter Spindle through Allowable work | Clamp torque
(mm) (mm) on face plate hole diameter (mm) Clamp method inertia (kgm?) (N.m)
*Servo Motor Brand
@175 140 @60H8 @40H8 Pneumatic 0.51 310
(Table : option)
Max.spindle . Repeatability Indexing accuracy .
S : SIEMENS
M : MITSUBISHI 333 1/90 30 85
P : PANASONIC AT
. owable cutting
II.. ;{é%léﬁﬁ_ﬁw Allowable load (kg) e
L :. LS MECAPION Horizontal Vertical F(IEN) F x L(N.m) F x L(N.m)
SY: SANYO ! ik -
FA : FAGOR t_[-ﬂ] = £E| O
0O : OKUMA w
160 80 10 600 176 300
* Tilting Range / -20° ~ 110°
MS2-170
635
160 50 TAIL SPINDLE
PT 1/4
c3
| 3
% J | B
I ) =
g
&2
= ,
12 6-M10/
3 210 210 =
o 189
136
" TABLE T-HOME *
©
o=t
8 A ,]2 o §El'—— , ,,,,,,,, e 2
©|a < N|=
L | ls JEC TS T S =
8-M10 ﬂ:
© ©
_:14
[ AtachedTavle | ' "D;chédi'l'at;\éil
(R, _— - . __

102 B EWAE

Table of Contents

72
2D

@



2N

N

e | @
i

DM-260

Direct Drive NC Rotary Table

B Max. Table speed 200min™
m High Precision indexing system

(With DD Motor)

m Vertical & Horizontal available

® Compact Design
m Extremely Rigid Body

B Yaskawa Direct Drive
Mountain Motor

Model No.

DM-SERIES

DM - 260

Table Diameter
TYPE : DD Type NC Rotary Table

Resister diameter Spindle through Clamptorque
Table diameter (mm) | Center height (mm) hole diameter (mm) Clamp method

@258

Max.spindle G .
speed (mm-) ear ratio

@35 Pneumatic

Repeatability Indexing accuracy Allowable work X
accuracy (sec) (sec) inertia (kgm?) Net weight (kg)

Allowable cutting

204

43

Allowable load (kg) torque (N.m)
Horizontal Vertical F(kN) F x L(N.m) F x L(N.m)
=l ! le]
f = E@ @
70 35 5.5 51
2435
1303 Fz_e_(
\\
gad S
o EEEH T
& = ]
3
18 18 8
p
-4 &
\
|
| mi2
% faR
‘ 1‘76 J ?T
200
240
=A'VICI—|ULL-|-'

of Contents

103

@

@

72
D



@

-

NeoCon

Samchully Neo-Con Controller

® NeoCon Series : 1 axis
B Minimum setting unit: 0.001°
® 100ch 4,000 Block

Ease of use

- Programmable using standard G-codes
- Offers various parameters for convenience

- Zero point adjustment, manual control and various
modes including edit(compilation) function

Special Features

- LCD allows display of diverse characters

- Line by line programing is displayed

- Capable of storing 90 channels

- A program may contain up to 10,000 blocks

Interfacing

- May use as an individual unit

- Ability to store part-specific programs; reduces setup time
- Compatible with drilling/tapping machines and horizontal

and vertical machining centers

Multi-modal function

- Auto
Executes line by line upon receipt of start signal

- Manual Control
Rotates the table manually

- Edit
Inputs and edits programs

- Parameter
Checks and sets parameters

- Single
Operates the controller independently

104 B EWAE

m AUTO
® MANUAL
B SINGLE Channel Axis Angle
Screen Display
® EDIT Channel Axis G address A address
D address J address
® PARAMATER

Parameter No, Parameter Setpoint

Parameter Message

Table of Contents

@

72
D



Specifications and Functions

Controlled axes

Program Capacity

Servo Motor Specification
Setting Unit

Max. setting angle
Programmable capacity
Command Method

Zero position return
Manual Feed

Emergency Stop
Halt

Feedrate override

Preparatory function

Jump to subprogram
Software limit function
Over travel stop function
Pitch error compensation

Backlash

Alarm function

Self-Diagnosis Function

Input Power
Apparent Power

Net Weight

Environment

Display
Optional Port

External Input Signal

External Output Signal

1 axis

Backup with EEPROM (100,000 input memory)

AC servo motor with absolute encoder

0.001°

999-rotation + 360° (+¢999.999° )

4000 Block (100 channels)

ABSOLUTE/INCREMENTAL methods (Choice between G90/G91)
Zero and zero point return

Rapid traverse, slow speed feed and step feed

Emergency stop button or forced servo stop by external interlock input and master stop
Halt of rotary table by key input or external SP input

Settable 1 to 100% (can be notched 1 to 100%)

DWELL, LEAD CUTTING, BUFFER FUNCTION, CLAMP PRESENCE, DEVIATION CHECK FUNCTION,
INTERLOCK START, CONTINUOUS START, MZRN, WZRN, REPEATING FUNCTION, LOOP JUMP FUNCTION,
ABSOLUTE/INCREMENTAL, FIN SIGNAL CONTROL COMMAND

Jump to subprogram

Software can be set from machine zero position to prevent interference with the machine by mounting
jigs or workpiece

Hard limit mode can control the rotary range of rotary table

Pitch error can be compensated per 15° (min, set unit: 0.001° )

Backlash compensation is adjustable

When error is detected, alarm number and alarm message are automatically displayed

Machine coordinate, work coordinate (command value, encoder value), remained movement, |1/O signal state,
position deviation, current %, encoder electric angle

Single Phase AC200/230V + 10% 50/60Hz
1.0 KVA
7.5kg

Controller Temperature: 0-45° Storage Temperature: -10° ~60° C Humidity: below 85%
RH Internal Vibration: 0.5 Internal Impact: Below 1G

LCD 20 characters X 2 lines
RS232C (external equipment can |/O program, parameters, etc)
START, STOP, external EMG STOP, external channel selection

Block completed, 360° comp., optional completed signal, MZRN completed, EMG STOP output signal,
alarm output signal

SAMCIHUL LY 105

nnnnnnnnnnnnnn ®

72
D

Table of Contents




NeoCon

Samchully Own Controller

Address Description Setting Unit Setting Range Remark
G Refer to the G Code function section.
f Rotation angle command degree +999 999
Dwel time command sec 0.01~999.99
F Rotation speed command 0.01min-1 0~4166
Jump command Block No. 0~99 Jump prior to the command block
J Subroutine command Block No. 0~99 Jump prior to the command block
Return command Return No. -1 End of 1 turn subroutine
D Partition command No.of partitions 0~999
Beglnnlng block NO. 1~99
S command of repetltlon Block No.
function (G27)
End block NO. command 1~99
E of repetition function (G27) Block No.
Fre uenc&of repetition No. of 1~99
function (G27) command repetitions
R
G99 command of 99 G99 command is executed in the
interlinked start G99 command
function(G21) No. same block as the G21 command.
G Code Function
G Code Function Description
None sR;?eted command Only calculation command is available.
G04 Dwell No movement, wait for time.
Go7 Lead cut Rotate the table by multiple turns.
Go08 Continuous buffer Executes program block continuously, until the following GO9 command.
G09 E:r?églluous buffer Cancel the continuous befffer of G08, return to the ordinary single block run.
G10 Clamp unused Set the clamp device at table stop to unused, which is effective until the next G11 command.
G111 Clamp used Cancel the clamp device of G10 unused state, and apply clamp at table stop.
G15 Emphasi_zes Emphasis the interlink by checking the deviation in the positions of the program blocks when the continuous
the interlink buffer is effective (G08). The checking of deviation in positioin is effective until the next G16 command.
G16 Position check Cancel the effectiveness of the position deviation check function. Do not check the deviation in the positions of the programs.
deviation invalid
G21 Interlink start Thls function t_)utputs block finish signal prior to motion in program running, which is used for the interlinked operation
with the machine, etc.
G22 Continuos start If G22 is commanded, the table rotates continuousy until the next start input.
G23 pggfm”e start point | position at the machine origin point of the table.
G24 Fert%crﬁss start point Position at the origin of the process coordinate system of the table.
G25 Escape loop Run the program inloop until the process start point is reached.
When reached, escape from the loop and execute the next block.
G27 Repetition Repeat execution of the program by specified number of times, from the designated block to the block.
G90 Absolute Execute positioning in the absolute coordinates of the process coordinate system.
G Incremental Execute positioning in the relative coordinates.
G92 Process coordinate | process start point can be set up as desired in the program.
system setting
G97 No block finished Do not output the block finish (BLKFIN).
G98 Eb?gﬁt-arbi"ary finish | | the program execution, too, provide block finish (BLKFIN) and arbitrary finish (G99 FIN) outpuit.
G99 Arbitrary finish output | Ooutput the arbitrary finish (G99FIN) only, not block finish .

106 B EWAE

Table of Contents

@

72

I



Angle Index
90° rotation

45°rotation and NOOO movement

Jump function

Equipartition A '4&

o & . .
{ \ Pl 1 Rabb PR LR TR 360°angle with 8 partitions
o)

and NOOO movement

Unegaul Partition 90°rotation

30°rotation

120° rotation
45° rotation

75°rotation, change to rpm 2000 and NOOO

Repetition L !
Repetition
command :l tart End Cycle NOO4 ~ NOOB 2 cycles
5G9 A 40° rotation, 30° rotation, 50° rotation
(1 time/cycle)
40°rotation, 30° rotation, 50° rotation
(2 times/cycles)
Absolute

90° rotation from absolute coordinates

/ Incremental

225° rotation from absolute coordinates

90° rotation from opposite coordinate

90° rotation, NO10 movement
Subprogram 30° rotation from opposite coordinate
40° rotation and return NOO1 movement

270° rotation from absolute coordinate
and NO10 movement

30° rotation from opposite coordinate

40° rotation and return (NOO2 movement)

Return Function 20°rotation and NOOO movement

SAMCIHUL LY 1 07

@ Table of Contents | N @

72
D




12,17, 20, 25, 32TS

Tail Stock (Manual Type)

TS-SERIES
Model No. 17 TS

1 TYPE : TS -Series / Tail Stock
Apply Model / S-170

B Main Axis support
W Clamp Lever for Both sides

GMAX 2686 9%
52 42 Soﬁ" kel 38 64 38
i ! [
& ¥
2 O e 5 HammyiE
Sq I [ Y
= Reversible |
I It Clamp lever «ﬂ}%Tg$ =
M an) =] o W12/l
- - o 4-013 Lﬁm—l* 135
U U M12 i
MAX 268.6 17TS
202 =
61 525 21 30(STROKE)
L N 38 64 38
3 %ﬁ o= =
s O/ ! B 4&% _ ﬁi/‘_
15 { }r*‘é? H
o 8 Fef—Te] o, 2
3z Usable CLAMP LEVER € 5 12 8| &l =5
P for Both side Sx Pl [s mi6—/282
SO 4-913- L—Mg 9
{1l ’j I
18
MAX 390.5
[ 297 1225
79 85 5[22.6 50(Stroke) - 140
4
— 22
o
< 4
s d %ﬁﬁ\ & . / ﬁi @ | & &
o
5 §N wN I
'(3 8 il 1 Il
% Usable CLAMP LEVER & % &
o o for Both side 195 G
SHE i ] 4013 L—‘L%o
IS 0] I
wnz9 18
MAX 390 5
297 1225
79 85 5226 50(Stroke)
] (45) 140
/ [22
= 2 - [
= Fal Ve
s S & Huy ] Vx R S-S
o & X3 :
] IN
. Usable CLAMP LEVER ﬁ K3 &
lz for Both side T
_ N 4-913-/
230
&L T [
< © g
M12 (9
MAX 390.5
~ 297 1225
[ 79 85 5226 50(Stroe)
o .
2 d W rye S [ (45) 140 45
° h = = Q 22 23]
15
2 S S-S 59—[ m |
&5 il I
& o Usable CLAMP LEVER o] & 2 o o
for Both side ﬂ 93’ =
] 8.
17 ﬁ} ﬁ q} M16
il of
o T et y 195 E 31
SHE J_Qtfﬁ_[]'] 4-013 = i
o |-
S ! ©
M12 g

108 B EWAE

Table of Contents

@

72
D



B Center of Main Axis support
W Usable Clamp Lever for Both side

TS-A SERIES

Model No.

17 TS-A

Air
TYPE : TS - Series / Tail stock
Apply Model / S-170

MAX 304 6
108 0 —— R @ o o
+ | + o 52 J21]] g L@J w
" | = E:
+ |+ AN i ? A R
& 2 o) > 8 15 I B,
ﬂﬂ:@ oy %‘ 8y & R 7ot 8
3 15 N =9 o
¥ ‘ & DF
L ] g -Lr RN e & <
= 5
2l PN e | SPEED CONTROL VALVES | Sl 7 ]‘J 213 DRILL THRU: e i
T T \14\
s e @ 17TS-A
q 52 =121 @ Al
i i PR ‘ . 3 ung @1 g 1 L 64 8
2l 3 yF o
52| ™ ‘ g s <
[Egg l&- > "R & 19 (] 15| _do
S = e W IS
& U% 3 J o9 S
junl 5 ¢
A
L 1 J [~ SPEED CONTROL VALVE E A Tl e & &
o o ] E = w 13 DRILL THRU- E&g 5]
A,_logs| M6 ¥ o_|1g
. 20TS-A
e i 143 188
< ) 5_73124.150 (Stroks) o
e A
|+ B =y _ : 45 140 45
e i == 2=
} I 3
3 :@Jﬁﬁ § 3 [ ] Py
q N i
S| 013 DRILL THRU' o
8
(W | SPEED CONTROL VALVES | w t
3
o1 L
el bl ﬁ P —
Mi6
28, Mi2 =
gt 143 -3
pirS ] 5 4.1_50 (Stroke) 92
n A
< | A 4 -
3 I3
g A >
Y & §
g 2
g 013 DRILL THRU'
o 1 SPEED CONTROL VALVES
BSE =
e , -y
28 mi2 2 kg
U MAX_426 32TS_A
£ 143 188
- ¢+ 4.1_50 (Stroke) 92
ol . .
Ll MRS 5 ===
o ST12 4 140 45,
Ty i ] W E :
- 4
e ; > 3
3 22, 22| g
g | 2 e | e
N SPEED CONTROL VALVES & 013 DRILL THRU' 7 d
Lk;[ q { Sj} 195 ?
ol L:Lf it ; f
} Mi6 L] 1Tl
A = [=) J
: Mz Ot

109
Table of Contents @

72
D



17, 20, 25, 32S

Tail Spindle (Air Clamp Type)

B Rotation of Work & Jig Weight S t =N A~ = =T —
mArCamptpe oP-C SERIES

W Available with break
Available with and without break

Model No. 17 SP-C
T L Clamp / Air

L——— TYPE: SP-C Series / Tail Spindle
Apply Model / S-170

17SP-C
:
SEme I 925 e b
oo ol
"
il
50
g§7

N
= |
w0 =
I BBl "15388 gom
o|w, EEREE [ L] 59 s 54 Tl & &
IS - i ﬂq%
s H
o< £
I
I
nLilch

8-918

&8
R
B
R

— &/~ 6M12 3- Q
A =13
BT @
e

E i
L Th
5 «

0

0

0

o]

0

ol

&

70

83
236

K>
KD
K>
>

303
295
@
/
\ \
o
|

30
—
—
ﬁ

'

2z
'E

!

f

i
1
—

omio | @ . Jl 8
¥

/ =
olololo 35 o 8-018
S22 =88 28| &l A A & DA
s|s|5|s|s|= s| S| S SZANZ hd NPA
2 3
(8
= A Py A
5 2N ASZANT o)

I
\

1
gl s,\w;:i —
| BN L
235 __ 88 |
290 4 118

110 B EWAE
@ Table of Contents @

72
D



Application

Accuracy

Standard NC Rotary Table (Unit : o)
ST eeen [ e |

1 Center hole run-out at table 0.010
2 Flatness of table face 0.015
3 Parallelism between table face and base 0.010
4 Parallelism between center of hole and base 0.020
5 Squareness between table face and base 0.020
6 Run-out of table face in ratation 0.020
7 Center Height +0,025
1 2 3 4 5 6 7

Tilting-Series (Unit : mn)
Inspection ltems Allowable Value

1 Center hole run-out at table 0.010
2 Run out of upper face during table rotation 0.015
3 Straightness of upper face of table (Center Low) Total Length 0.010
4 Parallelism of upper face of table and center line of guide block (tilting angle 90 °) Total Length 0.020
5 Parallellism of upper face of table and reference plane (titting axis direction) ) Total Length 0.020
6 Parallelism of tilting axis and reference plane Total Length 0.020

Rotary axis Accumulation 30sec
7 Index accuracy

Tilting axis Accumulation 60sec
8 Repeatability 4sec

-0

(\/\
~1

7,8
Index accuracy is measured with the optical device,

SAMCIHUL LY 111

@ Table of Contents | @

72
D




Technical Information

NC-Rotary Table Indexing Accuracy

Works with the CNC Controller to allow operation in multiple axes, The variance between the worm wheel and worm shaft when rotated
A rigid clamping break allows for high cutting force with high a full 360-
precision required for piece work or mass production,

rrrrrrr Practical -- - - - Theory
2 s

A. Controller type (NeoCon-TYPE) 8 4

- Rotational accuracy ensures precise segment and angular accuracy with g 2 p - - T
minimal backlash ER o e 180° 27“/_\/-1'/ a8p’ §§

- External signal (M Code) controls operation, 2 2 ~[_— &3

. . . e >

- Simple attachment, fast installation, minimal cost, 7 *

- Available with G code option, e ®
B. Multi Axes type (4th Axes-type) TABLE Rotate Angle( )

- Thread cutting, coutour cutting, CAM, helical operation

- Power and precision with multi axes machining. Repeatabmty Accuracy

- Operates with both rotary table controls and the CNC controller,
Accuracy variance when operated in both directions.

"""" Rotation - - - - Backlashng
)
. = 28
Gear Ratio £ o
. gt
) L . $ 2 lo £y = té
The calculation of the RPM : This is done by calculating the g | 18 e SR
rotation of the motor and the table. g P
Motor Spindle 3000 % “ I
Rotary Taple -  Rotation speed NT-170  _ — 416 RPM e s
Spindle Speed _ Spindle Speed .
Gear Ratio 72

TABLE Rotate Angle(" )

DUAL - LEAD WORM GEAR

The adjustable worm gear allows the operator to remove backlash as the
worm wheel and worm shaft ware,

BACK-LASH

BACK-LASH

=~ WORM WHEEL

AN A AR AN
A S

WORM SHAFT

Wider Gear Teeth M Thinner Gear Teeth

Clamp Torque (N.m)

Clamping the Break disk with air pressure

Cutting torque limit (N.m)

Failure to limit the cutting torque can damage the worm wheel and worm
shaft,

PISTON (Pneumatic Cylinder)

Cutting Tool
Eutt(;ng
N

=

Clamp

Torque

Cutting
Torque

Bed

112 BN EWAE
@ Table of Contents @

72
2D




Application

NC Rotary Table Installation

Pressure Regulator

Air clamp system is located inside of the NC Rotary Table,
Air filter regulation is needed to use the clamp functions,
This is an option to the standard supply.

Air Hose

Parts Required:
Air filter & regulator

Air hose Air Filter Lubricator

Controller Type

The Samchully NeoCon controller is ideal for simple machining that requires turn and
lock functionality, The controller is simple to install and economical,

4th Axis Type

The 4th axes option allows for contour / helical cutting. The rotary table connects
directly with the controller for optimal manufacturing flexibility. The Samchully rotary
table is compatible with Fanuc, Siemens, Mitsubishi, Panasonic, Yaskawa,
Heidenhain, LS mecapian, Sanyo, Fagor, and Okma controllers,

SAMCHUL LY 113

@ Table of Contents | @

72
2D




7

2N

wssﬂ |

Power Vise
Power Vise Features 116.
PCV (Standard Power Vise) 117.
PSV (Short-Type Power Vise) 118.
PLV (Long-Stroke Power Vise) 119.
PDV (Direct Drive Power Vise) 120.
DDV (Draw-Down Type Power Vise) 121.
Machine Vise
VS (Standard Machine Vise) 122.
MMV (Mechaical Machine Quick Vise) 123.

72
D




— ¢ The fixed jaw uses high-quality, heat-treated materials, (60°)

¢ The sliding jaw uses high-quality, heat-treated materials, (60°)

o The shield prevents debris from entering the vise,

¢ Torque setting facilitates work
o Existing taps and improves accuracy,
facilitate work._
« The chip cover 1
prevents debris « The body is made of high rigidity steel,
from entering the vise, -Damage to the workpiece is minimized
-Moving parts are heat treated for durability,

T o Multiple vises can be used in tandem,
:.] - Specified measurements are accurate within 0.01mm,
- Accuracy for long work pieces is consistent,

”_‘_I_| o Large opening
- Suitable for work on multiple-size workpieces,
1 & e | HHE— = ¢ Maintains strong grip during machining,

‘ (@) — E= -Mechanical booster allow predetermined torque to be applied,
U |
T

-Torque setting is user-friendly, one-touch technology.

VL

t — o Suitable for work pieces of varying sizes and specifications,

o Minimizes lifting / bowing of the workpiece,
- Maintains high accuracy,

¢ Includes a mechanical booster for high-accuracy
torque setting.

¢ How To Set The Torque
— [ | = - : —
B ——
- — FE__ — =~ ____

1. Push in the adjustable knob, 2. Rotate the adjustable knob to 3. Release the adjustable knob to
the required torque setting. lock in the setting.

116 BVEE
@ Table of Contents @

72
2D




Standard Power Vise

B Precision power vise with adjustable torque

2X2-M10 | @ @
1 \E S max E - 4+,A_¢,4*4 4k7%§%
j T ;g o 0

2-M10

20, |10

" sy i Y © #
n p r - ] ’H-H E{
= o e
Dimensions

-PCV o -n-n-----g---nnn-
PCV-125(5") 400 135 126 125 84 76 60 85 50 1055 5055 50 21 37 %5 180 230
PCV-160(6") 490 160 161 160 % 86 50 100 60 1055 5955 65 21 37 95 180 300
PCV-200(8") 533 180 202 200 102 98 74 10 70 1055 6385 16 21 37 %5 180 320
PCV-250(10") 705 8105

-------nnn-n-n--
PCV-100(4") 1426 225 107 MI2X45 35 365 12 125 2880
PCV-125(5") 72 1531 30 135 18 6 M10 M16X65 45 42 12 9% 105 105 - 145 3605
PCV-160(6") 72 1531 30 170 18 7 M0 M16X65 45 47 12 105 140 140 - 145 4505
PCV-2008") 72 1531 30 214 18 7 M10 MI16X65 45 51 12 126 141 141 - 177 4615
PCV-250(10") 72 1531 30 267 22 7 M10 M20X65 45 60 12 140 140 140 140 221 5895

Specifications

|-
PCV-100(4") 25(2551)
PCV-125(5") 125 50 230 i35 85 135 505 35(3571) 43
PCV-160(6") 160 60 300 160 100 170 595 60 (6122) 65
PCV-200(8") 200 70 320 180 110 214 638 60(6122) 100
PCV-250(10") 250 80 450 195 15 267 810 80(8163) 150

% Specifications are subject to change without notification,

SAMCIHUL LY 117

@ Table of Contents  |REEAE @

72
D




PSV

Short-Type Power Vise

B Short-body precision power vise ey
with adjustable torque
e T [ euel || [}
T Nt G + @4’@ :@
_ i 2x2a “ © -
. 5 e ] e w
= E]; 15| P Q - P
b ) r Y 9 Ev«“
A K 2] #ﬁ
L c  Ur
Dimensions
--n-n-------m-nnn-
PSV-125(5") 295 1055 4005 50

PSV-160(6") 350 160 161 160 94 & 50 100 60 1055 4555 65 21 37 9% 180 160

-------nnn-n----

PSV-125(5") 72 15-31 135 18 MI0 MI16X65 45 42 2 % 105 - 150
PSV-160(6") 72 1531 30 170 18 7 MO MI6X65 45 47 12 105 140 140 i 145 4505
Specifications
e L e L
PSV-125(5 5 (3571)
PSV-160(6" ) 160 60 160 160 100 170 4555 60(6122) 62

x Specifications are subject to change without notification,

118 BESE
@ Table of Contents @

72
D




PLV

Long Stroke Power Vise

W Long-body precision power vise
with adjustable torque

S FA— (69 ® e_ i
1 E S max F ,,,ﬁ#f, ,%,f”,,f,f,fg
T N oo —°° |||
_|_| 2-M10
1 = ]
= | S| (15 _P Q —— —=——
e .1 weyel .
i ’ = i = |
A K =z *H_ﬁ
L c  Yr
Dimensions
--ﬂ-ﬂ---------ﬂﬂﬂ-
PLV-125(5") 595 135 126 125 1055 7005 95 180 230
PLV-160(6") 542 160 161 160 e} 86 82 100 60 1055 6475 65 21 37 95 180 354
PLV-2008") 618 180 202 102 110 70 1065 7235 75 21
-------nnn-n-n--
M16 X 65 45 42 2025 2025 280 3605

PLV-125(5") 72 1531
PLV-160(6") 72 1531 30 170 18 7 M10
PLV-2008") 72 1531 30 214 18 7  MI0O MI6X65 45

M16X65 45 47 12 n7 150 150 177 4705
51 12 126 183 183 177 5465

Specifications

Jaw Width Jaw Height Max. Opening Total Height Slider Height Total Width Total Length R iﬁ?&g% IR
PLV-120(5") 125 50 420 135 85 135 7005 35(3571) 47
PLV-160(6") 160 60 354 160 100 170 647.5 60 (6122) 70
PLV-200(8") 200 70 405 180 10 214 7235 60(6122) 10

3 Specifications are subject to change without notification,

SAMCHULL Y

uuuuuuuuu

Table of Contents

119

@

@

72
D



PDV

Direct Drive Power Vise

W Step-jaw precision power vise

with adjustable torque

— — s oo -0, M
© o ]
e N IR =
T Jf2 . . ] o & @ @ : 2} :
5 _‘ l_ 2x3-a . A ﬁf A d _ TR —
| ':,i | N &
in B |
* ; ; | = 1‘15 P_J‘_ Q ‘ 5 ‘ STROKE _ j=—302 o
\ 2 \
b |2 i [——— =
. A - K Y o e J—I__I_EL
L Z‘T i El =
P B _IJ_—I_IEL
Dimensions
--ﬂ-ﬂ-------MIﬂﬂﬂ-
PDV-100(4") 64 385 75 20 35 1055 185 150
PDV-125(5") 400 135 126 125 8 76 60 8 50 25 45 1055 5055 50 21 37 95 180 320 275 230
PDV-160(6") 490 160 161 160 94 8 50 100 60 30 50 1055 5955 65 21 37 95 180 400 350 300
PDV-200(8") 180 102 98 74 10 1055 420 370 320
-----IIHIIE-E-H-II--I
PDV-100(4") 14~26 225 107 M10 M12X45 365 - 125 2880
PDV-125(5") 72 15-31 30 135 18 6 MI10 MI16X65 45 42 12 9 105 105 145 3605 321 92 U 17
PDV-160(6") 72 15~31 30 170 18 7 MI10 MI6X65 45 47 12 105 140 140 145 4505 285 122 17 25
PDV-2008") 72 1531 30 214 18 7 MI0 MI6X65 45 51 12 126 141 141 177 4615 375 150 17 25
Specifications
Jaw Width Jaw Height Max. Opening Total Height Slider Height Total Width Total Length i @Iy R
PDV-100(4") 100 40 220 15 75 107 4005 25(2551) 25
PDV-125(5") 125 50 320 135 85 135 505.5 35(3571) 43
PDV-160(6") 160 60 400 160 100 170 5955 60 (6122) 65
PDV-200(8") 200 70 420 180 10 214 6385 60(6122) 100

% Specifications are subject to change without notification.

120 RS
@ Table of Contents @

72
D




DDV

Draw-Down Type Power Vise

O\

B Draw-down precision power vise
with adjustable torque

2x3-a
1
& A[] 2-M10
+ o
P Q

)
S| _[15
":"ﬂr i::: —=-=
h Ko it d
: " " vy olA_:
1 7 =
2| 14
v
® Spaall

1055 5955

490

Dimensions

DDV-160(6 160

-------ﬂnﬂ-ﬂ-ll--
- 145 4505

DDV-160(6 15~31 M10 M16X65 45
Specifications

I A T T
DDV-160(6") 160 60 (6122)

% Specifications are subject to change without notification,

nnnnnnnnnn

SAMCHULL Y 121 @

Table of Contents

72
D




Standard Machine Vise

0 g ﬂ'
fa > it 2o
m Standard machine vise w a— "W

b
2 | C max
o
v 2l —
< : =
of « —p
_ f y
I 1 1
: : I‘
1
©

1

Dimensions & Specifications

WEIGHT(kgf) Operating
110 470 440 320 288 245 220 180 115 45 283 18 340 108

VS-150(6") 150 45 SB-150T

VS75(7") 175 50 132 547 518 350 318 280 245 198 120 3 2 467 145  SBA7ST

VS2008") 200 55 160 618 573 400 358 316 280 228 128 3 A 575 205  SB200T
380

8 & 8

VS-250(10) 250 75 199 760 716 450 406 370 332 278 168 22 1100 365 SB-250T

3 Standard accessories include handle (1ea), socket(1ea), T -blocks(2ea), T-bolts(2sets).
3 Swivel-base is optional,
3 Specifications are subject to change without notification,

122 BEE
@ Table of Contents @

72
D




MMV

Mechanical Machine Quick Vise

B 3-step mechanical machine quick vise \/ N \/ : J A S~
| Cmax
| — s S —
@ ] m"ﬁ —_
-
| b | N
h
i
a

Dimensions & Specifications

GRIP )
TORQUE WEIGHT(kgf) Operaung
Max(kg) | BODY TABLE | SwivelBase
MMV-150Q(6") 150 51 300 800 620 200 240 133 116 125 210 130 19 4,400 56.0 16.0 VS-175T
MMV-200Q(8 ) 200 62 300 900 700 240 280 162 160 165 266 130 19 6,500 9.0 230 VS-200T

3 Specifications are subject to change without notification,

SAMCHULL Y 123

@ Table of Contents | NREEEE @

72
D




N2

REPLACEMENT ™
ACCESSORIES ==

Power Chuck
Soft / Hard Jaws e
T-Nuts, Grease 126
Adaptor Plates 27
Manual Chuck
Jaws .
Adaptor Plates 129
Etcetera ey

: @

2
2D




Replacement Accessories

Power Chuck

N P——
o

- - u I_‘I> -
s-12 T S-4 s 12 S-15 - o E L__j S
SERRATION 5

A

Dimensions
I e 1 2 2 2 D D Y Y T
SB04C1 15 M6x16 HCH-04
SB04B1 2 1.5%60° 65 23 25 10 4 13 14 28 135 85 16 M8x22 = S 13 HC-04
SB05B1 2 1.5%60° 62 23 27 10 4 14 19 29 135 85 18 M8x22 - 12 - HC-05
SBO5N1 2 1.5%60° 54 23 25 10 4 12 14 28 135 85 165 M8x20 - 5] - HS-05
SB06B1 2 1.5%x60° 72 31 32 12 5 15 20 37 17 1 20 M10x%30 - 12 - HS/HCH/HC-06, MH-206
SB08B1 2 1.5%60° 95 35 38 14 5 24 25 46 19 13 23 M12x35 = 12 - HCH/HC/HS-08, MH-208
SB10B1 2 1.5%60° 110 40 42 16 5 30 30 50 19 13 27 M12x35 - 15 20 HCH/HC/HS-10,MH-210
SB12A1 1 1.5%60° 129 50 50 18 5 39 30 60 23 15 30 Ml4x45 - = = HC/HCH-12
SB12N1 1 1.5%x60° 11 50 50 21 4 21 30 60 25 17 33 M16x40 - - - HS-12, MH-212
SB15C1 1 1.5%60° 165 62 66 22 8 37 43 85 32 21 42 M20%60 = - - HCH-15, HCH-18
SB15N1 1 1.5%60° 135 50 60 255 5 26 43 66 32 21 39  M20x55 - - - HC-15,HC-18
SB15A2 1 3.0x60" 165 62 66 22 8 30 50 85 32 21 42 M20x60 - - - MH-218
SB18A2 1 3.0x60° 180 65 70 25 9 40 60 80 32 21 45 M20x60 - - - HC/HCH-21, HC/ HCH-24, MH-221, 224
SB32B2 1 3.0%60° 160 75 SN B25150 I 25 38 97 32 22 54 M20 = - - HCH-32 [Serration]
SB32GB 3 - 165 75 83 127 13 219 762 - 32 22 59 M20 - 19.025 - HC-32[Groove]
SB32SB2 1 3.0x60° 185 75 W | Z28B| 7B 268 38.1 82 32 22 57 M20 82 - - HC-32 [Serration]
SB40GB 3 - 270 110 117 30 13 488 762 76.2 39 26 90 M24 68.8 19.025 - HC-40 [Groove] / 50, 55, 63, 70, 80
SB40SB2 1 3.0%60° 270 110 110 30 75 325 60 - 39 26 90 M24 1175 - 85  HC-40[Semation]/50, 55, 63, 70, 80
I-I AR Fig1 Fig 2 Fig 3
Teddor: 0 Weler:
H-7 | H-7 H-7 | H-7
H-1 H-2 H2
i H-6 H—e_,‘ ‘ ‘ q
K] 3]
. 37
L 4L = 3
HH»’]: SERRATIO"‘I\; B
Dimensions o
I 0 e e
HBO4N1 1.5%60° 53 23 275 30.5 225 135 HS-04, HS-05
HBOG6A1 1 1.5x60° 67 31 41 12 5] 18 20 17 17 1 9 M10 10 10 - HC/HCH/HS-06, MH-206
HBOBA1 1 1.5x60° 86 35 51 14 5 31 25 18 19 13 12 M12 12 12 - HC/HCH/HS-08, MH-208
HB10A1 1 15%x60° 995 40 54 16 5 43 30 17 19 13 13 M12 15 15 - HC/HCH/HS-10, MH-210
HB12B1 2 15%x60° 975 50 55 18 5 64.5 30 33 22 15 20 M14 18 - - HC/HCH-12
HB12N1 2 1.5x60° 103 50 52 21 4 62.5 30 405 25 17 17 M16 30 = - HS-12, MH-212
HB15A1 1 1.5x60° 149 62 86 22 9 63 43 34 32 21 20 M20 40 40 - HCH-15, HCH-18
HB15A2 1 3.0%60° 149 62 86 22 9 63 50 34 B2 21 20 M20 40 40 - MH-218
HB15N1 1 1.5%60° 149 62 86 255 5 69 43 27 32 21 20 M20 43 38 - HC-15,HC-18
HB18B2 2 3.0x60° 159.5 80 90 25 9 1045 50 55 32 21 40 M20 55 = - HC/HCH-21, HC/HCH-24, MH-221, 224
HB32B2 2 3.0x60° 145 70 75 255 7 66 762 79 32 21 32 M20 - - - HCH-32 [Serration]
HB32GB 3 - 145 70 83 25 13 66 381 79 32 21 32 M20 79 12.7 8 HC-32 [Groove]
HB32SB2 2 3.0%60° 168 70 75 255 75 89 381 79 32 21 32 M20 - - - HC-32 [Seration]
HB40GB 8 - 223 80 124 30 15 133 381 90 39 26 55 M24 83 = 7 HC-40 [Groove] /50, 55, 63, 70, 80
HB40SB2 2 3.0x60° 223 80 117 30 8 133 1143 90 39 26 55  M24 - - - HC-40 [Serration] /50, 55, 63, 70, 80

g P2{s) Replacement Accessories

@

Table of Contents @

72
2D




Fig1

Fan

Fan

—
N

—
I

I

Fig 2

o

Fig 3

=
1

7

(=

7

EN N}

7
EN V)

o
i
_5[
=\ =f====
3
T-7

I 2 2 S

Dimensions
TN-HCH-04 245 115 135
TN-HS-04/05 26 15 15

28 15 18
32 15 18
3% 175 185
365 175 225
465 205 205
48 205 255
TN-HS-10 51 225 215
TN-HCH/HC-10 551 12255 255

1
TN-HC-04 1
1
1
1
1
1
1
1
TN-HS-12 1 555 295 2775
1
2
1
2
1
3
3
3

TN-HC-05
TN-HS-06
TN-HCH/HC-06
TN-HS-08
TN-HCH/HC-08

TN-HCH/HC-12 555 265 335
TN-HCH-15/18 80 335 455
TN-HC-15/18 80 35 49
TN-MH-218 80 335 455
TN-HCH-21/24 100 375 45
TNX-HC-21/24 46 375 45
TN-HCH-32 35 35 395
TN-HC-32 37 375 475
TN-HC-40 3 42 425 495

10
10
10
12
12
14
14
16
16
21
18
24

255

24
25
25

255
255

88 & &5 8888

N
%2
3

N
a1

HCH Type of 4” Chuck

M8 5 HS Type of 04, 05" Chuck
M8 5 HC Type of 4" Chuck
M8 6 HC Type of 5" Chuck
M10 8 HS / MH Type of 06" Chuck
M10 6 HCH /HC Type of 06" Chuck
M12 HS / MH Type of 08" Chuck
M12 HCH / HC Type of 08" Chuck
M12 HS / MH Type of 10" Chuck
M12 HCH / HC Type of 10" Chuck
M16 HS / MH Type of 12" Chuck
M14 HCH /HC Type of 12" Chuck
M20 HCH Type of 15", 18" Chuck
M20 HC Type of 15", 18" Chuck
M20 MH-218
M20 HCH /HCHF-21, 24 (S), MH-221(S)
M20 HC /HCF-21, 24, HCH / HCHF-21, 24 (H), MH-221(H)
M20 HCH-32
M20 HC-32
M24 HC-40

3 TNX-HC-21-24 require two T-nuts per jaw,

REASE

SW10
Special grease for manual and power chucks

Important for maintenance and safe operation.

B Maximum extreme-pressure protection
B Exceptional adhesion & cohesion characteristics

B Superior friction-reduction properties-protects against
friction-related heat & wear

B Excellent resistance to water washout & spray off
B Reduces maintenance & downtime
B Reduces operating temperatures

B Extends equipment life.

Table of Contents

w—
=]
oD

S
ES
um
mm
=8
So
<<

SAMCHULL Y



Replacement Accessories

Power Chuck

| Fits ASA B5.9 type A (DIN 55026) Spindles

Type 1 : Direct Type Type 2 : Indirect Type Type 3 : Plate Type

Adaptors Type 1-1

i I I I I S N S I T =

APOBAOS 15 82563 797 163 10478 HC/HCHIHS) HSLL6,
APOBA06 A26 170 17 106375 1030 1945 65 1383 135 10 - 1 7 6p  HC/HCH/HS/MH/HSLO8
APFOBAC6 A6 170 17 106375 1030 1045 65 13335 135 150 - 1 7 66  HSF/HCHF/HCFMHF08
APIOI2AO8 A28 20 18/28 130719 1080 242 8 17146 17 190 - 4 10 9 s
APISIBALL A2l 30 2 196870 1929 293 10 285 21 260 - 17 U U MH212, HC15.18
APF15A11 A4l 30 22 196870 1929 2936 10 285 21 260 - 17 U 1 HCH-15, HCF-15,18
APF18A11 P21 30 2 196870 1929 2036 10 25 21 30 - 17 10 1 HCHF-18
APT15A11 A2l 30 2 196870 1929 2036 10 235 2 260 - 17 1 1 HCHT 15
AP18ALL A2l 30 2 196870 1929 2036 10 25 21 260 - 17 1 1 HCH-18
AP21/24A15  A215 380 27 285777 250 357 10 302 24 /02 - 20 13 14 Hgmg_ngi

Adaptors Type 1-2

Spindle
M 31 I N I IS O N I S D Y

APTOBA05 82563 797 163 10478 HCT/HST/-06
APTO8A06 A26 170 17 106375 1030 1945 65 13335 11 150 - 135 7 66 HCT/HST/-06
APTION2A08 A28 220 18 139719 1360 242 8 17145 17 190 - 14 10 9 HCT/HST/-10,12
Adaptors Type 2
--ﬂ-ﬂ------.-l
106375 1945 13335 10478 185 - HC/HCH/HS-06
APO8A05 A25 170 25 82563 797 163 65 10478 12 13335 M2 18 115 - e
APO8A08 A28 170 30 139719 103 242 8 17145 18 1335 M2 26 2B - HC/HCH/HS-08
AP10/12A06  A26 220 25 106375 1080 1945 65 13335 135 17145 M6 20 135 -  HC/ Hﬁé';‘ﬁgg}"g,{ﬂfg MHF
APFI02A08 A28 220 18 139719 1360 242 8 17145 18 17145 M6 20 25 - HSF-10, HCF-12
AP15A08 A28 300 2233 139719 13546 242 8 17145 18 235 M2 (6) (17) - HCHCH-15, HC-18
AP21/24A11 AL 380 27 197870 1929 2036 10 235 21 302 M2 - - - HC2LHC24(HCH-21, HCH-24)
AP21/24A15 AZ15 380 42 285775 - 37 10 3302 24 302 M2 3B 6 - HCHCH-21, HCIHCH-24
AP2U4AN(M24) A211 350 42 196870 215 294 10 235 22 3302 M2M24) 32 30 - HCH,\A':,.{LZSZ‘({.,%%»FZ“)ZLZ“
AP32A15 A215 380 42 285777 220 357 10 3302 26 3302 M4 39 26 - HC-32
AP32/40A11 AL 50 50 196870 280 294 10 235 22 4636 M4 R 3B - HCH-32, HC-40
APSJAOMISHK — A215 520 42 285777 20 357 10 3302 26 4636 M4 39 26 - HCH-32, HC-40
Table of Contents @

72
2D



Adaptors Type 3

Spindle
e LB 0 el L o

AP40A15 A2-15

HC-40, HCH-32

TC-190
TC-230
| TC-273
TC-310

100
110
125

44
48.5
49.5

22225 22225

2699  26.99 45
26.99  26.99 51
S | SiliS 58

55
59
67

12.68
3 19.03
3 19.03
3 19.03

19 12.7
19 12.7
19 12.7

7.94
12.7
12.7
12.7

ENOEEIE OO

~

7
7

L FTC-460
H (O]
D FTC-535

E F FTC-610

o
1
lw]
I
LN]

150
150

50
50

715
76.5
76.5

38.1
38.1
38.1

38.1
38.1
38.1

63.5
67.5
67.5

76.5 19.03
825 6 19.03
825 6 19.03

32
32

22
22

L
11
1 NN

12.7
12.7
12.7

—ANL+—”J—| TC-230(9")
L

. 2| | 5] | TC-273(10%)
o 1 [+3

B - y ° TC-310(12")

IEF f FTC-450(19")
D-1 £ D-2
£ £ FTC-535(21")

FTC-610(24")

80.5
90.5
1035
1155

32
35
40
50
50
50

12
14
15
17
17
17

12
14
15
17
17
17

48

52

54
768
768
768

22225
2699
2699
3175

381
381
381

22225
2699
2699
3175

381
381
381

40.5
455
52
58
63.5
63.5
63.5

40
45
515
57.5
66.5
66.5
66.5

12.68
3 1903 19
3 1903 19
3 1 19.03" 19
58 19.025 32
58 19.025 32
58 19.025 32

13
13
13
22
22
22

7.90
12.7
12.7
12.7

215
235
315
30.5
52
52
52

L Lh e lcic e ot 02 e L Jo ] n ek e

33
34
40
35
35
35

\
) Jar WA TC-190
A4 . // TC-230
5 5 TC-273
TC-310

87
98
111

28
28
32

38
40
425

22225 22225 355 395
26.99 2699 425 445
2699  26.99 47 51
3175 3175 54 57

2-M10 12.68
2-M12  19.03
2-M12  19.03
2-M12  19.03

15
15
17.2

7.95
12.7
12.7
12.7

3.5
35
35

ENOOEaE OO LEEm

6.5
6.5
6.5

FTC-460
FTC-535
FTC-610

165
177
205

50
50

57
60

38.1
38.1
38.1

38.1
38.1
38.1

66.5
66.5
66.5

4-M20
4-M20
5-M20

2-19.025
2-19.025
3-19.025

27
30
30

I N I I N A B R

9.3
9.3

Table of Contents

SAMCHULLY

nnnnnnn a. Lro.

—
[ 7]
.0
D
ES
,_,m
‘“Vl
_8
oe
o<t

129

@



Replacement Accessories

Manual Chuck

SCROLL CHUCK Jawvs

&
= A\
= W 7
L1 B1 L1
L3 L2 _B_{ L7 L6
8 3 by EiS
=l 3 s =l . L
Internal jaw _PI External jaw
LML

e T e e L
SC-165(6") 46.5 8.13 25.07

SC-190(7") 75 23 25 555 505 30 25 22 1.2 9.7 9.74 12 12 30.06 25
SC-230(9") 85 26 28 645 595 33 28 24 132 112 1138 14 14 35.04 30

2
2
3
SC-273(10") 98 30 33 69.5 64 38 33 28 15 112 11.38 15 15 40.02 37 3
SC-310(12") 110 35 35 825 76 43 35 30 15 134 16.12 16 16 45.08 43 4

4

SC-355(14") 133 44 42 101 945 53 42 35 19 14 16.2 21 22 62.98 43

IC-150(6") 55 145 82 6/inch

B2
|._.

31 164 18 70 35/inch

IC200@) 75 44 21 55 12 12 30 16 103 10 30  5linch

IC250(107 90 54 26 615 14 14 30 16 103 10 35  5/inch

; 3 IC-300(12") 100 60 28 705 16 16 35 19 115 136 40  4/inch

IC350(14") 110 67 31 755 18 18 35 19 115 146 45  4/inch

0 ! ' IC-400(16") 120 735 335 8 20 20 40 225 115 15 50  4/inch

g 3= - IC-450(18") 130 80 37 89 22 22 40 25 115 15 55  4/inch

¢ 3 - IC-500(20") 140 85 40 106 24 24 45 275 164 16 60 35/inch
IC-600(24") 160 99 46 1164 282 282 50
50
60

1 1
m/ + IC-700(28") 160 100 47 111 28 29 30 153 20 70  4/inch
IC-800(32") 200 120 55 138 30 30 40 20 34 89 6.0mm
Replacement Accessories
Table of Contents @

72
2D



L2

L1 ,

od

2 D3

oD1
base length tollerance
60

base length tollerance
73 88 3 10 6.6

SC-85 +0.021 +0.002 +0.2
SC-110 80 +0.021 +0.002 95 +0.2 115 12 9
SC-130 100 +0025  +0.003 15 +02 135 12 11
SC-165 130 +0.028 +0.003 147 +02 170 45 15 n
SC-190 155 +0.028 +0.003 172 +0.2 195 45 18 13
SC-230 190 +0.033 +0.004 210 +0.2 235 55 20 13
SC-273 230 +0.033 +0.004 250 +0.2 275 55 20 13
SC-310 260 +0.036 +0.004 285 +0.3 310 65 22 13
SC-355 300 +0036  +0.004 328 +03 355 65 2 13
L1 | ¢p1 | ¢D2 | BIL
..
IC-150(6") 315 22 1s 10
Ic200@8") 42 % 145 14
- 5 IC-250(10") 45 % 145 14
< = Ic-30012") 51 0 165 16
IC-350(14") 49 0 165 16
= ] IC-400(16") 55 % 185 18
N'_ = 1C-450(18") 60 34 185 18
ol -1 £ IC-500(20") 53 35 195 20
) IC-60024") 59 ) 205 20
T IC-700(28") 575 38 23 18
IC-800(32") 59 44 275 2%
w 1 | 2 | 3 | a4 [op2 | ¢p2 | B2 |Theeads
IC-150(6") 515 21 10 205 22 1 8  6/inch
IC-200(8") 70 41 14 15 26 14 10 5/inch
L1 - IC250(107 915 58 14 195 26 14 10 5/inch
Lz 13 L4 IC30012) 111 73 16 2 30 16 12 4linch
IC-350(14") 130 855 16 285 30 16 12 4finch
IC-400(16") 149 1085 18 25 34 18 14 4finch
““‘- IC-450(18") 169 1235 18 275 34 18 14 4/inch
'I““— IC-500(20") 189 137 20 R 35 19 14  35/inch
~ IC-600(24") 233 162 20 51 38 20 14 35/inch
SCREW S IC-70028") 299 193 18 68 38 2 14 4inch
IC-800(32") 330 216 24 90 44 28 19  60mm

Table of Contents

131

Replacement

]
=
D
=]
7]
7]
@
(X
=]
<<

@

@

72
2D



Replacement Accessories

Manual Chuck

TC / IC HANDLES

. EEODCOEEEDDOCE

SC-85(3") 110 IC-150(6")

SC-110(4") 70 140 8 u 17 IC-200(8") 130 200 10 14 15

SC-130(5") 75 170 8 20 |cop5010m 150 250 10 14 18
SC-16567) 120 210 10 18 20 eag002 170 300 12 17 19

e
=
_rv
1

- SC-190(7") 160 240 11 14 20 ‘
Ic-350(14) 170 350 12 17 19
SC2309) 160 200 12 15 22
i IC-400(167) 220 400 14 19 2
SC-273107 160 330 12 15 22
r— IC-450(18"
sca1002) 200 300 14 18 26 C0d8) 220 400 a4 19 2
o ' SC-355(147) 200 390 14 18 26  |C9000) 220 450 14 20 2

S "

&4 FTC-450(19") 205 500 17 20 25  'C600@4) 230 s00 14 20 5
FTC-535(21") 230 500 6222 26 30 IC-700(28") 300 500 14 20 28
FTC-610(24") 230 500 6222 26 30 IC-800(32") 300 500 19 20 35

SC / FTC / IC mounTiNnG BoLTS

L - -
® | SC-85(3") M6xP1.0 IC-150(6")  M10xP15
SC-110(4) ~ M8xP125 3 25 20 13  |C-2008") MI12xP1L75 4 60 35 10
W SC-130(5")  M8xP125 3 25 20 13 |cp5010") MI12xPL75 4 8 40 10
( A SC-165(67)  M10xPL5 3 32 26 17 |caggov) MI2xPL75 4 100 55 10
SCI90(r)  MIOXPLS 3 36 26 17 \oannagy MI2xP175 4 100 55 10
T SC-230(9) MI12xPL75 3 40 30 19
- IC-400(16") M16xP20 4 110 60 14
5 S SC-273(10") MI12xPL75 3 40 30 19
S = IC-450(18") M16xP20 4 110 60 14
B - SC-310(12") MI12xPL75 3 45 30 19 (%)
S SC-355(14") M12xP175 6 50 30 19 el I I M M
il FTC450(19") M16xP125 6 125 a8 24 C60024) M20xP25 4 135 70 17
Il FTC-535(21") M20xP140 6 140 52 30  IC-700(287) M20xP25 8 120 54 17
SC TYPE IC TYPE FTC-610(24") M20xP140 6 140 52 30 IC-800(32) M20xP25 8 130 54 17
aFC¥2d Replacement Accessories
@ Table of Contents @

72
2D



	1Application Chucks 1
	2Power Chucks 1
	32
	33
	34
	35
	36
	37
	38
	39
	40
	41
	42
	43
	44
	45
	46
	47
	48
	49
	50
	51
	52
	53

	3Manual Chucks 1
	55
	56
	57
	58
	59
	60
	61
	62
	63
	64
	65

	4Cylinders 1
	67
	68
	69
	70
	71
	72
	73
	74
	75
	76
	77

	5Steady Rests 1
	79
	80
	81
	82
	83

	6Rotary Tables 1
	85
	86
	87
	88
	89
	90
	91
	92
	93
	94
	95
	96
	97
	98
	99
	100
	101
	102
	103
	104
	105
	106
	107
	108
	109
	110
	111
	112
	113

	7Vises 1
	115
	116
	117
	118
	119
	120
	121
	122
	123

	8Replacement Accessories 1
	125
	126
	127
	128
	129
	130
	131
	132


	Button1: 


